<u>Jersey Central Power & Light Company</u> 2021 RAC Minimum Filing Requirements

Attachment MFR-4b

Check Payment to: URS Corporation P.O. Box 116183 Atlanta GA 30368-6183 Wire Transfer Payment to: URS Corporation Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248

Swift Code: WFBIUS6S

Overnight Courier: URS Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501

www.aecom.com

Federal Tax ID No. 94-1716908

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ave Morristown, NJ 07960-6116 Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438

Invoice Currency : USD

Bill through Date : 05-DEC-20 - 01-JAN-21

Claudius Maranhao

Invoice Number: 2000460405 Invoice Date: 11-FEB-21

Payment Term: 2/10 Net 45

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 05-DEC-20 - 01-JAN-21

Labor

\$21,854.05

Non-Labor

\$7,055.31

TOTAL CURRENT INVOICE

\$28,909.36 USD

Funded Amount:

\$5,122,775.86

Bill To Date: (exclude tax)

\$4,755,869.91

Remaining Balance:

\$366,905.95

Project Number Project Name Bill Through Date : 05-DEC-20 - 01-JAN-21 Payment Term : 2/10 Net 45 : 60390438 : JCP&L Dover Former MGP Site

Project Name : JCP&L Dover Form Claudius Maranhao	er MGP Site Payment Term	: 2/10 Net 45			
Task Number : 38580312.10000	Task Nam	e : Management Support			
Labor Bill Rate Employee Name/Title Maranhao, Claudius A	<u>Title/Expenditure</u> Project Manager Project Manager Project Manager Project Manager	Date 11-DEC-20 18-DEC-20 25-DEC-20 01-JAN-21	Hours 6.00 5.50 4.00 2.00	Bill Rate 166.91 166.91 166.91 166.91	Billed Amt 1,001.46 918.01 667.64 333.82
Total Labor Bill Rate			17.50		2,920.93
Task Total : Management Suppo	ort				2,920.93
Task Number : 38580312.50010	Task Nam	e : Design/Spec/Permit	-		
Labor Bill Rate					
Employee Name/Title Craig, Marion E Craig, Marion E Maranhao, Claudius A Maranhao, Claudius A Maranhao, Claudius A Maranhao, Claudius A	Title/Expenditure LSRP LSRP Project Manager Project Manager Project Manager Project Manager	<u>Date</u> 11-DEC-20 25-DEC-20 11-DEC-20 18-DEC-20 25-DEC-20 01-JAN-21	Hours 1.50 1.50 3.00 4.50 2.00 1.00	Bill Rate 166.91 166.91 166.91 166.91 166.91	Billed Amt 250.37 250.37 500.73 751.10 333.82 166.91
Total Labor Bill Rate			13.50	-	2,253.30
Task Total : Design/Spec/Permit					2,253.30
Task Number : 38580315.60050	Task Nam	e : Task6.5 Field Assgnm	,·, ··		
Labor Bill Rate					
Employee Name/Title Albrecht, Sherri M Ferrante, Robert J (Rob) Ferrante, Robert J (Rob) Friedman, Cary L Friedman, Cary L Humerick, Zachary L Humerick, Zachary L Johnston, Elizabeth A	Title/Expenditure Senior Engineer/Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Project Engineer Project Engineer Project Engineer	Date 18-DEC-20 11-DEC-20 18-DEC-20 11-DEC-20 18-DEC-20 11-DEC-20 18-DEC-20 11-DEC-20	Hours 2.50 4.00 1.00 8.00 15.00 16.00 2.00	Bill Rate 139.29 122.47 122.47 139.29 139.29 132.09 132.09	Billed Amt 348.23 489.88 122.47 1,114.32 2,089.35 2,113.44 264.18
Johnston, Elizabeth A	Project Engineer/Scientist	18-DEC-20	3.75	132.09	495.34

Total Labor Bill Rate			133.00	_	16,679.82
Vargo, Christine L (Chris)	Data Management	11-DEC-20	1.50	84.05	126.08
Samaroo, Sunil	Staff Engineer	01-JAN-21	3.00	98.46	295.38
Samaroo, Sunil	Staff Engineer	25-DEC-20	8.00	98.46	787.68
Naumoff, Peter G	LSŘP	25-DEC-20	1.00	166.91	166.91
Myers, Taralyn	Project Scientist	01-JAN-21	2.50	122.47	306.18
Myers, Taralyn	Project Scientist	25-DEC-20	0.50	122.47	61.24
Myers, Taralyn	Project Scientist	18-DEC-20	9.00	122.47	1,102.23
Myers, Taralyn	Project Scientist	11-DEC-20	7.25	122.47	887.91
Maranhao, Claudius A	Project Manager	01-JAN-21	3.00	166.91	500.73
Maranhao, Claudius A	Project Manager	25-DEC-20	3.00	166.91	500.73
Maranhao, Claudius A	Project Manager	18-DEC-20	4.00	166.91	667.64
Maranhao, Claudius A	Project Manager	11-DEC-20	5.50	166.91	918.01
Libert, Stephen F	Staff Scientist	01 - JAN-21	3.00	98.46	295.38
Libert, Stephen F	Staff Scientist	25-DEC-20	11.00	98.46	1,083.06
Libert, Stephen F	Staff Scientist	18-DEC-20	3.00	98.46	295.38
Libert, Stephen F	Staff Scientist	11-DEC-20	3.00	98.46	295.38
Lesch, Laura L	Clerical Support	25-DEC-20	3.50	46.82	163.87
Johnston, Elizabeth A	Project Engineer/Scientist	25-DEC-20	6.50	132.09	858.59
Johnston, Elizabeth A	Project Engineer/Scientist	18-DEC-20	0.50	132.09	66.05
Johnston, Elizabeth A	Project Engineer/Scientist	18-DEC-20	3.75	132.09	495.34
Johnston, Elizabeth A	Project Engineer/Scientist	11-DEC-20	2.00	132.09	264.18
Humerick, Zachary L	Project Engineer	18-DEC-20	2.00	132.09	264.18
Friedman, Cary L Humerick, Zachary L	Project Engineer	11-DEC-20	16.00	132.09	2,113.44
Friedman, Cary L	Senior Geologist	18-DEC-20	15.00	139.29	2,089.35
Ferrante, Robert J (Rob)	Senior Geologist	11-DEC-20	8.00	139.29	1,114.32
Ferrante, Robert J (Rob)	Project Scientist Project Scientist	18-DEC-20	1.00	122.47	122.47
Albrecht, Sherri M	Senior Engineer/Scientist	11-DEC-20	4.00	122.47	489.88
Albanak Chari M	Coning Engineer/Colombiat	18-DEC-20	2.50	139.29	348.23

Reimbursable

 Raw Cost
 Multiplier

 449.20
 1.0000
 Billed Amt 449.20 Expenditure Type Car Rental Employee/Vendor Name Samaroo, Sunil <u>Date</u> 26-OCT-20 Inv Number EXP7499823

Reimbursab	la					
Expenditure Type	Employee/Vendor Name	Date	Inv Number	Raw Cost	<u>Multiplier</u>	Billed Amt
Car Rental	Samaroo, Sunil	13-NOV-20	EXP7499823	95.32	1.0000	95.32
Car Rental	Samaroo, Sunil	21-DEC-20	EXP7663531	83.00	1.0000	83.00
Materials	Samaroo, Sunil	20-DEC-20	EXP7663532	16.49	1.0000	16.49
Materials	Samaroo, Sunil	21-DEC-20	EXP7663532	80.42	1.0000	80.42
Miscellaneous - Allowable	Samaroo, Sunil	27-OCT-20	EXP7626573	6.00	1.0000	6.00
Miscellaneous - Allowable	Samaroo, Sunil	05-NOV-20	EXP7626573	532.10	1.0000	532.10
Miscellaneous - Allowable	Samaroo, Sunil	12-NOV-20	EXP7626573	19.16	1.0000	19.16
Miscellaneous - Allowable	Samaroo, Sunil	13-NOV-20	EXP7663532	532.10	1.0000	532.10
Outside Contractors Fees	ENVIROSCAPES INC	08-DEC-20	7702	4,551.98	1.0250	4,665.78
Travel All Other	Samaroo, Sunil	20-OCT-20	EXP7499823	35.58	1.0000	35.58
Travel All Other	Samaroo, Sunil	23-OCT-20	EXP7499823	31.66	1.0000	31.66
Travel All Other	Samaroo, Sunil	13-NOV-20	EXP7499823	22.43	1.0000	22.43
Z10 Storage	PAC VAN INC	11-DEC-20	17900096	124.36	1.0000	124.36
Z11 Equipment Other	PINE ENVIRONMENTAL SER	VICES 20-NOV-20	US1200089001	97.35	1.0000	97.35
Z14 Material Handling	PINE ENVIRONMENTAL SER'	VICES 17-DEC-20	US1200096132	592.17	1.0000	592.17
Total Reimb	ursable			7,269.32	_	7,383.12
Task Total : Task6.	5 Field Assgnm					24,062.94
Lump Sum Description						Billed Amt
Lump Sum Description AECOM Volume Discount 1	.50%					Billed Amt -327.81
<u>Description</u>						
<u>Description</u> AECOM Volume Discount 1	Sum					-327.81
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Do	Sum ver Former MGP Site					-327.81 -327.81 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dot Invoice Sum Total Current Amount :	Sum ver Former MGP Site					-327.81 -327.81 28,909.36 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Do	Sum ver Former MGP Site					-327.81 -327.81 28,909.36 28,909.36 0.00
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dot Invoice Sum Total Current Amount :	Sum ver Former MGP Site					-327.81 -327.81 28,909.36 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount :	Sum ver Former MGP Site					-327.81 -327.81 28,909.36 28,909.36 0.00
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount :	Sum ver Former MGP Site nmaries					-327.81 -327.81 28,909.36 28,909.36 0.00 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount :	Sum ver Former MGP Site nmaries	Prior	Total	111		-327.81 -327.81 28,909.36 28,909.36 28,909.36 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount : Billing Summary	Sum ver Former MGP Site nmaries maries Current	Prior	<u>Total</u>	_	imit	-327.81 -327.81 28,909.36 28,909.36 0.00 28,909.36 28,909.36 Remain
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount : Billing Summary Billing Summary Billings	Sum ver Former MGP Site nmaries maries <u>Current</u> 28,909.36	4,726,960.55	4,755,869.91	<u>L</u> 5,122,775		-327.81 -327.81 28,909.36 28,909.36 28,909.36 28,909.36
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount : Billing Summary	Sum ver Former MGP Site nmaries maries Current			_		-327.81 -327.81 28,909.36 28,909.36 0.00 28,909.36 28,909.36 Remain
Description AECOM Volume Discount 1 Total Lump S Project Total : JCP&L Dov Invoice Sum Total Current Amount : Retention Amount : Pre-Tax Amount : Total Invoice Amount : Billing Summary Billing Summary Billings	Sum ver Former MGP Site nmaries maries <u>Current</u> 28,909.36	4,726,960.55	4,755,869.91	_		-327.81 -327.81 28,909.36 28,909.36 0.00 28,909.36 28,909.36 Remain

SES#1121562825	fax#3-8046758
APPROV	ALSTAMP
p.o. no. <u>48007282</u>	inv. no. <u>2000460405</u>
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (GL ACCT	»: 550300
ORDER: 3001019	William
APPROVED BY:	EMP. NO.

E. Omings C4939 2/22/21 Approved for \$28,909,36



973 883 8500 tel 973 883 8501 fax

February 11, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 145 – Dec 5, 2020 to Jan 1, 2021

JCP&L Former Dover MGP Site Contract No. 55117364 / 06/04/2013

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 28,909.36 for professional services rendered on the subject project for the period ending Jan 1, 2021. Services rendered during the Dec 5, 2020 to Jan 1, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 8500 tel 973 883 8501 fax

February 11, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 145 - Dec 5, 2020 to Jan 1, 2021

JCP&L Former Dover MGP Site Contract No. 55117364 / 06/04/2013

URS Job No. 38580282 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from December 5, 2020 to January 1, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #20 (COR #15 for JCP&L) dated Aug 18, 2020, as well as other additional project tasks. The AECOM COR #20 was approved by JCP&L on Sep 3, 2020. A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge (Dec 5, 2020 to Jan 1, 2021)	\$21,854.04
Non-Labor Charges (Dec 5, 2020 to Jan 1, 2021)	\$7,383.12
Vol Discount at 1.5 % (Dec 5, 2020 to Jan 1, 2021)	<u>(\$327.81)</u>
Non-Labor Charges - Vol Discount (Dec 5, 2020 to Jan 1, 202	\$7,055.31
Total Invoice (\$) (Dec 5, 2020 to Jan 1, 2021)	\$28,909.36

Another project milestone was reached and the AECOM labor volume discount was increased from 1.25% to 1.5%. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include charges related to the revisions of the Deed Notices submitted to JCP&L based on comments from legal counsel, oversight of the DNAPL recovery system, revegetation activities including field activities and the preparation of the NJDEP annual report, and activities related to the preparation of the design drawings and bid specifications for the revamping of the groundwater treatment vaults.

Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On September 3, 2020, the AECOM change order request #20 in the amount of \$ 298,280.21 was approved by First Energy. An analysis of the status of the current revised budget for each task is



presented in Table 2. As of the closing date of the invoice, Jan 1, 2021 and including the approved COR #20, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$4,755,266.85 of project charges which amount to approximately 98.6 % of the current authorized contract amount of \$4,823,985.51 (excluding the contract amount of \$45,130 for the Garage Demolition Project).

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

SUMMARY OF PROJECT CHARGES BY PROJECT TASK / PROJECT ACTIVITY

Progress Report No. 145 – through Jan 1, 2021 JCP&L Former Dover MGP Site URS Job No. 38580282 / AECOM Job No. 60390438 Page 1 of 2

JCP&L Services (12/05/20 to	Charg	ed to Contract Task 0		ervices	Charged to PDI, RAWP or Constr O Task 5/50000 or Task 6/6000					
01/01/21)	Unit	Quantity	Rate (\$)	Cost (\$)	Unit	Quantity	Rate (S)	Cost (\$)		
1) Task 1 - Project Invo	icing, Pro	ject Manageme	nt, RFP Paci	kage, Bid Revi	ews, GC Se	lection & Peri	nit Meetings			
Kit Williams	Hr		\$175.32	\$0.00	Hr		\$175.32	\$0.00		
C. Maranhao	Hr	17.50	\$166.91	\$2,920.94	Hr		\$166.91	\$0.00		
Alexandru Giuroiu	Hr		\$84.05	\$0.00	Hr		\$84.05	\$0.00		
Alina Manolache	Hr		\$69.64	\$0.00	Hr		\$69.64	\$0.00		
Chris Vargo	Hr	1.50	\$84.05	\$126.08	Hr		\$84.05	\$0.00		
Cheryl Bir	Hr		\$84.05	\$0.00	Hr		\$84.05	\$0.00		
L. Lesch	Hr		\$46.82	\$0.00	Hr		\$46.82	\$0.00		
Subtotal for (1)		19.00		\$3,047.01		0.00		\$0.00		
2) Task 2 - On-Site Con	struction (chary Humer							
C. Maranhao	Hr		\$166.91	\$0.00	Hr	3.00	\$166.91	\$500.73		
Z. Humerick	Hr		\$132.09	\$0.00	Hr	18.00	\$132.09	\$2,377.62		
Subtotal for (2)		0.00	4-52.09	0.00		21.00		\$2,878.35		
K&M Contracting		0.00	\$0.00	\$0.00			\$0.00	\$0.00		
Travel All Other			\$0.00	\$0.00		-	\$0.00	\$0.00		
Exp Subtotal for (2)	-		40.00	\$0.00		1	-	\$0.00		
3) Task 3 - DGW Permi	t_Rv_Rule	GWIV Monit	toring, DNAP		omt. and D	NAPL Gaugin	of MWs			
C. Maranhao	Hr	, GWIV MION	\$166.91	\$0.00	Hr	8.00	\$166.91	\$1,335.29		
Cary Friedman	Hr	1	\$139.29	\$0.00	Hr	0.00	\$139.29	\$0.00		
Elizabeth Johnston	Hr		\$132.09	\$0.00	Hr	3.75	\$132.09	\$495.34		
Zachary Humerick	Hr	1	\$132.09	\$0.00	Hr	3.75	\$132.09	\$0.00		
Sandy Paulsen	Hr		\$122.47	\$0.00	Hr		\$122.47	\$0.00		
Sunil Samaroo	Hr		\$98.46	\$0.00	Hr	11.00	\$98.46	\$1,083.06		
Stephen Liebert	Hr		\$98.46	\$0.00	Hr	11.00	\$98.46	\$0.00		
Jay Patel	Hr		\$76.83	\$0.00	Hr		\$76.83	\$0.00		
L. Lesch	Hr		\$46.82	\$0.00	Hr	2.00	\$46.82	\$93.64		
Subtotal for (3)	111	0.00	\$40.02	\$0.00		24.75	φ+0.02	\$3,007.33		
		0.00	\$0.00	\$0.00		1.0000	\$627.52	\$627.52		
Mileage & Car Rental		1	\$0.00	\$0.00		1.0000	\$027.52	\$0.00		
Supplies Field Supplies/Matls			\$0.00	\$0.00		1.0000	\$96.91	\$96.91		
			\$0.00	\$0.00		1.0000	\$689.52	\$689.52		
Pine Envtl Svcs			\$0.00	\$0.00		1.0000	\$009.52	\$0.00		
Test America			\$0.00	\$0.00		1.0000	\$124.36	\$124.36		
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0000	\$1,089.36	\$1,089.36		
Misc - Allowables			\$0.00			1.0000	\$89.67	\$89.67		
Travel - All Others		-	\$0.00	\$0.00 \$0.00		1.0000	\$69.07	\$2,717.34		
Exp Subtotal for (3)	D /T	old Cassa / Did	Duanavatian		D			\$4,111.34		
4) Task 4 - Engineering		sia specs / Bia				9.00	\$166.91	\$1,502.20		
C. Maranhao	Hr	+	\$166.91	\$0.00	Hr	9.00	\$162.11	\$0.00		
Mike Gardner	Hr		\$162.11	\$0.00	Hr	9.00	\$139.29	\$1,253.62		
Cary Friedman	Hr		\$139.29	\$0.00 \$0.00	Hr U-	9.00		\$1,188.81		
Elizabeth Johnston	Hr	-	\$132.09		Hr	9.00	\$132.09 \$105.67	\$0.00		
Eva Tucewicz	Hr		\$105.67	\$0.00	Hr					
Chris Vargo	Hr		\$84.05	\$0.00	Hr		\$84.05	\$0.00		
Coyle Self	Hr		\$84.05	\$0.00	Hr		\$84.05	\$0.00		
Susan Beatie	Hr		\$69.64	\$0.00	Hr		\$69.64	\$0.00		
Laura Lesch	Hr		\$46.82	\$0.00	Hr		\$46.82	\$0.00 \$3,944.63		



Page 2 of 2

Total Non-Labor Charges (S) TOTAL (S)				\$0.00 \$3,047.01	Total Non-Labor Charges (\$) TOTAL (\$)			\$7,383.12 \$26,190.15
			or Charges (\$)	\$3,047.01			or Charges (\$)	\$18,807.03
	HOURS	19.00	TOTAL (\$)	\$3,047.01	HOURS	145.00	TOTAL (\$)	\$18,807.03
Subtotal for (9)		0.00	1	\$0.00		19.50		\$2,687.94
Laura Lesch	Hr		\$46.82	\$0.00	Hr	1.50	\$46.82	\$70.23
Eva Tucewicz	Hr		\$105.67	\$0.00	Hr		\$105.67	\$0.00
Cary Friedman	Hr		\$139.29	\$0.00	Hr	14.00	\$139.29	\$1,950.07
Mike Akerbergs	Hr		\$166.91	\$0.00	Hr		\$166.91	\$0.00
Peter Naumoff	Hr		\$166.91	\$0.00	Hr	1.00	\$166.91	\$166.91
Marion Craig	Hr		\$166.91	\$0.00	Hr	3.00	\$166.91	\$500.73
8) Task 8 - LSRP Char	res			\$ 0.00 J				4.,
Exp Subtotal for (7)			\$0.00	\$0.00			40.00	\$4,665.78
US Post Office & FEDE	X		\$0.00	\$0.00		1.0200	\$0.00	\$0.00
Enviroscape			\$0.00	\$0.00		1.0250	\$4,551.98	\$4,665.78
Supplies / Materials			\$0.00	\$0.00			\$0.00	\$0.00
Mileage & Car Rental		0.00	\$0.00	\$0.00		50.75	\$0.00	\$0.00
Subtotal for (7)	141	0.00	ψT0.02	\$0.00		30.75	Q40.02	\$3,985.76
L. Lesch	Hr		\$46.82	\$0.00	Hr		\$46.82	\$0.00
J. Keil	Hr		\$76.83	\$0.00	Hr	5.00	\$76.83	\$0.00
Robert Ferrante	Hr		\$122,47	\$0.00	Hr	5.00	\$122.47	\$612.35
T. Meyers	Hr		\$139.29	\$0.00	Hr	19.25	\$139.29	\$2,357.55
C. Maranhao S. Albrecht	Hr		\$166.91 \$139.29	\$0.00	Hr Hr	4.00 2.50	\$166.91 \$139.29	\$667.64 \$348.23
7) Task 7 - NJDEP Mit		(Kevegeta		PA AA	IJ-	4.00	\$166.01	P 667.64
Exp Subtotal for (6)	instin- mi-	/Power-of	60-1	\$0.00				\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	\$0,00
Supplies & Matls			\$0.00	\$0.00			\$0.00	\$0.00
Car Rental			\$0.00	\$0.00			\$0.00	\$0.00
Mileage			\$0.00	\$0.00			\$0.00	\$0.00
Subtotal for (6)		0.00	00.00	\$0.00		22.00	#0.00	\$2,303.02
Laura Lesch	Hr	0.00	\$46.82	\$0.00	Hr	22.00	\$46.82	\$0.00
Stephen Libert	Hr		\$98.46	\$0.00	Hr	20.00	\$98.46	\$1,969.20
E. Johnston	Hr		\$132.09	\$0.00	Hr	20.00	\$132.09	\$0.00
C. Maranhao	Hr		\$166.91	\$0.00	Hr	2.00	\$166.91	\$333.82
6) Task 6 - Other Tasks	•	auging & D			**	2.00	014401	#222.00
Exp Subtotal for (5)	description of			\$0.00				\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	\$0.00
US Post Office & FEDE	X		\$0.00	\$0.00			\$0.00	\$0.00
Permits			\$0.00	\$0.00			\$0.00	\$0.00
Subtotal for (5)		0.00	00.00	\$0.00		0.00		\$0.00
Ray Warren	Hr		\$105.67	\$0.00	Hr		\$105.67	\$0.00
Eva Tucewicz	Hr		\$105.67	\$0.00	Hr		\$105.67	\$0.00
James Sirvent	Hr		\$105.67	\$0.00	Hr		\$105.67	\$0.00
Mike Gardner	Hr		\$162.11	\$0.00	Hr		\$162.11	\$0.00
C. Maranhao	Hr		\$166.91	\$0.00	Hr		\$166.91	\$0.00

Labor Charge (Dec 5, 2020 to Jan 1, 2021)	\$21,854.04
Non-Labor Charges (Dec 5, 2020 to Jan 1, 2021)	\$7,383.12
Vol Discount at 1.5 % (Dec 5, 2020 to Jan 1, 2021)	(\$327.81)
Non-Labor Charges - Vol Discount (Dec 5, 2020 to Jan 1, 202	\$7,055.31
Total Invoice (\$) (Dec 5, 2020 to Jan 1, 2021)	\$28,909.36

TABLE 1 **ACTION PLAN JCP&L FORMER DOVER MGP SITE** PROGRESS REPORT - Charges Through Jan 1, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years	AECOM	08/06/18	11/06/21	-	The DGW Permit-by-Rule Quarterly Monitoring Report - Discharge To Groundwater Permit-By-Rule Monitoring Report #11 for the Former Dover Manufactured Gas Plant Site was submitted to NJDEP on Dec 21, 2020; Program Interest Number: 010630; Subject Item ID: DGWD0000167212
NJDEP Required 5-Year Wetland Mitigation Monitoring and Reporting	AECOM	06/28/19	06/07/24	-	The 2020 Annual Mitigation Status Report for the Dover Former MGP project was submitted to NJDEP on Dec 30, 2020.
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/01/20		Final Draft Deed Notice files were transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legal counsel provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public roadways and railroad right-ofway. As per comments received from JCP&L, AECOM revised the specific Deed Notices for East Blackwell, Sammis Ave and the railroad right-of-way on Nov 2020.
Permit Requirements Review & Procurement of Proposals for Installing Addtl Recovery Wells	AECOM	09/06/20	10/28/20	11/06/20	AECOM is currently discussing with Morris County the road opening permit, as well as potential dates for commencement of the drilling activities and securing proposals for conducting monthly EFR events on the recovery wells in 2021.
Demolition of the Neptune Property Bldg & Asphalt Cap O&M	AECOM	02/04/21	_		The RFP for the demolition of the Neptune property building was revised and will be submitted to potential contractors at the end of Jan 2021. AECOM also prepared scope of work, contacted potential contractors, and secured proposals to perform the O&M of the asphalt cap. The O&M asphalt cap activities took place on Dec 2/3/8, 2020. Due to weather conditions, the Dec Holidays, and the previously scheduled work of the contractor, the crack filling activities resumed on Jan 19, 2021.

1) Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.
2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Jan 1, 2021

JCP&L Task /Subtask	URS Cost Code	Task Description and Work Order	Current Approved Budget (After 04/20/20)	Sep 3, 2020 COR Approval	Current Approved Budget (After 09/03/20)	Total Expended to Date (Dec 4, 2020)	Spent During Reporting Period (to Jan 1, 2021)	Total Expended to Date (Jan 1, 2021)	Available Balance (Jan 1, 2021)	% of Current Budget Expended
0	00000	Contractor Support Services	\$498,155.42	\$15,459.79	\$513,615.21	\$517,737.29	\$3,001.30	\$520,738.60	(\$7,122.96)	101%
0.0		Contractor Support Services	\$483,714.69	\$15,459.79	\$499,174.48	\$503,296.40	\$3,001.30	\$506,297.71	(\$7,123,23)	101%
		Billing Adjustment - Labor Discount for Invoice #37802760 covering charges from July 30 to August 26, 2016	\$0.00		\$0,00	\$367.27		\$367.27	(\$367.27)	
0,1		PRB Advisory Panel Meeting	\$10,301.86		\$10,301,86	\$10,301.86		\$10,301.86	\$0,00	100%
0.2		NJDEP PRB Presentation	\$4,138.87		\$4,138,87	\$4,139.03		\$4,139.03	\$0.27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scope of Work	\$3,106,454.78	\$76,490.40	\$3,182,945,18	\$3,277,730.31	\$17,393.32	\$3,295,123.63	(\$112,178.45)	104%
5.1		Pre-Design Work Plan	\$46,944,45		\$46,944.45	\$46,944.45		\$46,944.45	\$0.00	100%
5.2		Implement Pre-Design Work Plan (Including Groundwater Modeling 50025)	\$458,240.96		\$456,240,96	\$458,221.39		\$456,221.39	\$19,57	100%
5.3		Consulting and Design - Neptune Property	\$1,027,651,02	\$53,558,27	\$1,061,209,29	\$1,111,427.63		\$1,111,427,63	(\$30,218,34)	103%
		Soil Delineation Evaluation / Permitting (2-Year Update of Well Search)	\$216,243.94		\$218,243,94	\$216,509.10		\$216,509.10	(\$265,18)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,799.75		\$74,799.75	\$72,893.94		\$72,893.94	\$1,905.81	97%
		Other Requested Tasks (authorized by email, Dev Agraement with Twp of Rockaway, disposal of DNAPL Drums by Veolia, update well search & LSRP)	\$883,319,65	\$22,932.13	\$906,251.78	\$950,110.64	\$4,916.10	\$955,026.74	(\$48,774.96)	
	80000 Series	Other Scope of Work Considerations (Spartan Oil Wall + Wetland Revegetation as per NJDEP Permit)	\$399,255.01		\$399,255,01	\$421,623,16	\$12,477,22	\$434,100,38	(\$34,545,37)	109%
6	60000	Procurement Assistance, Construction Oversight, and Remedial Action Report Preparation	\$615,732.91	\$181,215.55	\$796,948.46	\$552,505.38	\$2,835.17	\$555,340.56	\$241,607.90	70%
6.1		Procurement Assistance/Design Assistance	\$31,132,14		\$31,132.14	\$28,930,95		\$28,930,95	\$2,201.19	93%
6.2		Remedial Construction Cost plus Oversight	\$556,519.89	\$181,215.55	\$737,735.44	\$523,270.21	\$2,835.17	\$526,105.38	\$211,630,06	71%
6,3		Remedial Action Report (RAR) Preparation	\$28,080,88		\$28,080,86	\$0,00		\$0,00	\$28,080.88	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304.23		\$304.23	(\$304.23)	
7	70000	Remedial System initial Start-Up, Demonstration Period and Long-Term O&M	\$305,362.19	\$25,114.47	\$330,476.66	\$378,384.51	\$5,679.56	\$384,064.07	(\$53,587.41)	116%
7.1		Start-Up Testing	\$8,718.00		\$6,718.00	\$0,00		\$0.00	\$6,718.00	0%
7.2		Demonstration Period	\$15,923.69		\$15,923.69	\$0.00		\$0.00	\$15,923,69	0%
7.3		Long-Term O&M	\$276,598.50	\$25,114.47	\$301,712,97	\$378,384.51	\$5,679.56	\$384,064.07	(\$62,351.10)	127%
7.4		O&M Manuals	\$6,122.00		\$6,122.00	\$0.00		\$0.00	\$6,122,00	0%
	c	CONTRACT TOTALS (excluding the Garage Demolition Project):	\$4,525,705.30	\$298,280.21	\$4,823,985.51	\$4,726,357.50	\$28,909.36	\$4,755,266.65	\$68,719.08	98.6%
	11130307	Garage Demolition	\$45,130.00		\$45,130.00	\$44,212.94		\$44,212.94	\$917.06	97.0%
		CONTRACT TOTALS:	\$4,570,835.30	\$298,280.21	\$4,869,115.51	\$4,770,570,44	\$28,909,36	\$4,799,479,79	\$69,636,14	98.6%

Not	es:
_	_

Change Order Request (COR) #20 in the amount of \$298,280,21 was approved by JCP&L on Sep 3, 2020. Breakdown of fees provided below:								
The \$298,280.21 COR amount is booked at the JCP&L Task and URS Cost Codes listed below:	Amount (\$)	JCP&L Task	URS Cost Code					
Contractor Support Services	\$15,459,79	0	0					
b) Design Services & NJDEP Reporting (May 2021)	\$53,558,27	5,3	50000					
c) Other Requested Tasks including LSRP	\$22,932,13	5.3	59000					
d) Remedial Construction Cost plus Oversight	\$181,215,55	8.2	60000					
e) Long Term O&M	\$25,114,47	7,3	70000					
TOTAL (\$)	\$298 280 21							

Check Payment to: **URS** Corporation P.O. Box 116183 Atlanta GA 30368-6183 Wire Transfer Payment to: **URS** Corporation Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248 Swift Code: WFBIUS6S

Overnight Courier: URS Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501

www.aecom.com

Federal Tax ID No. 94-1718908

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION

300 Madison Ave

Morristown, NJ 07960-6116

Agreement Number: UR13814900

Agreement Description: Conversion - 1269252

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438

Invoice Currency : USD

Bill through Date : 02-JAN-21 - 05-FEB-21

Claudius Maranhao

Invoice Number: 2000469380 invoice Date: 05-MAR-21 Payment Term: 2/10 Net 45

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 02-JAN-21 - 05-FEB-21

Labor

\$56,103.68

Non-Labor

\$14,294.69

TOTAL CURRENT INVOICE

\$70,398.37 USD

Funded Amount:

\$5,122,775,86

Bill To Date: (exclude tax)

\$4,826,268,28

Remaining Balance:

\$296,507.58

: 02-JAN-21 - 05-FEB-21 Project Number · 60390438 Bill Through Date : 2/10 Net 45 **Project Name** JCP&L Dover Former MGP Site **Payment Term** Claudius Maranhao Task Number: 38580312.10000 Task Name : Management Support Labor Bill Rate Bill Rate Employee Name/Title Title/Expenditure <u>Hours</u> **Billed Amt** 22-JAN-21 GIS/Data Management 0.50 86,57 43.29 Giuroiu, Alexandru 86.57 86.57 Giuroiu, Alexandru 29-JAN-21 1.00 GIS/Data Management 05-FEB-21 86.57 2.00 173.14 Giuroiu, Alexandru GIS/Data Management 22-JAN-21 0.50 71.73 35.87 Manolache, Alina-Valentina Project Assistant Manolache, Alina-Valentina Project Assistant 29-JAN-21 1.00 71.73 71.73 Maranhao, Claudius A Project Manager 08-JAN-21 4.00 171.92 687.68 859,60 Project Manager 15-JAN-21 5.00 171.92 Maranhao, Claudius A 687.68 Maranhao, Claudius A Project Manager 22-JAN-21 4.00 171.92 4.00 171.92 687.68 Maranhao, Claudius A Project Manager 29-JAN-21 171.92 687.68 4.00 Maranhao, Claudius A. Project Manager 05-FEB-21 4,020.92 26.00 Total Labor Bill Rate 4,020.92 Task Total : Management Support Task Number: 38580312.50010 Task Name: Design/Spec/Permit Labor Bill Rate **Billed Amt** Employee Name/Title Title/Expenditure Hours **Bill Rate** 15-JAN-21 1.00 171.92 171.92 Craig, Marion E LSRP Craig, Marion E LSRP 22-JAN-21 0.50 171.92 85.96 171.92 2.50 429.80 Craig, Marion E LSRP 29-JAN-21 1,074,50 05-FEB-21 Craig, Marion E LSRP 6.25 171.92 Maranhao, Claudius A Project Manager 08-JAN-21 4.00 171.92 687.68 7.00 171.92 Maranhao, Claudius A Project Manager 15-JAN-21 1,203.44 Maranhao, Claudius A 22-JAN-21 7.00 171.92 1,203,44 Project Manager 29-JAN-21 7.00 171.92 1,203.44 Maranhao, Claudius A Project Manager 171.92 859.60 Maranhao, Claudius A Project Manager 05-FEB-21 5.00 1.00 171.92 171.92 Naumoff, Peter G LSŔP 15-JAN-21 Naumoff, Peter G LSRP 22-JAN-21 1.00 171.92 171.92 Naumoff, Peter G LSRP 29-JAN-21 1.00 171.92 171.92 171.92 171.92 LSRP 05-FEB-21 1.00 Naumoff, Peter G 44.25 7,607.46 **Total Labor Bill Rate** 7,607.46 : Design/Spec/Permit Task Total Task Number: 38580315.60050 Task Name: Task6.5 Field Assgnm Labor Multiplier Employee Name/Title Title/Expenditure Raw Cost Multiplier **Billed Amt** Date Hours Rate 29-JAN-21 1,0000 80.00 80.00 Bendre, Nikita (Nikita) Premium Overtime 0.00 0.00 80.00 80.00 **Total Labor Multiplier** Labor Bill Rate Bill Rate Billed Amt Employee Name/Title Title/Expenditure <u>Hours</u> <u>Date</u> 29-JAN-21 Bendre, Nikita (Nikita) Field Technician 8.00 79.14 633.12 Bendre, Nikita (Nikita) 05-FEB-21 5.00 79.14 395.70 Field Technician 08-JAN-21 143.47 2.869.40 Senior Geologist 20.00 Friedman, Cary L 3,873.69 Friedman, Cary L Senior Geologist 15-JAN-21 27.00 143.47 Friedman, Cary L 143.47 3,443.28 Senior Geologist 22-JAN-21 24.00 Senior Geologist 29-JAN-21 17.00 143.47 2,438,99 Friedman, Cary L Senior Geologist 05-FEB-21 21.00 143.47 3,012.87 Friedman, Cary L 136.05 Humerick, Zachary L. Project Engineer 15-JAN-21 3.00 408.15 1,632.60 22-JAN-21 12.00 136.05 Humerick, Zachary L Project Engineer Project Engineer Humerick, Zachary L 05-FEB-21 2.00 136.05 272.10 05-FEB-21 4.00 136.05 544,20 I lumerick, Zachary L Project Engineer 136.05 340.13 Johnston, Elizabeth A Project Engineer/Scientist 08-JAN-21 2.50

Project Engineer/Scientist

Project Engineer/Scientist

Project Engineer/Scientist

Project Engineer/Scientist

Clerical Support

Clerical Support

Johnston, Elizabeth A

Johnston, Elizabeth A

Johnston, Elizabeth A

Johnston, Elizabeth A

Lesch, Laura L

Lesch, Laura L

8.25

4.25

6.75

5.75

2.25

0.75

15-JAN-21

22-JAN-21

29-JAN-21

05-FEB-21

ΩB~JAN-21

15-JAN-21

136.05

136.05

136.05

136.05

48.22

48.22

1,122.41

578.21

918.34 782.29

108.50

36,17

Employee Name/Title	ate <u>Title/Expenditure</u>		Date	Hours	Bill Rate	Billed Ar
Lesch, Laura L	Clerical Support		22-JAN-21	2.75	48.22	132.6
Libert, Stephen F	Staff Scientist		08-JAN-21	4.00	101.41	405.6
Libert, Stephen F	Staff Scientist		15-JAN-21	32.00	101.41	3,245.1
Libert, Stephen F	Staff Scientist		15-JAN-21	8.00	101.41	811.2
Libert, Stephen F	Staff Scientist		22-JAN-21	16.00	101.41	1,622.
libert, Stephen F	Staff Scientist		22-JAN-21	4.00	101.41	405.6
ibert, Stephen F	Staff Scientist		29-JAN-21	3.00	101,41	304.2
libert, Stephen F	Staff Scientist		05-FEB-21	3.00	101.41	304.2
Maranhao, Claudius A	Project Manager		08-JAN-21	7.00	171.92	1,203.4
Maranhao, Claudius A	Project Manager		15-JAN-21	4.00	171.92	687.6
Maranhao, Claudius A	Project Manager		22-JAN-21	4.00	171.92	687.6
Maranhao, Claudius A	Project Manager		29-JAN-21	5.00	171,92	859.6
Maranhao, Claudius A	Project Manager		05-FEB-21	8.00	171.92	1,375.3
Patel, Jay	Field Technician		15-JAN-21	8.00	79.14	633.
Patel, Jay	Field Technician		15-JAN-21	2.00	79,14	158.3
Samaroo, Sunil	Staff Engineer		08-JAN-21	14.50	101.41	1,470.4
Samaroo, Sunil	Staff Engineer		15-JAN-21	40.00	101.41	4,056.4
Samaroo, Sunit	Staff Engineer		15-JAN-21	10.00	101.41	1,014.
Samaroo, Sunii	Staff Engineer		22:JAN 21	10.50	101.41	1.064.8
Samaroo, Sumi	Staff Engineer		05-FEB-21	4.50	101.41	456.
Vargo, Christine L (Chris)	Data Management		29-JAN-21	1.00	86.57	86.
raigo, critisimie E (Citis)	Data Wanagenera		25-074-21		-	
Total Labor	Bill Rate			364.75		44,395.
Reimbursab Expenditure Type	le Employee/Vendor Name	Date	Inv Number	Raw Cost	Multiplier	Billed A
Field Supplies	Craig, Marion E	29 JAN 21	EXP7703891	2,357.00	1.0250	2,415.
viaterials	Libert, Stephen F	08-JAN-21	EXP7673817	24.81	1.0250	25.
viaterials Viaterials		11-JAN-21		.24.99	1.0250	25.
	Samaroo, Sunil		EXP7678026	13.56	1.0250	13.
viateriais	Libert, Stephen F	12-JAN-21	EXP7673817			
Materials	Libert, Stephen F	14-JAN-21	EXP7673817	10.72	1.0250	10.9
vateriais	Samaroo, Sunii	14-JAN-21	EXP7678026	32.59	1.0250	33.4
viateriais	Libert, Stephen F	15-JAN-21	EXP7673817	14.27	1.0250	14.1
viateriais	Libert, Stephen F	18-JAN-21	EXP7673817	8.37	1.0250	8.8
viateriais	Samaroo, Sunil	18-JAN-21	EXP7678026	18.65	1.0250	19.
viateriais	Samarco, Sunil	28-JAN-21	EXP7708170	18.87	1.0250	19.:
Mileage	Patel, Jay	13-JAN-21	EXP7679447	39.20	1.0250	40.
vilscellaneous - Allowable	Samaroo, Sunil	21-DEC-20	EXP7706170	532.10	1.0250	545.4
Miscellaneous - Allowable	Samaroo, Sunii	06-JAN-21	EXP7708170	532.10	1.0250	545.
viscellaneous - Allowable	Samaroo, Sunii	18-JAN-21	EXP7678026	89.65	1.0250	91.
Fravel All Other	Samaroo, Sunil	06-JAN-21	EXP7671365	30.00	1.0250	30,
Fravel All Other	Libert, Stephen F	10-JAN-21	EXP7673817	48.75	1.0250	49.
Travel All Other	Samaroo, Sunil	10-JAN-21	EXP7671365	24.99	1.0250	25.
Fravel All Other	Samaroo, Sunil	11-JAN-21	EXP7671365	0.01	1.0250	0.
Fravel All Other	Samarco, Sunil	12-JAN-21	EXP7671365	35.00	1.0250	35.
Travel All Other	Samaroo, Sunil	15-JAN-21	EXP7671365	45.67	1.0250	46.
Fravel All Other	Libert, Stephen F	18-JAN-21	EXP7673817	29.27	1.0250	30.
Travel All Other	Samaroo, Sunil	18-JAN-21	EXP7671365	47.00	1.0250	48.
Z10 Storage	PAC VAN INC	08-JAN-21	18203729	116.63	1.0250	119.
10 Storage	PAC VAN INC	05-FEB-21	18519665	117.29	1.0250	120.
111 Equipment Other	PINE ENVIRONMENTAL SERVICE		US1200098709	86.10	1.0250	88.
(11 Equipment Other	LLC PINE ENVIRONMENTAL SERVIC		US1210005754	3,699.86	1.0250	3,792.
11 Laboratory	LLC TESTAMERICA LABORATORIES		4600062413	2,043.50	1.0250	2,094
•	INC		,	,		•
11 Laboratory	TESTAMERICA LABORATORIES		4600062761	307.00	1.0250	314.
11 Laboratory	TESTAMERICA LABORATORIES INC	28-JAN-21	4600062769	2,350.50	1.0250	2,409.
11 Laboratory	TESTAMERICA LABORATORIES	31-JAN-21	4600062963	511.00	1.0250	523.
Z11 Maintenance	GCC ENVIRONMENTAL	06-JAN-21	2394	375.00	1.0250 1.0250	384.
11 Maintenance	GCC ENVIRONMENTAL	29-JAN-21	2409	361.54	1.0200	370.
	ursabie			13,945.99		14,294
Total Reimb						

Invoice Summaries
Total Current Amount :
Retention Amount :
Pre-Tax Amount :

70,398.37 0.00 70,398.37

Invoice Summaries					
Total Invoice Amount :					70,398.37
Billing Summaries				· · · · · · · · · · · · · · · · · · ·	
Billing Summary	<u>Current</u> 70,398.37	<u>Prior</u> 4,755,869.91	<u>Total</u> 4,826,268.28	<u>Limit</u> 5,122,775.86	<u>Remain</u> 296,507.58
Billings Tax	0.00	0.00	0.00	5,122,115.00	290,001.00
Billing Total:	70,398.37	4,755,869.91	4,826,268.28		
Outstanding Invoices			Invoice Date		Invoice Balance
2000460405			11-FEB-21		28,909.36
Outstanding Total:					28,909.36

SES# [12/93597]	fax#3-8048856
APPROV	ALSTAMP
P.O. NO. 48007282	INV. NO. <u>2000469380</u>
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (GL ACCT	>: 550300
ORDER: 3001019	WBS:
APPROVED BY:	EMP. NO.

E. Comings C4939 5|5|21
Approved for \$70,398.37



973 883 8500 tel 973 883 8501 fax

February 26, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 146 - Jan 2 to Feb 5, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 70,398.37 for professional services rendered on the subject project for the period ending Feb 5, 2021. Services rendered during the Jan 2, 2021 to the Feb 5, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 8500 tel 973 883 8501 fax

February 26, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 146 - Jan 2 to Feb 5, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from January 2 to February 5, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge (Jan 2 to Feb 5, 2021)	\$56,023.69
Premium Overtime (Nikita Bendre)	\$80.00
Total Labor Charges (Jan 2 to Feb 5, 2021)	\$56,103.69
Non-Labor Charges (Jan 2 to Feb 5, 2021)	\$14,294.69
Vol Discount at 0.0 % - (Jan 2 to Feb 5, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Jan 2 to Feb 5, 2021)	514,294.69
Total Invoice (\$) (Jan 2 to Feb 5, 2021)	\$70,398.37

As we start 2021, the AECOM labor volume discount was reset to zero and will increase accordingly as we reach labor milestones in 2021. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-of-order request letter, but that have been authorized by JCP&L include charges related to the revisions of the Deed Notices submitted to JCP&L based on comments from legal counsel, O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, O&M activities related to the asphalt pavement (crack filling), additional efforts related to the new area of concern associated with RW-8, and activities related to the preparation of the design drawings, bid specifications, and procurement for the revamping of the groundwater treatment vaults.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Feb 5, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$4,825,665.22 of project charges which amount to approximately 94.2 % of the current authorized contract amount of \$5,122,755.86 (excluding the contract amount of \$45,130 for the Garage Demolition Project).

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

SUMMARY OF PROJECT CHARGES BY PROJECT TASK / PROJECT ACTIVITY

Progress Report No. 146 – through Feb 5, 2021 JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438 Page 1 of 2

JCP&L Services (01/02/21 to	There 6 / 00000 There 2 15 0000 and There 2 15 0000							
02/05/21)	Unit	Quantity	Rate (\$)	Cost (S)	Unit	Quantity	Rate (\$)	Cust (S)
1) Task 1 - Project Invo	icing, Proj	ect Managemi	ent, RFP Pac	enge, Bid Rev	iews, GC Se	ection & Per	mit Meetings	
Kit Williams	Hr		\$180.58	\$0.00	Hr		\$180.58	\$0.00
C. Maranhao	1{r	21,00	\$171.92	\$3.610.32	Hr		\$171.92	\$0.00
Alexandru Giuroiu	Hr	3.50	\$86.57	\$303,00	Hr		\$86.57	\$0.00
Alina Manolache	Hr	1.50	\$71.73	\$107,60	Hr		\$71.73	\$0.00
Clwis Vargo	Нг	1.00	\$86.57	586,57	Hr		\$86,57	\$0.00
Cheryl Bir	Hг	1	\$86.57	\$0.00	Нг		\$86,57	\$0.00
L. Lesch	Fir	1.75	\$48.22	\$84.39	Hr		\$48.22	\$0.00
Subtotal for (1)		28.75		\$4,191,87		0.00		\$0.00
2) Task 2 - On-Site Con	struction (hary Humer					
C. Maranhao	Нт		\$171.92	\$0.00	Hr	8.00	\$171.92	\$1,375.36
Z. Humerick	Hr		\$136.05	\$0.00	Hr	21 00	\$136.05	\$2,857.05
Subtotal for (2)		0.00		0.00		29.00	2.5	\$4,232.41
K&M Contracting			\$0.00	\$0.00			\$0.00	\$0.00
Travel Ali Other			\$0.00	\$0.00			\$0.00	\$0.00
Exp Subtotal for (2)			40100	\$0.00				\$0.00
3) Task 3 - DGW Permi	t-Ry-Rule	GWTV-Monit	nring and Od		Recovery Me	mt. and DNAT	I. Gauging of	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	24,00	\$171.92	54,126,09
Cary Friedman	Hr	-	\$143.47	\$0.00	Flr	39.00	\$143.47	\$5,595,34
Elizabeth Joluston	Hr		\$136.05	\$0.00	Hr	27.50	\$136.05	\$3.741.38
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	27.50	\$136.05	\$0.00
Smil Samaroo	Hr	-	\$101.41	\$0.00	lir	79.50	\$101.41	\$8,062.11
Stephen Liebert	Hr		\$101.41	\$0.00	llr	60,00	\$101.41	\$6,084.61
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	13.00	579.14	\$1,028.82
Jav Patel	Hr	-						-
	Hr		\$79.14	\$0.00	Hr	10.00	\$79.14	\$791.40 \$48.22
L. Lesch	Hr	0.00	\$48.22	\$0.00	Hr	1.00	\$48.22	
Subtotal for (3)		0.00	dis tus	\$0.00		254.00	27.1. O.L.	\$29,477,96
Mileage & Car Rental	_		\$0.00	\$0.00		1.0250	\$39.20	\$40.18
NES - Backflow Prevente	rs		\$0,00	\$0.00	_	1.0250	\$2,357,00	\$2,415 94
Field Supplies/Matts			\$0.00	\$0.00		1.0250	\$166.83	\$171,00
Pine Favtl Sves			\$0.00	\$0.00		1.0250	\$3.785.96	\$3,880.62
Test America Labs			\$0.00	\$0.00		1.0250	\$5,212.00	\$5,342.32
GCC Envtl (DNAPL puin			\$0.00	\$0.00		1.0250	\$736.54	\$754.95
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0250	\$233.92	\$239,77
Mise - Allowables			\$0,00	\$0,00		1.0250	\$1.153.85	\$1,182.71
Truvel - All Others		1	\$0,00	\$0.00		1.0250	\$260.60	\$267.21
Exp Subtatal for (3)				\$0.00			_	\$14,294.69
4) Task 4 - Engineering								
C. Maranhao		1				16.00	\$171.92	
Mike Gardner	Ffr		\$166.98	\$0.00	Hr		\$166.98	20 00
Cary Friedman	Hr	1	\$143.47	\$0.00	Ilr		\$143.47	\$0.00
Elizabeth Johnston	Hr		\$136.05	50.00	Hr		\$136.05	\$0.00
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr		\$108.84	\$0.00
Chris Vargo	Hr		\$86.57	\$0.00	Hr		\$86.57	\$0.00
Coyle Self	Hr	1	\$86.57	\$0.00	Hr		\$86.57	\$0.00
Susan Beatie	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Laura Lesch	Hr		\$48.22	\$0.00	Hr		548.22	\$0.00
Luber Subtotal for (4)		0.00		\$0.00		16.00		\$2,750,7



Page 2 of 2

	·Tot		r Charges (S)	\$0.00	Te	ital Non-Lab	or Charges (\$)	\$14,294.69
		·	r Charges (S)	\$4,191.87			or Charges (S)	\$51,831.82
	HOURS	28.75	TOTAL (5)	54,191.87	HOURS	406.25	TOTAL (S)	\$51,831.82
Subtotal for (9)		0.00	- 10.22	\$0.00		87.25	7.51	\$12,637.43
Laura Lesch	Hr		\$48.22	50.00	Hr	3.00	\$48,22	\$144.66
Eva Tucewicz	Hr	<u> </u>	\$108.84	\$0.00	Hr	10.00	\$108.84	\$0.00
Cary Friedman	Hr		\$143.47	\$0.00	Hr	70.00	\$143.47	\$10,042.91
Mike Akerbergs	Hr		\$171.92	\$0.00	Hr	7.00	\$171.92	\$0,00
Peter Naumoff	- Fir	-	\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.68
Marion Craig	Hr	1	\$171.92	\$0.00	Hr	10.25	\$171.92	\$1,762.18
8) Tusk 8 - LSRP Char	nee			20,00		1		30,01
Exp Subtotal for (7)	-/\		30.00	\$0.00			30.00	\$0.00
US Post Office & FEDI	·Y		\$0.00	\$0.00			\$0.00	\$0.00
Enviroscape			00.02	\$0.00			\$0.00	\$0.00
Supplies / Materials			\$0.00	\$0.00			50.00	\$0.00
Mileage & Car Rental		17.03	\$0,00	\$0.00		0.00	\$0.00	\$0.00
Subtotal for (7)		0.00	V-101.42	\$0.00	1.85	0.00	510,22	\$0.00
L. Lesch	Hr		\$48,22	\$0.00	Hr		\$48,22	\$0.00
J. Keil	Нг		\$79.14	\$0.00	Нг		\$79.14	\$0.00
Robert Ferrante	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
T. Meyers	Hr		\$143,47	\$0.00	Hr		\$143,47	50.00
S. Albrecht	Нг		\$166.98	00.02	Hr		\$166.98	\$0.00
C. Maranhao	Hr	1 Tre Le Beene	\$171.92	\$0.00	Hr		\$171.92	50.00
7) Task 7 - NJDEP Mi	tigation Plan	Revenutat	inn)	20.00			-	00.00
Exp Subtotal for (6)			30,00	\$0.00			\$0.00	50.00
Travel All Others			\$0,00	\$0.00			\$0.00	\$0.00
Supplies & Matls			\$0.00	\$0.00			\$0.00	\$0.00
Car Rental		j	\$0.00	50.00			50.00	\$0.00
Mileage		5,22	\$0.00	\$0.00		1	50.00	\$0.00
Subtotal for (6)	-	0.00		\$0.00		12.00		\$1,357.9
Laura Lesch	Hr		\$48.22	\$0.00	Hr		\$48.22	50.00
Stephen Libert	Hr		\$101.41	\$0.00	Hr	10.00	\$101.41	\$1,014.10
E. Johnston	Нг	1	\$136.05	\$0.00	Hr		\$136.05	\$0.00
C. Maranhao	Hr	1	\$171.92	\$0.00	Hr	2.00	\$171.92	\$343,84
6) Task 6 - Other Task	s (DNAPL O	versight & l	DNAPL Drum	Disposal)				
Exp Subtotal for (5)		Ì		\$0.00				\$0.00
Travel All Others			\$0.00	\$0.00			50.00	\$0.00
US Post Office & FEDI	÷Χ		\$0.00	\$0.00			\$0.00	\$0.00
Permits			\$0.00	\$0.00			\$0.00	\$0.00
Subtotal for (5)		0.00		\$0.00		8.00		\$1,375.36
Ray Warren	Hr		\$108.84	\$0.00	Hr		\$108.84	\$0.00
Eva Tucewicz	Hr		\$108.84	\$0,00	Hr		5108.84	\$0.00
James Sirvent	Hr		\$136.05	50.00	fīr		\$136.05	\$0.00
Mike Gardner	Η¢		\$166.98	\$0.00	Нг		\$166.98	\$0.00
C. Maranhao	Hr		\$171.92	\$0.00	Hr	8.00	\$171.92	\$1,375.36

Labor Charge (Jan 2 to Feb 5, 2021)	\$56,023.69
Premium Overtime (Nikita Bendre)	\$80.00
Total Labor Charges (Jan 2 to Feb 5, 2021)	\$56,103.69
Non-Labor Charges (Jan 2 to Feb 5, 2021)	\$14,294.69
Vol Discount at 0.0 % - (Jan 2 to Feb 5, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Jan 2 to Feb 5, 2021)	\$14,294.69
Total Invoice (\$) (Jan 2 to Feb 5, 2021)	\$70,398.37

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Feb 5, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years	ÁECOM	08/06/18	11/06/21		The DGW Permit-by-Rule Quarterly Monitoring Report - Discharge To Groundwater Permit-By-Rule Monitoring Report #11 for the Former Dover Manufactured Gas Plant Site was submitted to NJDEP on Dec 21, 2020; Program Interest Number: 010630; Subject Item ID: DGWD0000167212
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/01/20	_	Final Draft Deed Notice files were transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legal counsel provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public roadways and railroad right-of-way. As per comments received from JCP&L, AECOM revised the specific Deed Notices for East Blackwell, Sammis Ave and the railroad right-of-way on Nov 2020.
Permit Requirements Review & Procurement of Proposals for Installing Addtl Recovery Wells	AECOM	09/06/20	10/28/20	11/06/20	AECOM is currently discussing with Monis County the road opening permit, as well as potential dates for commencement of the drilling activities and securing proposals for conducting monthly EFR events on the recovery wells in 2021.
Other Various Activities	AECOM	01/02/21			Other activities currently being conducted by AECOM are: 1) After establishing traffic control on East Blackwell, AECOM removed two DNAPL recovery pumps and shipped them to GCC Environmental for repair activities; 2) AECOM is contacting and reviewing proposals from three (3) reputable vendors that perform High Resolution Site Characterization (HRSC) for conducting additional investigations at the Analan property and also at East Blackwell St. We envision the need to install 6-10 membrane interface probe (MIP) screening points to screen for DNAPL (coal tar distillate) recovery well RW-8 that we recently discovered product in. The depth of the points will need to be ~25 feet. 3) AECOM had to temporarily cease the asphalt crack filling operations on site; 4) AECOM prepared a 24-hr notification to NJDEP and followed up with a letter describing the need to upgrade/improve the GWTVs due to cyanide exceedance at one of the vaults

Notes:

Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.
 Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Feb 5, 2021

JCFSL Task /Sublask	URS Cost Code	Task Description and Work Order	Approved Budget (Alter 09/03/20)	Jan 15, 2021 COR Approval	Current Approved Budget (After D1ft\$/21)	Total Expended to Date (Jan 2, 2021)	Spent During Reporting Period (to Feb 5, 2021)	Total Expanded to Date (Fab 5, 2021)	Available Balance (Feb 5, 2021)	% of Curren Budget Expended
0	00000	Contractor Support Services	5513,615.21	\$26,806.08	\$540,421.29	\$520,738.60	54,191.87	5524,930.47	\$15,491,25	97%
σo		Contractor Support Services	5499,174.48	\$26,806,08	\$525,980.56	\$506;297,71	\$4,191,87	\$510,489.5E	\$15,490,98	97%
		Billing Adjustment - Labor Discount for Involve #37802760 covering charges from July 30 to August 26, 2016	\$0,00		\$0.00	\$367,27		\$367.27	(\$367,27)	
0,1		PRB Advisory Panel Meeting	\$10,301.86		\$10,801.86	510,301.86		510,301.BG	\$0.00	100%
0.2		NJDEP PRB Presentation	\$4,138.87		\$4,138.87	\$4,139,03		\$4,139.03	\$0,27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scope of Work	53,182,945.18	\$170,370.98	\$3,359,316,14	\$3,295,123,63	\$18,121,45	\$3,313,245.08	\$46,071,06	99%
5.1		Pre-Dosign Work Plan	\$46,944.45		\$46,944.45	\$46,944,45		\$46,944,45	50.00	100%
5.2		Implement Pro-Besign Work Plan (Including Groundwater Modeling 50025)	\$458,240.96		\$458,240.06	\$458,221.39		5458,221.39	\$19.57	100%
5.3		Consulting and Design - Nepture Property	\$1,081,209.29	\$86,276,20	\$1,167,485.49	51, 111,427,63	\$1,375,36	\$1,112,802.99	\$54,602.50	95%
		Sair Dokobation Evaluation / Permitting (2-Yea) Update of Well Search)	\$216.243.94		\$216,243.94	\$216,509,10		5216,509.10	(\$265,16)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,790.75		\$74,799.75	\$72,893.64		\$72,803.04	\$1,005.81	97%
		Other Requested Tasks (authorized by email, Dev Agreement with Two of Rockeway, disposal of DNAPI, Drums by Vaclia, update well search & LSRP)	\$906,251,78	\$63,015,10	\$989,266.88	\$955,026.74	\$13,995.37	\$969,022.11	\$244.77	-
	80000 Series	Other Scope of Work Considerations (Sparten Oil Web * Wolford Revingalation as per MINEP Premit)	\$399,255,01	\$27,070,68	\$426,334.67	\$434,100.38	\$2,750,72	\$436,851,10	(\$10,518,43)	102%
6	60000	Procurement Assistance, Construction Oversight, and Remodel Action Report Proparation	\$796,948.46	50.00	\$796,948,45	\$555,340.56	\$4,232.41	\$559,572.97	\$284,455,15	70%
6.1		Procurement Ausistance/Design Assistance	\$31,132.14		531,132.14	528,930.95		\$28,930,95	\$2,201.19	93%
6.2		Remedial Construction Cost plus Oversight	\$737,735.44		\$764,815,10	\$526,105.38	\$4,232.41	\$530,337.79	\$234,477.31	69%
6.3		Remedial Action Report (RAR) Preparation	\$26,090,88		\$28,080.88	\$0,00		\$0.00	\$20,080,88	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304.23		\$304,23	(\$304,23)	
1	70000	Remedial System Initial Start-Up, Demonstration Period and Lond-Torm D&M	\$330,476.66	595,613,31	\$426,089.97	\$384,064.07	\$43,852.64	\$427,916.71	[61,026,74]	100%
7.1		Start-Up Testing	\$6.71B.DO		\$6,718.00	\$0,00		\$0.00	56,718.00	0%
7.2		Demonstration Period	\$15,923.69		\$15,923.69	50,00		\$0.00	\$15,923.69	0%
7,3		Long-Torm O&M	\$301,712.97	595,613,31	\$397,326.28	\$384,084.07	\$43,852.84	5427,916,71	[\$30,59p,43]	108%
7.4		O&M Mariuals	56,122,60		\$6,122.00	\$0,00		\$0.00	\$6,122.00	0%
	c	ONTRACT TOTALS (excluding the Garage Demolition Project):	S4 ,823,985.51	\$298,790.35	\$5,122,775.85	\$4,755,266.85	\$70,398.37	\$4,625,685.22	5324,190.72	94.2%
	11130307	Garage Demolition	\$46,130.00		\$45,130.00	544,212.94		844,212.94	\$917.06	97.0%
		CONTRACT TOTALS:	\$4,809,115.51	\$298,790,35	\$5,167,905.86	54,799,479,79	\$70,398.37	\$4,869,878.16	\$325,107,78	94.2%

Notos:

The \$298,750.35 COR amount a becked at the JCPSL Task and URS Cost Codes listed below:	Amount (5)	JCPBL Task	URS Cost Code
a) Contractor Support Sarvices	526,805,08	0	0
b) Design Services & NJDEP Reporting (May 2021)	\$86,276,20	5.3	50000
c) Other Requested Tasks including LSRP	563,015.10	53	59000
d) Remedial Construction Cost plus Oversight	\$27,079.66	5.3	BONGO Semes
q) Long Tarm DSM	\$95,613,31	7.3	70000
IOTAL (5)	\$298,790.35		

Check Payment to: **URS** Corporation P.O. Box 116183 Atlanta GA 30368-6183 Wire Transfer Payment to: **URS Corporation** Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248

Swift Code: WFBIUS6S

Overnight Courier: **URS** Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501 www.secom.com

Federal Tax ID No. 94-1716908

Remaining Balance:

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ave Morristown, NJ 07960-6116

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Please reference Invoice Number and Project Number with Remittance Project Number : 60390438 Invoice Number: 2000474730 Invoice Currency : USD Invoice Date: 19-MAR-21 Bill through Date : 06-FEB-21 - 05-MAR-21 Payment Term: 2/10 Net 45 Claudius Maranhao JCP&L Dover Former MGP Site For Professional Services Rendered Through 06-FEB-21 - 05-MAR-21 Labor \$39,937.56 Non-Labor \$1,269.58 **TOTAL CURRENT INVOICE** \$41,207.14 USD Funded Amount: \$5,122,775.86 Bill To Date: (exclude tax) \$4,867,475.42

\$255,300.44

Project Number : 60390438
Project Name : JCP&L Dover Former MGP Site
Claudius Maranhao

Bill Through Date : 06-FEB-21 - 05-MAR-21 Payment Term : 2/10 Net 45

Task Number : 38580312.10000	Tas	k Name : Mañagement Support			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	<u>Hours</u>	Bill Rate	Billed Amt
Glurolu, Alexandru	GIS/Data Management	12-FEB-21	7.00	86.57	86.57
Giuroiu, Alexandru	GIS/Data Management	05-MAR-21	1.00	86.57	86,57
Maranhao, Claudius A	Project Manager	12-FEB-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	19-FEB-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	26-FEB-21	5.00	171.92	859.60
Maranhao, Claudius A	Project Manager	05-MAR-21	4,00	171.92	687,68
Total Labor Bill Rate			19.00	_	3,095.78
Task Total : Management Supp	ort				3,095.78
Task Number : 38580312.50010	Tas	k Name : Design/Spec/Permit			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	Date	Hours	Bill Rate	Billed Amt
Albrecht, Sherri M	Lead Scientist	05-MAR-21	1.00	166.98	166.98
Craig, Marion E	LSRP	12-FEB-21	6.00	171.92	1,031.52
Craig, Marion E	LSRP	19-FEB-21	6,00	171.92	1,031.52
Craig, Marion E	LSRP	26-FEB-21	1.00	171.92	171.92
Friedman, Cary L	Senior Geologist	19-FEB-21	6.00	143.47	860.82
Friedman, Cary L	Senior Geologist	26-FEB-21	8.00	143.47	1,147.76
Friedman, Cary L	Senior Geologist	05-MAR-21	3.00	143,47	430,41
Johnston, Elizabeth A	Project Engineer/Scientist	19-FEB-21	10.25	136.05	1,394.51
Johnston, Elizabeth A	Project Engineer/Scientist	26-FEB-21	10.75	136.05	1,462.54
Johnston, Elizabeth A	Project Engineer/Scientist	05-MAR-21	6.50	136.05	884.33
Maranhao, Claudius A	Project Manager	12-FEB-21	6.00	171.92	1,031.52
Maranhao, Claudius A	Project Manager	19-FEB-21	6.00	171.92	1,031.52
Maranhao, Claudius A	Project Manager	26-FEB-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	05-MAR-21	5,00	171.92	859.60
Myers, Taralyn	Senior Scientist	26-FEB-21	0.50	143.47	71.74
Myers, Taralyn	Senior Scientist	05-MAR-21	3,00	143.47	430.41
Norris, Carolyn E	Senior Scientist	19-FEB-21	0.50	143.47	71.74
Tucewicz-Thompkins, Eva	CADD	19-FEB-21	0,50	108.84	54.42
Total Labor Bill Rate			84.00	_	12,820.94
Reimbursable Expenditure Type Employee	Vendor Name Date	e Inv Number	Raw Cost	Multiplier	Billed Amt
		FEB-21 EXP7733222	206.82	1.0250	211.99
Total Reimbursable			206.82	-	211.99
Task Total : Design/Spec/Permi	t				13,032.93
Task Number : 38580315.60050	Tas	k Name : Task6.5 Field Assgnm			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	Date	Hours	Bill Rate	Billed Amt 71,73
Beattle, Susan	Project Assistant	19-FEB-21 12-FEB-21	1.00 1.00	71.73 79:14	71.73 79.14
Bendre, Nikita (Nikita) Bendre, Nikita (Nikita)	Field Technician Field Technician	12-FEB-21 26-FEB-21	65.00	79.14 79.14	79.14 5.144.10
Bendre, Nikita (Nikita)	Field Technician	26-FE6-21 05-MAR-21	8.00	79.14	633.12
Friedman, Cary L	Senior Geologist	12-FEB-21	7.00	143.47	1,004.29
Humerick, Zachary L	Project Engineer	12-FEB-21	4.00	136.05	544.20
Humerick, Zachary L	Project Engineer	19-FEB-21	2.00	136.05	272.10
Johnston, Elizabeth A	Project Engineer/Scientist	12-FEB-21	14.00	136.05	1,904.70
Keit, Justin (Justin)	Field Technician	26-FEB-21	0.25	79.14	19.79
Lesch, Laura L	Project Assistant	12-FEB-21	7.25	71.73	520.04
Libert, Stephen F	Staff Scientist	12-FEB-21	2.00	101.41	202,82
Libert, Stephen F	Staff Scientist	12-FEB-21	8.00	101.41	811.28
Libert, Stephen F	Staff Scientist	19-FEB-21	2.00	101.41	202.82
Libert, Stephen F	Staff Scientist	26-FEB-21	3.00	101.41	304.23
		50,2021	5.50		

Labor Bill R	ata					
Employee Name/Title	Title/Expenditu	re	Date	Hours	Bill Rate	Billed Amt
Libert, Stephen F	Staff Scientist	4.11	05-MAR-21	3.00	101.41	304.23
Maranhao, Claudius A	Project Manager	•	12-FEB-21	6,00	171.92	1,031.52
Maranhao, Claudius A	Project Manager		19-FEB-21	10.00	171,92	
Maranhao, Claudius A	Project Manager		26-FEB-21	11.00	171.92	1,891.12
Maranhao, Claudius A	Project Manager		05-MAR-21	6.00	171.92	
Myers, Taralyn	Senior Scientist		19-FEB-21	0.25	143.47	
Ruiz, Pablo C	Data Manageme		19-FEB-21	1.75	86.57	
Ruiz, Pablo C	Data Manageme		05-MAR-21	1,50	86.57	
Samaroo, Sunil	Staff Engineer		12-FEB-21	11.50	101.41	1,166.22
Samaroo, Sunii	Staff Engineer		12-FEB-21	2.00	101.41	202.82
Samaroo, Sunil	Staff Engineer		19-FEB-21	11.50	101.41	1,166.22
	Staff Engineer		26-FEB-21	29.50	101.41	2,991.60
Samaroo, Sunil	Staff Engineer		06-MAR-21	3.50	101.41	354.94
Samarco, Sunil Vargo, Christine L (Chris)	Data Manageme	int	05-MAR-21	1.50	86.57	
valgo, Chilamia r (Chila)	Data Wallagellie		00-1474(-21		00.07	
Total Labor	Bill Rate			223.50		24,020.84
Reimbursab		Data	Inc Number	Bow Cost	Multiplier	Billed Amt
Expenditure Type	Employee/Vendor Name	<u>Date</u> 04-JAN-21	Inv Number EXP7705740	Raw Cost 54.58	1.0250	
Car Rental	Samaroo, Sunii	04-JAN-21 18-JAN-21		34.56 384.20	1.0250	
Car Rental	Samaroo, Sunil		EXP7705740			
Car Rental	Samaroo, Sunii	08-FEB-21	EXP7705740	115.26	1.0250	
Car Rental	Samaroo, Sunil	24-FEB-21	EXP7705740	167.06	1.0250	
Materials	Libert, Stephen F	07-FEB-21	EXP7715826	17.28	1.0250	
Materials	Maranhao, Claudius A	16-FEB-21	EXP7733231	17.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	22-FEB-21	EXP7732215	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	23-FEB-21	EXP7732215	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	24-FEB-21	EXP7732215	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	25-FEB-21	EXP7732215	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	26-FEB-21	EXP7732215	28.00	1,0250	
Miscellaneous - Allowable	Samaroo, Sunil	20-FEB-21	EXP7705739	32.42	1.0250	
Miscellaneous - Allowable	Samaroo, Sunil	24-FEB-21	EXP7705739	68.99	1.0250	
Travel All Other	Samaroo, Sunil	07-FEB-21	EXP7705740	35.00	1.0250	35.88
Total Reimb	ursable			1,031.79		1,057.59
Task Total : Task6.	5 Field Assgnm					25,078.43
Project Total : JCP&L Do	ver Former MGP Site	77 W.				41,207.14
Invoice Sur	nmaries					
Total Current Amount :						41,207.14
Retention Amount :						0.00
Pre-Tax Amount :						41,207.14
Total invoice Amount :						41,207.14
Billing Sum	maries					-
Billing Summary	Current	<u>Prior</u>	<u>Total</u>	<u>L</u>	<u>imit</u>	<u>Remain</u>
Billings	41,207.14	4,826,268.28	4,867,475.42	5,122,77	5.86	255,300.44
Tax	0.00	0.00	0.00	•		
Billing Total:	41,207.14	4,826,268.28	4,867,475.42			
	1					
Outstanding Invoice Number) INVOICES		Invoice Date			Invoice Balance
2000469380			05-MAR-21			70,398.37
2000460405			11-FEB-21			28,909.36
			, 20 21			
Outstanding	; Total :					99,307.73

SES#1121936038	fax#3-8048857
APPROV	ALSTAMP
P.O. NO. 48007282	INV. NO. 2000474730
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (GL ACCT	550300
ORDER: 3001019	W8S:
APPROVED BY:	EMP. NO.

E. Commas C4939 5/5/21 Approved for \$41,207.14



973 883 8500 tel 973 883 8501 fax

March 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 147 - Feb 6 to Mar 5, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 41,207.14 for professional services rendered on the subject project for the period ending Mar 5, 2021. Services rendered during the Feb 6, 2021 to the Mar 5, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 8500 tel 973 883 8501 fax

March 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 147 - Feb 6 to Mar 5, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from February 6 to March 5, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Feb 6 to Mar 5, 2021)	\$39,937.56
Non-Labor Charges - (Feb 6 to Mar 5, 2021)	\$1,269.58
Vol Discount at 0.0 % - (Feb 6 to Mar 5, 2021)	50.00
Non-Labor Charges - Vol Discount - (Feb 6 to Mar 5, 2021)	<u>\$1,269.58</u>
Total Invoice (\$) - (Feb 6 to Mar 5, 2021)	\$41,207.14

As we start 2021, the AECOM labor volume discount was reset to zero and will increase accordingly as we reach labor milestones in 2021. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-of-order request letter, but that have been authorized by JCP&L include construction oversight of the improvements to the groundwater treatment vaults (GWTVs), O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, O&M activities related to the asphalt pavement (crack filling), additional efforts related to the new area of concern associated with RW-8, and activities related to the preparation of the design drawings, bid specifications, and procurement for the demolition of the Neptune Building.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790,35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Mar 5, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$4,866,872.37 of project charges which amount to approximately 95.0 % of the current authorized contract amount of \$5,122,755.86 (excluding the contract amount of \$45,130 for the Garage Demolition Project).

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

SUMMARY OF PROJECT CHARGES BY PROJECT TASK / PROJECT ACTIVITY

Progress Report No. 147 – through Mar 5, 2021 JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438 Page 1 of 2

JCP&L Services (02/06/21 to	Charg	ed to Contract Task 0		errices	Charged to PDI, RAWP or Constr Oversight Task 5/50000 or Task 6/60000			
83/05/21)	Unit	Quantity	Rate (S)	Cost (S)	Unit	Quantity	Rate (S)	Cost (\$)
1) Task 1 - Project Invo	icing, Pro	ect Managem	ent, RFP Paci	kage, Bid Rev	iews, GC Sc	lection & Per	mit Meetings	
Kit Williams	Hr		\$180.58	\$0.00	Нт		\$180.58	\$0.00
C. Maranhao	llr	17.00	\$171.92	\$2,922.65	Hr		\$171.92	\$0.00
Alexandru Gittroitt	Hr	2.00	\$86.57	\$173.14	Hr		\$86.57	\$0.00
Alina Manolache	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Chris Vargo	Hr	1.50	\$86.57	\$129.86	Hr		\$86.57	\$0.00
Cheryl Bir	Hr		\$86.57	\$0,00	1 Cr		\$86.57	50.00
L. Lesch	Hr	2.00	\$71.73	\$143.46	Иг		\$71.73	\$0.00
Subtotal for (1)		22.50		\$3,369,1.1		0.00		\$0.00
2) Task 2 - On-Site Con	struction (Oversight for (GWTVs - Nik					
C. Maranluso	Hr		\$171.92	\$0.00	145	16.00	\$171.92	\$2,750.72
Nikita Bendre	Hr		\$79,14	50.00	Er	74.00	\$79.14	\$5.856.36
Subtotal for (2)		0.00		0.00		90,00		\$8,607.08
EnviroAir Technology			\$0.00	\$0.00			\$0.00	\$0.00
Travel All Other			\$0.00	\$0.00			sp.on	\$0,00
Exp Subtotal for (2)				\$0.00			****	\$0,00
3) Task 3 - DGW Permi	t-By-Rule.	GWIV Monit	oring and De		Recovery M	emi. and DNAI	L Gaueing of	
C. Maraelwa	ili		\$171.92	00.02	Er	8.00	\$171.92	\$1.375.36
Cary Friedman	Hr		\$143.47	\$0.00	Hr	7.00	\$143.47	\$1.004.29
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	14 (10)	\$136.05	\$1.904.70
Zachary Humerick	Ur		\$136.05	\$0.00	Hr	6.00	\$136.05	\$816.30
Sunii Samaroo	Hr		\$101.41	\$0,00	Hr	58110	\$101.41	\$5,881.79
Stephen Liebert	Hr		\$101.41	\$0.00	Hr	16.00	\$101.41	\$1,622.56
Nikita Bendre	Hr		\$79,14	\$0.00	Hr	10,100	\$79.14	\$0.02
Jay Patel	Hr		\$79.14	\$0.00	Hr		\$79.14	\$0.00
L, Lesch	Hr	-	\$71.73	\$0.00	lir	2.00	\$71.73	\$143.46
Subtotal for (3)		0.00	571.35	\$0.00	1.51	111.00	071,77.	\$12,748.48
Mileage & Car Rental		5.00	\$0.00	\$0.00		1,0250	\$861.10	\$882.63
NES - Backflow Prevente	ira		\$0.00	\$0.00		1.0250	444674.142	\$0.00
Field Supplies/Matls	15		\$0,00	\$0.00		1.0250	\$34.28	\$35,14
Pine Envil Sves			\$0.00	\$0.00		1,0250	B. P. L' - P. C.	\$0,00
Test America Labs			\$0.00	\$0.00		1.0250	-	\$0.00
GCC Envil (DNAPL poin	ne)		\$0.00	\$0.00		1.0250		\$0,00
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0250		\$0.00
Misc - Allowables			\$0.00	\$0.00	_	1.0250	\$308,23	\$315.94
Travel - All Others			00.02	\$0.00	_	1.0250	\$35.00	\$35,88
Exp Subtotal for (3)			auno	\$0.00		£ 11/4in al 40	0.50 A10	\$1,269.58
4) Task 4 - Engineering	Design / B	lid Space / Rid	Preparation		e Promarati	on		washers of the
C. Maranhao	Hr.			\$0.00		14.00	\$171.92	\$2,406.88
Carolyn Norris	ilr		\$143.47	\$0.00	Hr	0.50	\$143.47	\$71,74
Carv Friedman	Hr		\$143.47	\$0,00	Hr	4.00	\$143.47	\$573.88
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	13.50	\$136.05	\$1,836.68
Eva Tucevicz	Hr		\$108.84	\$0.00	Hr	0.50	\$108.84	\$54.42
Chris Vargo	Hr		\$86.57	\$0.00	Hr	1.30	\$86.57	\$0.00
Pablo Ruiz	llr		\$86.57	\$0.00	Ilr	3.25	\$86.57	\$281,35
Susan Beatie	Hr		\$71.73	\$0.00	Hr	1.00	\$71.73	\$71.73
Laura Lesch	Hr		\$71.73	50,00	Hr	1.25	\$71.73	\$89.66
Labur Subtotal for (4)	TII	0.00	913157	\$0.00	111	38.00	⊕ (L. r.d	\$5.386.34



Page 2 of 2

Tutal Non-Labor Charges (S) TOTAL (S)				\$0.00 \$3,369.11	Ti	\$1,269.5B \$37,838.03		
			r Charges (S)	\$3,369.11		\$36,568.45		
	HOURS	22.50	TOTAL (S)	\$3,369.11	HOURS	304.00	TOTAL (S)	\$36,568.45
Subtotal for (9)		0.00		\$0.00		28.00		\$4,243.54
Laura Lesch	Hr		\$71.73	\$0.00	H	2.00	\$71.73	\$143.46
Eva Tucewicz	Hr		\$108.84	\$0,00	Hr		\$108.84	\$0.00
Cary Friedman	Hr		\$143.47	\$0.00	lir	13.00	\$143.47	\$1,865.11
Milke Akerbergs	.Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00
Peter Naumoil	Hr		\$171.92	\$0.00	Hr		\$171.92	SOLOO
Marion Craig	Hr		\$171.92	\$0.00	Hr	13,00	\$171.92	\$2,234,97
8) Task 8 - LSRP Char	ges							
Exp Subtotal for (7)				\$0,00				\$0,00
US Post Office & FEDI	X		50.00	\$0.00			\$0.00	\$0.00
l'inviroscape			50.00	\$0.00	-		\$0.00	\$0.00
Supplies / Materials			50.00	\$0.00			\$0.00	\$0,00
Mileage & Car Rental			.50,00	\$0.00			\$0,00	\$0.00
Subtotal for (7)		0.00		\$0.00		7.00		\$1.068.62
L. Lesch	Hr		\$71.73	\$0.00	l·Ir		571.73	\$0.00
J. Keil	Hr		\$79.14	\$0.00	Hr	0.25	\$79.14	\$19.79
Robert Ferrante	Hr		\$126.15	\$0.00	Hz		\$126.15	\$0.00
T. Meyers	Hc		\$143,47	\$0,00	H	3.75	\$143.47	\$538.01
S. Albrecht	Hr		\$166.98	\$0.00	He	1.00	\$166.98	\$166.98
C. Maranhao	Hr		\$171.92	\$0.00	H	2:00	\$171.92	\$343.84
7) Tusk 7 - NJDEP Mi	tigation Plan	n (Revegetat	ion)					
Exp Subtotal for (6)				\$0.00			-	\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	\$0.00
Supplies & Matls			\$0.00	\$0,00			\$0.00	\$0.00
Car Renial			\$0.00	\$0.00			\$0.00	\$0.00
Mileage			\$0.00	\$0.00			\$0.00	\$0.00
Subtotal for (6)		0.00		\$0.00		16.00		\$2,322.74
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Stephen Libert	Hr		\$101.41	\$0.00	1-3r	200	\$101.41	\$202.82
E. Johnston	Hr		\$136.05	\$0.00	Hr	8.00	\$136.05	\$1,088.40
C. Maranhao	Hr		\$171.92	\$0.00	Hr	6.00	\$171.92	\$1,031.52
6) Task 6 - Other Task	s (DNAPL C	wersight &]	DNAPL Drum	Disposal)				
Exp Subtotal for (5)				\$0.00				\$0.00
Travel All Others			\$0.00	50.00			\$0.00	\$0.00
US Post Office & FEOR	ex:		00.02	\$0.00			\$0.00	\$0.00
Permits			\$0.00	\$0.00			\$0.00	\$0.00
Subtotal for (5)		0.00		\$0.00		14.00		\$2,191.66
Ray Warren	Hr		\$108.84	\$0.00	Hr		\$108.84	\$0.00
Eva Tucewicz	I lr_		\$108,84	\$0.00	Hr		\$108.84	\$0.00
E. Johnston	Hr		\$136.05	50.00	Hr	6.00	\$136.05	\$816.30
Mike Gardner	Hr		\$166.98	\$0.00	Hir		\$166,98	\$0.00
C. Marunhao	Hr		\$171.92	\$0.00	Hr	8 00	\$171.92	\$1.375.36

Labor Charge - (Feb 6 to Mar 5, 2021)	\$39,937.56
Non-Labor Charges - (Feb 6 to Mar 5, 2021)	S1,269.58
Vol Discount at 0.0 % - (Feb 6 to Mar 5, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Feb 6 to Mar 5, 2021)	\$1,269.58
Total Invoice (S) - (Feb 6 to Mar 5, 2021)	\$41,207.14

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Mar 5, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years	AECOM	08/06/18	11/06/21	-	The DGW Permit-by-Rule Quarterly Monitoring Report - Discharge To Groundwater Permit-By-Rule Monitoring Report #11 for the Former Dover Manufactured Gas Plant Site for samples collected in late January 2021 is being prepared; Program Interest Number: 010630; Subject Item ID: DGWD0000167212
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/01/20	-	Final Draft Deed Notice files were transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legal counsel provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public roadways and railroad right-oway. As per comments received from JCP&L, AECOM revised the specific Deed Notices for East Blackwell, Sammis Ave and the railroad right-of-way on Nov 2020.
Permit Requirements Review & Procurement of Proposals for Installing Addit Recovery Wells	AECOM	09/06/20	10/28/20	11/08/20	AECOM is currently discussing with Morris County the road opening permit, as well as potential dates for commencement of the drilling activities and securing proposals for conducting monthly EFR events on the recovery wells in 2021. Morris County has indicated that a Maintenance Agreement will need to be signed for the permit issuance.
Other Various Activities	AECOM	01/02/21			Other activities currently being conducted by AECOM are: 1) After reviewing proposals from three (3) reputable vendors that perform High Resolution Site Characterization (HRSC), AECOM selected Dakota Technologies as the preferred contractor. Dakota Technologies will likely mob aquipment to the site on April 19 for performing these services. We envision the need to install 6-10 membrane interface probe (MIP) screening points to screen for DNAPL (coal tar distillate) recovery well RW-8 that we recently discovered product in. The depth of the points will need to be ~25 feet; 2) AECOM had to temporarily cease the asphalt crack filling operations on site. Activities will re-start on March 22nd; 3) AECOM prepared a 24-hr notification to NJDEP and followed up with a letter describing the need to upgrade/improve the GWTVs due to cyanide exceedance at one of the vaults. Following 24-hr notice, a letter was sent within one week; 4) The activities related to the upgrade and improvements to the GWTVs were conducted on the week ending Feb 26th by EnviroAir Technology. Stainless steel carbon drums, as well as new GAC, and new backflow preventers were installed.

Notes:

¹⁾ Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Mar 5, 2021

JCP&L Task /Subtask	URS Cost Code	Task Description and Work Order	Approved Budget (After Dai03/20)	Jan 15, 2021 COR Approval	Gurrent Approved Budget (After 01/15/21)	Total Expended to Date (Fob 5, 2021)	Spent During Reporting Ferlad (to Mar 5, 2021)	Total Expended to Date (Mar 5, 2021)	Avallabje Balonco (Mar 5, 2021)	% of Current Budget Expended
р	00000	Contractor Support Services	\$513,615.21	826,805.08	\$540,421,29	\$524,910,47	S3,359.11	\$528,299,58	\$12,122,14	98%
0.0		Contractor Support Services	\$499,174,48	\$26,60G.0B	\$525,980.56	\$510,489.58	\$3,369,*1	\$513,858.69	\$12,121,87	98%
		Biting Adjustment - Labor Discount for Invoice 437803760 severing charges from July 30 to August 26, 2616	50,00		\$0.02	5367,27		\$367,27	(\$387.27)	
Ω1		PRS Advisory Panel Meeting	\$10,001,85		\$10,301,86	\$10,301,86		\$10,301,86	\$0.00	100%
02		NJDEP PRB Presentation	\$4,138.87		\$4,136,87	\$4,139,03		\$4,139.03	\$0.27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scope of Work	53,182,945.18	\$176,370,96	\$3,359,346,14	\$3,313,245,08	\$15,212.89	\$3,328,457.97	\$30,858,17	99%
51		Pre-Design Work Plan	\$46,944,45		546,944.45	545,944,45		\$46,944.48	\$0,00	100%
5.2		Implement Pre-Design Work Plan (including Groundwater Modeling 50025)	\$458,240,96		\$458,240.96	5458,221,39		\$458,221.39	\$19.57	100%
5 3		Consulting and Design including Napture Property	\$1,081,209.28	586,276,20	\$1,167,485,49	\$1,112,802,99	\$7.57B.D0	\$1,120.380.99	\$47,104.50	96%
		Soil Dolmoston Evaluation / Permitting (7-Year Update of Well Search)	\$216,243,94		\$216,243,94	\$216,509,10		\$216,509,10	(\$265.16)	100%
	.59000	Regulatory Support and Vapor Intrusion Study	\$74,799,75		\$74,799.75	\$72,893,94		\$72,893,54	31,905.B1	97%
		Other Requested Tosks (authorized by armal, Dev Agraement with Twp of Rockaway, disposal of DNAPL Drums by Vecha, update well sourch & LSRP)	\$906,25*,78	\$63,015,10.	\$959,266,88	\$669,022,11	\$6.558.27	\$975,589,38	(16,321.50)	
	80000 Senas	Other Scope of Work Conscienations (Sparten Oil Wall • Wolfand Rovogetation as per httDFF Permit)	\$399,255.01	\$27.079.66	\$425,334,67	\$436,851,10	\$1,058.52	\$437,919,72	[911,585.05]	103%
6	00003	Procusament Assistance, Construction Oversight, and Remedial Action Report Preparation	\$796,948.46	\$0,00	\$795,948,46	\$559,572,97	\$8,607.07	5568,180,04	\$255,848.06	71%
€,1		Procurement Assistance/Design Assistance	\$31,132.14		531,132,14	528,930.95		\$28,930.95	\$2,201.19	93%
5.2		Remedial Construction Cost plus Oversight	6737,735.44		8784,815,10	\$530,337,78	\$8.507.07	\$538,944.60	\$225,870.24	70%
63		Remodel Action Report (RAR) Fragaration	\$28,080,83		528,080.88	\$0,00		\$0.00	\$28,080,88	6%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	50,00		\$0,00	\$304,23		\$304.23	(\$304.23)	
7	70000	Remedia System Initial Start-Up, Demonstration Period and Long-Term Old M	\$330,476,66	\$95,613,31	\$426,089.97	\$427,916,71	\$14,018.07	\$441,934.78	(215,644,81)	104%
2.1		Start-Up Tosting	\$5,718.00		\$6,715,00	\$0.00		\$0.00	\$6,718,00	0%
7 2		Demonstration Period	\$15,923,69		\$15,923.69	50,00		\$0.00	\$15,923.59	0%
7.3		Long-Term O&M	\$201,717,97	\$95,613,31	\$397,326,28	\$427,916,71	\$14,018,07	\$441,534,78	(344,608.50)	111%
7. A		O&M (Vanuals	55,122,00		\$5,122.00	\$0,00		\$4100	\$6,122.00	0%
	C	ONTRACT TOTALS (excluding the Garage Demolition Project):	\$4,823,985,51	\$298,790,35	\$5,122,775,06	54,825,665,22	\$41,207.14	\$4,866,872,37	\$282,981,57	95,0%
	11130307	Gärage Démoltion	\$45,130.00		\$45,130.00	\$44,212.94		\$44.212.94	\$917.06	97.0%

Notos

The \$288,790.35 COH amount is between at the CPSL Task and URS Cost Codes listed below	Amount (\$1	JCPAL TASK	URS Cost Cod
a) Contractor Support Services	525.805,08	D	0
b) Dasign Services & NJDEP Reporting (Play 2021)	566.276.20	5,3	50000
c) Other Requested Tasks inchang LSRP	\$63,015.10	5.3	59000
d) Remodial Construction Cost alus Oversight	\$27,07D,86	5.3	80000 Senes
a) Long Term Q&M	595,513,31	7.3	70000
TOTAL (S)	\$299,790.36		

Check Payment to: **URS Corporation** P.O. Box 116183 Atlanta GA 30368-6183 Wire Transfer Payment to: **URS Corporation** Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248 Swift Code: WFBIUS6S

Overnight Courler: URS Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-863-8500 Fax: 973-883-8501 www.aecom.com

Federal Tax ID No. 94-1716908

ATTN: Ms. Elaine Comings **FIRSTENERGY CORPORATION**

300 Madison Ave

Morristown, NJ 07960-6116

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438 Invoice Currency : USD

Bill through Date : 06-MAR-21 - 09-APR-21

Claudius Maranhao

Invoice Number: 2000489104 Invoice Date: 29-APR-21

Payment Term: 2/10 Net 45

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 06-MAR-21 - 09-APR-21

Labor

\$35,197.68

Non-Labor

\$106,421.26

TOTAL CURRENT INVOICE

\$141,618.94 USD

Funded Amount:

\$5,122,775.88

Bill To Date: (exclude tax)

\$5,009,094.36

Remaining Balance:

\$113,681.50

Project Number Project Name Claudius Maranhao

: 60390438 : JCP&L Dover Former MGP Site

Bill Through Date : 06-MAR-21 - 09-APR-21 Payment Term : 2/10 Net 45

Task Number : 38580312.10000		Task Name : Management Support			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	Hours	BIIL Rate	Billed Amt
Bir, Cheryl	Data Management	05-FEB-21	0.50	86.57	43.29
Bir, Cheryl	Data Management	05-MAR-21	0.75	86.57	64.93
Bîr, Cheryl	Data Management	12-MAR-21	0.50	86.57	43.29
Bir, Cheryl Bir, Cheryl	Data Management Data Management	26-MAR-21 02-APR-21	1,50 0,50	86.57 86.57	129.86 43.29
Maranhao, Claudius A	Project Manager	12-MAR-21	5.50	171,92	945.56
Maranhao, Claudius A	Project Manager	19-MAR-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	26-MAR-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	02-APR-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	09-APR-21	4.00	171.92	687.68
Total Labor Bill Rate			25.25		4,020.94
Task Total : Management Supp	ort				4,020.94
Task Number : 38580312.50010		Task Name : Design/Spec/Permit			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Pate</u>	Hours	BIII Rate	Billed Amt
Albrecht, Sherri M	Lead Scientist	12-MAR-21	0.50	166.98	83.49
Bendre, Nikita (Nikita) Craig, Marion E	Field Technician LSRP	19-MAR-21 12-MAR-21	2.00 0.50	79.14 171.92	158,28 85,96
Craig, Marion E	LSRP	12-MAR-21	0.50	171.92	85.96
Craig, Marion E	LSRP	26-MAR-21	1.00	171.92	171.92
Craig, Marion E	LSRP	02-APR-21	1.00	171.92	171.92
Craig, Marion E	LSRP	09-APR-21	0.50	171.92	85.96
DePaola, Michael	Project Scientist	09-APR-21	2.00	126.15	252.30
Friedman, Cary L	Senior Geologist	12-MAR-21	4.00	143.47	573.88
Friedman, Cary L	Senior Geologist	19-MAR-21	4.00	143,47	573.88
Friedman, Cary L	Senior Geologist	26-MAR-21	9.00	143.47	1,291.23
Friedman, Cary L	Senior Geologist	02-APR-21	8.00	143.47	1,147.76
Friedman, Cary L Johnston, Elizabeth A	Senior Geologist Project Engineer	09-APR-21 12-MAR-21	2.00 2.50	143.47 136.05	286.94 340.13
Johnston, Elizabeth A	Project Engineer	19-MAR-21	2.50 6.50	136.05	884,33
Johnston, Elizabeth A	Project Engineer	19-MAR-21	3.50	136.05	476,18
Johnston, Elizabeth A	Project Engineer	26-MAR-21	1.50	136.05	204.08
Johnston, Elizabeth A	Project Engineer	26-MAR-21	3.50	136.05	476.18
Johnston, Elizabeth A	Project Engineer	02-APR-21	13.25	136.05	1,802.66
Johnston, Elizabeth A	Project Engineer	02-APR-21	5.00	136.05	680.25
Johnston, Elizabeth A	Project Engineer	09-APR-21	7.00	136.05	952.35
Lesch, Laura L	Project Assistant	09-APR-21	6.00	71.73	430.38
Maranhao, Claudius A	Project Manager	12-MAR-21	4.50	171.92	773.64
Maranhao, Claudius A Maranhao, Claudius A	Project Manager Project Manager	19-MAR-21 26-M AR-21	4.00 5.00	171.92 171.92	687.68 859.60
Maranhao, Claudius A	Project Manager	02-APR-21	3,00	171,92	515.76
Maranhao, Claudius A	Project Manager	09-APR-21	4.00	171.92	687.68
Myers, Taralyn	Senior Scientist	12-MAR-21	0.50	143.47	71.74
Tucewicz-Thompkins, Eva	CADD	26-MAR-21	5.00	108.84	544.20
Total Labor Bill Rate			109.75	_	15,356.32
Task Total : Design/Spec/Permi	t				15,356.32
Task Number : 38580315.60050	· · · · ·	Task Name : Task6.5 Field Assgnm	**************************************	· · ·	·· ·
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	Date	<u>Hours</u>	Bill Rate	Billed Amt
Bendre, Nikita (Nikita)	Field Technician	26-MAR-21	32.00	79.14	2,532.48
Bendre, Nikita (Nikita)	Field Technician	09-APR-21	8.00	79.14	633.12
Lesch, Laura L	Project Assistant	12-MAR-21	3. <i>25</i>	71.73	233.12

Labor Bill R	1-4-					
Employee Name/Title	rate Title/Expenditure		Date	Hours	Bill Rate	Billed Amt
Lesch, Laura L	Project Assistant		19-MAR-21	1.50	71.73	
Lesch, Laura L	Project Assistant		26-MAR-21	2.75	71.73	
Libert, Stephen F	Staff Scientist		12-MAR-21	3.00	101,41	304.23
Libert, Stephen F	Staff Scientist		19-MAR-21	3.00	101.41	
Libert, Stephen F	Staff Scientist		26-MAR-21	3.00	101.41	
Libert, Stephen F	Staff Scientist		02-APR-21	3.00	101.41	
Libert, Stephen F	Staff Scientist		09-APR-21	3.00	101.41	
Maranhao, Claudius A	Project Manager		12-MAR-21	6.00	171.92	
Maranhao, Claudius A	Project Manager		19-MAR-21	6.00	171.92	
Maranhao, Claudius A	Project Manager		26-MAR-21	13.00	171.92	
Maranhao, Claudius A	Project Manager		02-APR-21	11,00	171.92	
Maranhao, Claudius A	Project Manager		09-APR-21	10,00	171.92	
Samaroo, Sunil	Staff Scientist		19-MAR-21	1.00 12.00	101.41 101.41	101.41 1,216.92
Samaroo, Sunii	Staff Scientist Staff Scientist		26-MAR-21 26-MAR-21	4.00	101.41	405.64
Samaroo, Sunil Samaroo, Sunil	Staff Scientist		09-APR-21	7.50	101,41	760.58
Samaroo, Sunii	Staff Scientist		09-APR-21	2.00	101.41	202.82
•			00741127			
Total Labor				135.00		15,820.42
Reimbursat Expenditure Type	ile Employee/Vendo <u>r N</u> ame	Date	Inv Number	Raw Cost	Multiplier	Billed Amt
Mileage	Bendre, Nikita (Nikita)	22-MAR-21	EXP7779133	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	23-MAR-21	EXP7779133	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	25-MAR-21	EXP7779133	28.00	1.0250	
Mileage	Bendre, Nikita (Nikita)	26-MAR-21	EXP7779133	28.00	1.0250	
Outside Contractors	ENVIRO AIR TECHNOLOGIES INC		2101012	87,189.00	1.0250	89,368.73
Permits	COUNTY OF MORRIS	30-MAR-21	CK161711130005	8,150.00	1.0250	8,353.75
Permits	COUNTY OF MORRIS	30-MAR-21	CK161711166411	200.00	1.0250	
Postage & Shipping	Bendre, Nikita (Nikita)	22-MAR-21	EXP7779133	13.73	1.0250	
Z01 Rental Equipment	PINE ENVIRONMENTAL SERVICES	S 04-MAR-21	US1210014948	1,145.65	1.0250	1,174.29v
Z01 Rental Equipment	LLC PAC VAN INC	05-MAR-21	18830165	116.63	1.0250	119.55
Z01 Temporary Facilities	PAC VAN INC	02-APR-21	19144310	116.63	1.0250	119.55 V
Z11 Equipment Other	PINE ENVIRONMENTAL SERVICES		US1210021791	63.81	1.0250	
Z11 Laboratory	LLC TESTAMERICA LABORATORIES	02-FEB-21	4600063024	4,346.00	1.0250	4,454.65
E11 Caporatory	INC	0212521	,0000002.	1,5 10100	110-01	
Z11 Laboratory	TESTAMERICA LABORATORIES	08-MAR-21	4600064609	1,030,00	1.0250	1,055.75
Z11 Laboratory	TESTAMERICA LABORATORIES	10-MAR-21	4600064769	750.00	1.0250	768.75 V
Z14 Material Handling	INC PINE ENVIRONMENTAL SERVICES	07 MAD 04	US1210021645	592.17	1.0250	606.97 🗸
214 Material Harlowing	LC	3 27-140-11-21	051210021040	002.11	1,0200	000.077
Total Reimb	oursable			103,825.62		106,421.26
Task Total : Task6	.5 Field Assgnm					122,241.68
Project Total : JCP&L Do	ver Former MGP Site					141,618.94
Invoice Sun Total Current Amount :	nmaries					141,618.94
Retention Amount:						0.00
Pre-Tax Amount:						141,618,94
, <u> </u>						
Total Invoice Amount :						141,618.94
Billing Sum	marios					
Billing Summary	Current	<u>Prior</u>	<u>Total</u>	L	imit	Remain
Billings	141,618.94	4,867,475.42	5,009,094.36	5,122,77	5.86	113,681.50
Tax	0.00	0.00	0.00	-,,-		
		·				
Billing Total:	141,618.94	4,867,475.42	5,009,094.36			
Autota di	- Invelor					
Outstanding Invoice Number	a Magices		Invoice Date			Invoice Balance
2000474730			19-MAR-21			41,207.14
2000469380			05-MAR-21			70,398.37
Outstanding	g Total :					111,605.51

SES# 1122193324	fax# 3-8046959
APPROV	ALSTAMP
P.O. NO. 48007282	INV. NO. 2000489104
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (GL ACCT	550300
ORDER: 300/019	WBS:
APPROVED BY:	EMP. NO.

E. Comings c4939 6/22/2021 Approved For \$ 141,618.94



973 883 8500 tel 973 883 8501 fax

April 28, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 148 - Mar 6 to Apr 9, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 141,618.94 for professional services rendered on the subject project for the period ending Apr 9, 2021. Services rendered during the Mar 6, 2021 to the Apr 9, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 6500 tel 973 883 8501 fax

April 28, 2021

Ms. Elaine Comings

Project Manager – Site Remediation

Jersey Central Power & Light

300 Madison Avenue

Morristown, NJ 07962

Re:

Invoice No. 148 - Mar 6 to Apr 9, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from March 6 to April 9, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Mar 6 to Apr 9, 2021)	\$35,197.68
Non-Labor Charges - (Mar 6 to Apr 9, 2021)	\$106,421,26
Vol Discount at 0.0 % - (Mar 6 to Apr 9, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Mar 6 to Apr 9, 2021)	\$106,421,26
Total Invoice (\$) - (Mar 6 to Apr 9, 2021)	\$141,618.94

As we start 2021, the AECOM labor volume discount was reset to zero and will increase accordingly as we reach labor milestones in 2021. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include construction oversight of the improvements to the groundwater treatment vaults (GWTVs), O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, O&M activities related to the asphalt pavement (crack filling), additional efforts related to the new area of concern associated with RW-8, and activities related to the preparation of the design drawings, bid specifications, and procurement for the demolition of the Neptune Building.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Apr 9, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,008,491.31 of project charges which amount to approximately 97.8 % of the current authorized contract amount of \$5,122,755.86 (excluding the contract amount of \$45,130 for the Garage Demolition Project).

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity

APPENDIX A

Summary of Project Charges by Project Task / Project Activity
Progress Report No. 148 – through Apr 9, 2021
JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438 Page 1 of 2

JCP&L Services (93/06/21 to	Charg	ed to Contract Task D		ervices	Charge		VP or Constr C or Task 6/6000	
04/09/21)	Unit	Quantity	Rate (S)	Cost (S)	Unit	Quantity	Rate (\$)	Cost (S)
1) Task 1 - Project Invo	icing, Pro	ect Managem	ent, RFP Pac	ange, Bid Revi	ews, GC Se	lection & Per	mit Meetings	
Kit Williams	Hr		\$180.58	\$0.00	Hr	1	\$180.58	\$0.00
C. Maranhao	Hr	21.50	\$171.92	\$3,696.28	Hr	i	\$171.92	\$0.00
Alexandru Giuroin	Hr		586.57	\$0.00	Hr		586.57	50,00
Alina Manolache	Hr		\$71.73	\$9.00	Hr	i	\$71.73	\$0.00
Chris Vargo	Hr		586.57	50.00	Hr	1	\$86.57	\$0.00
Cheryl Bir	Hr	2.25	586.57	\$194.78	Hr	1	\$86.57	\$0.00
L. Lesch	Hr	2.00	\$71.73	\$143.46	Hr	1	\$71.73	\$0.00
Subtotal for (1)		25.75		\$4,034.52		0.00	-	\$0,00
2) Task 2 - On-Site Con	struction		GWTVs & Ta		phalt Pavir	1	kita Bendre	
C. Maranhao	Hr	Total Maria	\$171.92	\$0.00	Hr	8.00	5171.92	\$1,375.36
Nikita Bendre	Hr		579.14	\$0.00	Hr	32.00	\$79.14	\$2,532.49
Subtotal for (2)		0.00	377.11	0.00		40.00		\$3,907.85
Mileage		4.00	\$0.00	\$0.00	-	1.0250	584.00	\$86.10
EnviroAir Technology		1	50.00	\$0.00		1.0250	\$87,189,00	\$89,368.73
Travel All Other	-	i	\$0.00	\$0.00		1.02.0	\$0.00	50.00
Exp Subtotal for (2)			30.00	\$0.00			20109	\$89,454.83
3) Task 3 - DGW Permi	e Du Dula	CWTV Mont	towing and O		Pacavart M	ernt and DNA	Pl. Gaurina of	
C. Maranhao	Hr	, 67 11 (110)11	\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.68
		1	_	\$0.00	Hr	4.00	\$143.47	\$0.00
Cury Friedman	Hr		\$143.47			0.00		\$1,088,40
Elizabeth Johnston	Hr	1	\$136.05	\$0.00	Hr	8.00	\$136.05	\$0:00
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	2650	\$136.05	Y
Sunil Samaroo	Hr		\$101.41	\$0.00	Hr	26,50	\$101.41	\$2,687.38
Stephen Liebert	Hr		\$101.41	\$0.00	Hr	1 000	5101.41	50.00
Nikita Bendre	Hr	_	\$79.14	\$0.00	Hr	8,00	579.14	5633.12
Jay Patel	Hr	_	\$79,14	\$0.00	Hr	100	\$79.14	\$0.00
L. Lesch	Hr		\$71.73	\$0.00	Hr	3.00	\$71.73	\$215,19
Subtotal for (3)		0.00		\$0.00		49.50	220.00	\$5,311.77
Mileage & Cor Rental			\$0.00	\$0.00		1.0250	\$28.00	\$28,70
NES - Backflow Presente	ers		\$0.00	\$0.00			\$0.00	\$0.00
Field Supplies/Matls			50.00	\$0.00		-	50.00	\$0.00
Pine Envil Svcs			\$0.00	50.00		1.0250	51,801.63	\$1,846,67
Test America Lubs			\$0.00	50.00		1.0250	\$6,126.00	\$6,279.15
GCC Envil (DNAPL pain	ps)		\$0.00	50.00			50.00	\$0.00
Temp Fac - PAC VAN Inc	:		\$0.00	\$0.00		1.0250	\$233.26	\$239.09
Misc - Allowables			\$0.00	\$0,00			\$0.00	\$0.00
Travel - All Others		1	\$0.00	50.00			\$0.00	\$0.00
Exp Subtotal for (3)		1		\$0.00				\$8,393.61
4) Task 4 - Engineering	Design &	RW8 Analan	and East Blac	kwell Investig	ations & M		Road Opening.	
C. Maranhao	Hr		\$171.92		Hr	21.50	\$171.92	\$3,696.29
Cary Friedman	Hr		\$143.47		Flr	16.00	\$143.47	
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	30.00	\$136.05	\$4,081.50
Eva Tucewicz	Ilr		\$108.84	\$0.00	Hr	5.00	\$108.84	\$544.20
Cheryl Bir	Hir		\$86.57	\$0.00	Hr	1.50	\$86.57	\$129.86
Pablo Ruiz	ŀŀr		\$86.57	\$0.00	Hr		586.57	\$0.00
Susan Beatie	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Laura Lesch	Нr		\$71.73	50.00	Hr	3.00	\$71.73	\$215.19
Labor Subtotal for (4)		0.00		\$0.00		77.00		\$10.962.56
Permits			\$0.00	\$0,00		1.025	\$8,350.00	\$8,558.75
US Post Office & FEDE	X		\$0.00	\$0.00		1.025	\$13.73	\$14.07
Travel All Others			\$0.00	\$0.00			\$0,00	\$0.00
Exp Subtatal for (4)		1		50.00				\$8,572.82

Page 2 of 2

	Tot		r Charges (S) TOTAL (S)	\$0.00	Te		or Charges (S)	
		Total Labo	r Charges (S)	\$4,034.52		Total Lab	or Charges (S)	\$31,163.16
* /	HOURS	25.75	TOTAL (S)	\$4,034.52	HOURS	244.25	TOTAL (S)	\$31,163.16
Subtotal for (9)		0.00		\$0.00		17.00		52,359.24
Laura Lesch	Hr		571.73	\$0.00	Hr	2.50	\$71.73	\$179.33
Eva Tucewicz	Hr	1	\$108.84	\$0.00	Hr		\$108.84	
Cary Friedman	Hr		\$143.47	\$0.00	Hr	11.00	5143.47	\$1,578.19
Mike Akerbergs	Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00
Peter Naumoff	Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00
Marion Craig	Hr		\$171.92	\$0.00	Hr	3.50	\$171.92	S601.72
8) Task 8 - LSRP Char	ges							
Exp Subtotal for (7)				\$0,00				50.00
US Post Office & FEDE	X		50,00	\$0.00			\$0.00	\$0.00
Enviroscape		1	50.00	\$0.00			\$0.00	50.00
Supplies / Materials			\$0.00	\$0.00			\$0.00	20.00
Mileage & Car Rental			00.00	00.02		,	00.02	00.02
Subtotal for (7)		0.00		\$0.00		2.50		\$363.01
L. Lesch	Hr		\$71.73	\$0,00	Hr	0.50	\$71.73	\$35,87
J. Keil	Hr		\$79.14	\$0.00	Hr		579.14	\$0.00
Robert Ferrante	Hr	-	\$126.15	\$0.00	Hr		\$126,15	\$0.00
T. Meyers	Hr		\$143.47	\$0.00	Hr	0.50	S143.47	\$71.74
5. Albrecht	Hr		\$166.98	\$0.00	Hr	0.50	\$156.98	\$83,49
C. Maranhao	Hr		S171.92	\$0.00	Hr	1.00	\$171.92	\$171.92
7) Task 7 - NJDEP Mit	igation Plan	Revegetat	ion & Permitt					-
Exp Subtotal for (6)			1	\$0.00				\$0.00
Travel All Others		1	\$0.00	\$0.00			\$0.00	\$0.00
Supplies & Matls			\$0.00	\$0.00		-	\$0.00	\$0.00
Car Rental			\$0.00	\$0.00			\$0.00	\$0.00
Mileage		0.00	\$0.00	\$0.00		20.23	\$0.00	\$0.00
Subtotal for (6)	(1)	0.00	3/1./3	\$0.00	10	28.25	211.13	\$3,578.61
Stephen Libert Laura Lesch	Hr		\$71.73	\$0.00	Hr	0.50	\$71.73	\$35.87
	Hr		\$101.41	\$0.00	Hr	15.00	\$130.03	
E. Johnston	Hr		\$136.05	\$0.00	Hr	4.75	\$136.05	\$646.24
C. Maranhao	Hr	versugue oc	\$171.92	\$0.00	Hr.	8.00	\$171.92	\$1,375.36
Exp Subtotal for (5) 6) Task 6 - Other Tasks	(DMARI O	manials 6.1	DWART Down I		alia P. France	us Parkustadul		\$0.00
Travel All Others		_	\$0.00	\$0.00	_		30.00	\$0.00
US Post Office & FEDE		1		\$0.00			\$0.00	\$0.00
Permits	v		\$0.00	\$0.00			\$0.00	\$0.00
	-	0.00	\$0.00	\$0.00		30.00	\$0.00	\$0.00
Subtotal for (5)	411	0.00	371.73	00.02	411	30.00	371.13	\$4,680.13
Laura Lesch	Hir		571.73	\$0.00	Hr	2.00	\$71.73	\$143.46
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	2.00	\$79.14	3158.28
Mike DePaola	Hr		\$126.15	\$0.00	Hr	2.00	5126.15	\$252.30
E. Johnston	Hr		\$136.05	\$0.00	Hr		\$136.05	\$0.00
C. Maranhao	Hr		\$171.92	\$0.00	Hr	24.00	\$171.92	\$4,126.09

Labor Charge - (Mar 6 to Apr 9, 2021)	\$35,197.68
Non-Labor Charges - (Mar 6 to Apr 9, 2021)	\$106,421.26
Vol Discount at 0.0 % - (Mar 6 to Apr 9, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Mar 6 to Apr 9, 2021)	\$106,421.26
Total Invoice (S) - (Mar 6 to Apr 9, 2021)	\$141,618.94

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Apr 9, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quencity Sampling Event of the Monitoring Wells & Groundwater Treatment Youts (GWTV) - 2 Years & Manual DNAPI, Recovery and DNAPI, Gauging	AECOM	D8/06/18	11/06/21		On March 25 and 26, 2021, AECOM performed the manual ONAPL recovery and DNAPL gauging of selected recovery wells.
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	05/01/20	12/01/20	-	Final Draft Deed Notice files were transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legat counsel provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public readways and relivoud right-of way. As per comments received from JCP&L AECOM revised the specific Deed Notices for East Blackwell, Sammis Avo and the rulinead right-of-way on Nov 2020. Additional discussions are taking place to assess the need to collect meter and bounds for the impacted portion of undeeded properties such as railroad lines and roads.
Point Requirements Review & Procurement of Proposals for Installing Addit Recovery Wells	AECOM	09/06/20	10/28/20	04/14/21	On Apr 14, 2021, Morns County signed the mad opening permit and authorized the installation of additional geoprobe borings (8) and recovery wells (4) on East Blackwel St. Geoprobe and drilling activities are scheduled to start on April 19, 2021.
Demonstrant of the Neptune Property Bldg	AECOM	09/06/20	10/28/20	06/06/21	On Mar 15, 2021 a request for proposal (RFP) was distributed to selected contractors via email with an original bid submittal date of Apr 2, 2021, which was later postponed to Apr 8, 2021. The contractors invited to bid were EnviroAir Technology (EAT), Code Environmental Services (Code), and Parrither Technologies (Panther). A mandatory pro-bid site walk, after issuance of the RFP package, was held on Mar 23, 2021. Following the mandatory site visit, Contractors submitted ruestions on the site visit and/or RFP requirements, which were respected by AECOM to all Contractors. Attachment B list all communications between AECOM and the Bidders during the bid process. Contractors submitted their Bid package to AECOM on April 8, 2021.
RW-8 Analan Property & East Blackwell Investigations	AECOM	09/06/20	10/28/20	11/06/20	Proposals were submitted by three contracters to perform a High Resolution Six Characterization (HRSC) using an optical imaging profiler with a green laser diode light at the Anatan property and also at East Blackwell St. Dakota Technologies and SGS North America were selected to conduct the HRSC investigations which will commence on April 19, 2021.
Other Various Activities	AECOM	a 1/02/21			Other activities currently being conducted by AECOM are: 1) Due to weather delays, the asphalt crack filling operations conducted by K&M Contractors were completed on Agr 5, 2021; 2) AECOM prepared and submated spent carbon profile forms to Evoqua Water Technologies (Evoqua). Following submitted of the forms and at the request of Evoqua, AECOM collected two one-quart samples of the spent carbon for chemical analytical testing at the Evoqua L&; 3) Together with JCP&L, AECOM is altempting to coordinate with Ventra, the disposal of the drums with DNAPL recovered product.

Notes:

1) Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.

2) Agr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and else the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Apr 9, 2021

JCP&L Task (Sublask	URS Cost Code	Task Description and Work Griler	Approved Budget (After 09/03/20)	Jan 15, 2021 COR Approval	Approved Budget (After 02/13/21)	Total Expended to Date (Mar 5, 2021)	Spent During Reporting Pariod (to Apr 9, 2021)	Total Expended to Date (Apr 9, 2021)	Available Balance (Apr 9, 2021)	% of Current Budget Expended
0	00000	Contractor Support Services	\$513,615,21	\$26,806.08	\$540,421.29	\$528,299.58	\$4,034.52	\$532,334.10	\$8,087.62	99%
00		Contractor Support Services	\$499,174.48	\$26,808,08	\$525,980.56	\$513,858.69	\$4,034.52	\$517,893.21	\$8,087.35	98%
		Billing Adjustment - Linber Discount for Invoice #37902750 covering charges from July 30 to August 26, 2016	\$6.00		50.00	\$367.27		\$367.27	(\$367.27)	
0.1		PRS Advisory Pariot Meeting	\$3.10,301.88		\$10,301.88	\$10,301.86		\$10,301.86	\$0.00	100%
02		NUDSP PRB Presentation	\$4,138.87		\$4,138.87	\$4,139,03		94, 139 05	\$0.27	100%
5	50000	Pro-Design, Pilot Study, RAWP & Other Scope of Work	\$3,182,945.18	\$176,370.95	\$3,359,318.14	\$3,328,457.07	\$30,616,36	\$3,358,974.33	\$341,81	100%
51		Pre-Design Work Plan	\$46,944.45		546,944.45	\$46,944,45		\$46,944.45	\$0.00	100%
52		Implement Pre-Dealgn Work Plan (including Groundwater Modeling 5002h)	54 58,240,98		\$458,240.96	5458,221.39		\$458,221.39	\$19.57	100%
5.3		Consulting and Design including Neptune Property	\$1,081,209.29	\$85,275,20	\$1,167,485.49	\$1,120,380.99	\$24,215.50	\$1,144.596.49	\$22,859,00	98%
		Soil Defineation Evaluation / Permitting (2-Year Update of Well Search)	5216,243.94		\$216,243.94	\$216,509,10		\$216,509.10	(\$265.16)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,799.75		\$74,799.75	\$72,893.04		\$72,893.94	\$1,905.81	27%
		Other Requested Tasks (authorized by email, Dev Agreement with Twp of Rocksway, disposal of DNAPL Drums by Veolib, update wall search & LSRPs	5908,251,78	\$63,015,10	5969,266,86	5975,588,38	\$5,937.85	\$981,526.23	(\$12,259.35)	
	80000 Sarias	Other Scope of Work Constitutations (Sporter Oil Was * Wetland Revelopments per NJDEP Permit)	\$399,255.01	\$27,070.65	\$426,331.67	\$437,919.72	\$363.01	\$438,282.73	(\$11,940,96)	103%
6	60000	Procurement Assistance, Construction Oversight, and Remedial Action Report Preparation	\$798,948.46	\$0.00	\$796,948.46	\$568,180.04	\$93,362.68	\$661,542.72	5162,485.40	83%
Ð:1		Procurement Assistance/Design Assistance	\$31,132.14		\$31,132.14	\$28,930.95		828,930.95	\$2,201.19	93%
fi.2		Remedial Construction Cost plus Oversight	\$737,735.44		\$764,815.10	\$538,944.86	593,362.68	\$632,307,54	\$132,507.56	83%
6.3		Remodial Action Report (RAR) Preparation	\$28,080,68		\$28,080.88	\$0,00		\$0.00	\$28,080.88	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304,23		\$304.23	(\$304,23)	
7	70000	Remedial System initial Start-Up, Demonstration Period and Long-Term D&M	5330,476.66	\$95,813.31	\$426,089.97	\$441,934.78	\$13,705.38	\$455,640.16	(\$29,550.19)	107%
7:1		Start-Up Testing	\$6,718.00		\$6,718.00	\$0,00		\$0.00	\$6,748.00	0%
7.2		Demonstration Period	\$15,923.69		\$15,923.69	\$0,00		\$0.00	\$15,923.69	0%
7.3		Long-Term Q&M	\$301,712.97	\$95,613.31	\$397,326.28	5#41,934,7B	\$13,705.38	\$455,640,16	(\$50,313.68)	115%
7.4		O&M Manuals	\$6,122.00		\$6,122.00	\$0.00		\$0.00	\$6,122.08	0%
	C	ONTRACT TOTALS (excluding the Garage Demolition Project):	\$4,823,985,51	\$298,790.35	\$5,122,775.86	\$4,866,872,37	\$141,618,94	\$5,009,491,31	\$141,364.63	97.8%
	11130307	Garege Demotision	\$45,130.00		\$45,130.00	\$44,212,94		544,212,94	\$917.06	97.0%
		CONTRACT TOTALS:	\$4,869,115,51	\$298,790,35	\$5,167,905.86	\$4,911,085,31	\$141,618.94	\$5,052,704.25	\$142,281.69	97.8%

Check Payment to: URS Corporation P.O. Box 116183 Atlanta GA 30368-6183 Wire Transfer Payment to: URS Corporation Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248 Swift Code: WFBIUS6S Overnight Courier: URS Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501 www.aecom.com

Federal Tax ID No. 94-1716908

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION

300 Madison Ave

Morristown, NJ 07960-6116

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Please reference Invoice Number and Project Number with Remittance

Project Number: 60390438 Invoice Currency: USD

Bill through Date : 10-APR-21 - 07-MAY-21

Claudius Maranhao

Invoice Number: 2000497488 Invoice Date: 20-MAY-21

Payment Term: 2/10 Net 45

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 10-APR-21 - 07-MAY-21

Labor

\$47,316.60

Non-Labor

\$15,097.18

TOTAL CURRENT INVOICE

\$62,413.78 USD

Funded Amount:

\$5,122,775.86

Bill To Date: (exclude tax)

\$5,071,508.14

Remaining Balance:

\$51,267.72

Project Number : 6 Project Name : J Claudius Maranhao

: 60390438

: JCP&L Dover Former MGP Site

Bill Through Date : 10-APR-21 - 07-MAY-21 Payment Term : 2/10 Net 45

Task Number : 38580312.10000	Task Name	: Management Support			
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	Hours	Bill Rate	Billed Am
Bir, Cheryl Bir, Cheryl	Data Management Data Management	23-APR-21 30-APR-21	2.25 1.00	86.57 86.57	194.78 86.57
DePaola, Michael	Project Scientist	23-APR-21	8.00	126.15	1.009.20
Giuroiu, Alexandru	GIS/Data Management	16-APR-21	1.50	86.57	129.86
Giuroiu, Alexandru	GIS/Data Management	07-MAY-21	1.00	86.57	86.57
Maranhao, Claudius A	Project Manager	16-APR-21	4.00	171.92	687,68
Maranhao, Claudius A	Project Manager	23-APR-21	4.00	171.92	687.68 687.68
Maranhao, Claudius A Maranhao, Claudius A	Project Manager Project Manager	30-APR-21 07-MAY-21	4.00 4.00	171.92 171.92	687.66
Way, Dale W (Pete)	Senior Scientist	16-APR-21	2.50	143.47	358.66
Total Labor Bill Rate			32.25	_	4,616.38
Task Total : Management Suppor	ŧ				4,616.38
Task Number : 38580312,50010	Task Name	: Design/Spec/Permit			
Labor Bill Rate Employee Name/Title	Title/Expenditure	Date	Hours	Bill Rate	Billed Amt
Craig, Marion E	LSRP	16-APR-21	1.00	171.92	171.92
Craig, Marion E	LSRP	30-APR-21	0.50	171.92	85.96
Friedman, Cary L	Senior Geologist	16-APR-21	8.00 6.00	143.47 143.47	1,147.76 860.82
Friedman, Cary L Lesch, Laura L	Senior Geologist Project Assistant	30-APR-21 16-APR-21	5.75	71.73	412.45
Lesch, Laura L	Project Assistant	23-APR-21	0.25	71.73	17.93
Maranhao, Claudius A	Project Manager	16-APR-21	5.00	171.92	859.60
Maranhao, Claudius A	Project Manager	23-APR-21	2.00	171.92	343.84
Maranhao, Claudius A	Project Manager	30-APR-21	3.00	171.92	515.76
Maranhao, Claudius A	Project Manager LSRP	07-MAY-21 16-APR-21	3.00 1.00	171.92 171.92	515.76 171.92
Naumoff, Peter G Naumoff, Peter G	LSRP	23-APR-21	2.00	171.92	343.84
Naumoff, Peter G				171.92	85.96
· Andrewson () with the	LSRP	30-APR-21	0.50	171.92	00.00
Total Labor Bill Rate	LSRP	30-APR-21	38.00	171.92	5,533.52
	LSRP	30-APR-21		171.92	
Total Labor Bill Rate Task Total : Design/Spec/Permit				171.92	5,533.52
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050		30-APR-21		171.52	5,533.52
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate	Task Name	: Task6.5 Field Assgnm	38.00	_	5,533.52 5,533.52
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title	Task Name	: Task6.5 Field Assgnm Date	38.00	Bill Rate	5,533.52
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita)	Task Name	: Task6.5 Field Assgnm	38.00 Hours 1.25 40.00	_	5,533.52 5,533.52 Billed Amt
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita)	Task Name <u>Titte/Expenditure</u> Project Assistant	: Task6.5 Field Assgnm Date 16-APR-21 16-APR-21 16-APR-21	38.00 Hours 1.25 40.00 9.00	Bill Rate 71.73 79.14 79.14	5,533.52 5,533.52 Billed Ami 89.66 3,165.60 712.26
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita)	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician	: Task6.5 Field Assgnm Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00	Bill Rate 71.73 79.14 79.14 79.14	5,533.52 5,533.52 8,533.52 Billed Am 89.66 3,165.60 712.26 2,057.64
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist	: Task6.5 Field Assgnm Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00	Bill Rate 71.73 79.14 79.14 79.14 126.15	5,533.52 5,533.52 8,533.52 Billed Ami 89.66 3,165.60 712.26 2,057.64 1,009.20
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Field Technician Project Scientist Project Scientist	: Task6.5 Field Assgnm Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15	5,533.52 5,533.52 8illed Ami 89.66 3,165.60 712.26 2,057.64 1,009.20
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist	: Task6.5 Field Assgnm Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00	Bill Rate 71.73 79.14 79.14 79.14 126.15	5,533.52 5,533.52 5,533.52 89.66 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738.80
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist	Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21 07-MAY-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 5.00 40.00 6.50	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47	5,533.52 5,533.52 5,533.52 8,66 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738.80 932.56
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Criedman, Cary L Friedman, Cary L Humerick, Zachary L	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Project Englneer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 07-MAY-21 23-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 5.00 40.00 6.50 4.00	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05	5,533.52 5,533.52 5,533.52 8,66 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738.80 932.56 644.20
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Criedman, Cary L Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Project Engineer Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 07-MAY-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 40.00 6.50 4.00 14.00	Bill Rate 71.73 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05	5,533.52 5,533.52 5,533.52 8,66 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738.80 932.56 644.20 1,904.70
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattle, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A Johnston, Elizabeth A	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Project Engineer Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21 07-MAY-21 23-APR-21 23-APR-21 16-APR-21 16-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 40.00 6.50 4.00 14.00 0.50	Bill Rate 71.73 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05	5,533.52 5,533.52 5,533.52 8,656 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738. 932.56 544.20 1,904.70 68.03
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Friedman, Cary L Johnston, Elizabeth A Johnston, Elizabeth A	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Field Technician Froject Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Senior Geologist Project Engineer Project Engineer Project Engineer Project Engineer Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 07-MAY-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 40.00 6.50 4.00 14.00	Bill Rate 71.73 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05	5,533.52 5,533.52 5,533.52 89.66 3,165.66 712.26 2,057.64 1,009.20 630.75 5,738.86 932.56 644.20 1,904.70 68.03 374.14
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A Johnston, Elizabeth A Johnston, Elizabeth A Johnston, Elizabeth A	Task Name Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Project Engineer Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 23-APR-21 07-MAY-21 23-APR-21 07-MAY-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 6.50 4.00 14.00 0.50 2.75 1.00 5.00	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05 136.05	5,533.52 5,533.52 5,533.52 89.66 3,165.60 712.26 2,057.64 1,009.20 630.75 5,738.80 932.56 644.20 1,904.70 680.25 680.25
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A	Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Senior Geologist Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21 23-APR-21 23-APR-21 16-APR-21 16-APR-21 23-APR-21 30-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 5.00 4.00 14.00 0.50 2.75 1.00 5.50	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 126.05 136.05 136.05 136.05 136.05 136.05	5,533.52 5,533.52 5,533.52 Billed Am 89.66 3,165.60 712.26 2,057.64 1,009.20 630.75 5,738.80 932.56 544.20 1,904.70 68.03 374.14 136.00 680.25 748.20
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A	Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Senior Geologist Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 16-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 30-APR-21 30-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 5.00 4.00 14.00 0.50 2.75 1.00 5.00 5.50 7.75	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05 136.05 136.05 136.05	5,533.52 5,533.52 5,533.52 Billed Ami 89.66 3,165.60 712.26 2,057.64 1,009.20 630.75 5,738.80 932.56 644.20 1,904.70 68.03 374.11 136.06 680.25 748.28 1,054.38
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Cebula, Robert Ciebula,	Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Froject Scientist Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Senior Geologist Project Engineer Project Assistant	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 30-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 5.00 40.00 6.50 4.00 14.00 0.50 2.75 1.00 5.50 7.75 3.75	8ill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05 136.05 136.05 136.05 136.05	5,533.52 5,533.52 5,533.52 8,66 3,165.60 712.26 2,057.64 1,009.20 1,009.20 630.75 5,738.80 932.56 644.20 1,904.70 68.03 374.14 136.05 680.25 748.26 1,054.35 268.95
Total Labor Bill Rate Task Total : Design/Spec/Permit Task Number : 38580315.60050 Labor Bill Rate Employee Name/Title Beattie, Susan Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Bendre, Nikita (Nikita) Cebula, Robert Cebula, Robert Cebula, Robert Cebula, Robert Friedman, Cary L Humerick, Zachary L Johnston, Elizabeth A	Titte/Expenditure Project Assistant Field Technician Field Technician Field Technician Project Scientist Project Scientist Project Scientist Senior Geologist Senior Geologist Senior Geologist Project Engineer	Date 16-APR-21 16-APR-21 16-APR-21 16-APR-21 23-APR-21 23-APR-21 30-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 16-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 23-APR-21 30-APR-21 30-APR-21	38.00 Hours 1.25 40.00 9.00 26.00 8.00 8.00 5.00 4.00 14.00 0.50 2.75 1.00 5.00 5.50 7.75	Bill Rate 71.73 79.14 79.14 79.14 126.15 126.15 126.15 143.47 143.47 136.05 136.05 136.05 136.05 136.05	5,533.52 5,533.52 Billed Ami 89.66

Labor Bill Ra	ate					
Employee Name/Title	<u>Title/Expenditure</u>		<u> Oate</u>	<u>Hours</u>	Bill Rate	Billed Amt
Libert, Stephen F	Staff Scientist		07-MAY-21	3.00	101.41	304.23
daranhao, Claudius A	Project Manager		16-APR-21	11.00	171.92	1,891.12
Maranhao, Claudius A	Project Manager		23-APR-21	16.00	171.92	2,750.72
Maranhao, Claudius A	Project Manager		30-APR-21	10.00	171.92	1,719.20
Maranhao, Claudius A	Project Manager		07-MAY-21	15.00	171.92	2,578,80
Murphy, Brendan A	Senior Staff Scientis	it	07-MAY-21	2.50	122.33	305.83
Ruiz, Pablo C	Data Management		16-APR-21	3.25	86.57	281.35
Ruiz, Pablo C	Data Management		30-APR-21	0.25	86.57	21.64
Samaroo, Sunil	Staff Scientist		16-APR-21	40.00	101.41	4,056.40
Samaroo, Sunil	Staff Scientist		16-APR-21	9.50	101,41	963.40
Samaroo, Sunil	Staff Scientist		23-APR-21	6.00	101.41	608.46
Total Labor	Bill Rate			310.25		37,166.70
Reimbursabl		D-4-	lane Maranta a a	Daw Cont	Marial-Mar	Dillod Ame
Expenditure Type	Employee/Vendor Name	Date	Inv Number	Raw Cost	Multiplier	Billed Amt
Car Rental	Samaroo, Sunil	27-MAR-21	EXP7793719 EXP7793719	125.13 458.80	1.0250 1.0250	128.26
Car Rental	Samaroo, Sunil	19-APR-21		20.23	1.0250	470.27 • 20.74 •
Field Supplies	Samaroo, Sunil	26-MAR-21	EXP7754061 EXP7808413	20.23 37.87	1.0250	38.82
Materials	Samaroo, Sunil	13-APR-21 16-APR-21	EXP7803083	101.85	1.0250	104.40
Materials	Friedman, Cary L			1.5	5,	
Alleage	Bendre, Nikita (Nikita)	12-APR-21	EXP7795596	28.00	1.0250 1.0250	28.70 28.70
dileage	Bendre, Nikita (Nikita)	13-APR-21	EXP7795598	28.00		
Vileage	Bendre, Nikita (Nikita)	14-APR-21	EXP7795596	28.00	1.0250	28.70
Mileage	Bendre, Nikita (Nikita)	15-APR-21	EXP7795596	28.00	1.0250	28.70
Mileage	Bendre, Nikita (Nikita)	16-APR-21	EXP7795596	28.00	1.0250	28.70
Vileage	Bendre, Nikita (Nikita)	19-APR-21	EXP7795596	28.00	1.0250	28.70
Mileage	Friedman, Cary L	19-APR-21	EXP7803083	39.20	1,0250	40.18
Mileage	Bendre, Nikita (Nikita)	20-APR-21	EXP7795596	28.00	1.0250	28.70
Mileage	Friedman, Cary L	20-APR-21	EXP7803083	39.20	1.0250	40.18
Mileage	Friedman, Cary L	21-APR-21	EXP7803083	39,20	1.0250	40.18
Mileage	Friedman, Cary L	22-APR-21	EXP7803083	39.20	1.0250	40.18
Mileage	Friedman, Cary L	23-APR-21	EXP7803083	39.20	1.0250	40.18
Miscellaneous - Allowable	Samaroo, Sunil	15-JAN-21	EXP7754061	538.03	1.0250	551.48
Miscellaneous - Allowable	Samaroo, Sunil	07-FEB-21	EXP7754061	538.07	1.0250	551.52
Miscellaneous - Allowable	Samaroo, Sunil	24-FEB-21	EXP7754061	538.07	1.0250	551.52
Miscellaneous - Allowable	Bendre, Nikita (Nikita)	13-APR-21	EXP7795596	4.58	1.0250	4.69
Miscellaneous - Allowable	Bendre, Nikita (Nikita)	14-APR-21	EXP7795596	4.58	1.0250	4.69
Miscellaneous - Allowable	Bendre, Nikita (Nikita)	15-APR-21	EXP7795596	6.87	1.0250	7.04
Miscellaneous - Allowable	Bendre, Nikita (Nikita)	16-APR-21	EXP7795596	6.87	1.0250	7.04
Miscellaneous - Allowable	Samaroo, Sunii)	23-APR-21	EXP7808413	1,177.03	1.0250	1,206.46
		01-MAY-21	EXP7814773	3,067.24	1.0250	3,143.92
Miscellaneous - Allowable	Samaroo, Sunil		and the second s	34.20	1,0250	35.06
Travel All Other	Samaroo, Sunil	24-FEB-21	EXP7754060	40.00	1.0250	41.00
Travel All Other	Samaroo, Sunil	13-APR-21	EXP7808422			61.50
Fravel All Other	Samaroo, Sunii	16-APR-21	EXP7808422	60.00	1.0250	1.64
201 Safety	PREMIER SAFETY	26-APR-21	04193399	1.60	1.0250	
Z01 Safety	PREMIER SAFETY	27-APR-21	04193492	15.22	1.0250	15.60
Z01 Site Suplies Expenses	MCMASTER CARR SUPPLY CO	22-APR-21	57102667	100.01	1.0250	102.52 +
Z10 Storage	PAC VAN INC	30-APR-21	19459733	116.63	1.0250	119.55
Z11 Equipment Other	PINE ENVIRONMENTAL SERVICE	ES 24-APR-21	US1210029254	2,372.06	1.0250	2,431.36
Z11 Laboratory	TESTAMERICA LABORATORIES	22-APR-21	4600067571	704.50	1.0250	722.11 v
Z11 Laboratory	TESTAMERICA LABORATORIES	27-APR-21	4600067886	4,267.50	1.0250	4,374.19✓
Total Reimbi				14,728.94	_	15,097.18
Task Total : Task6.	5 Field Assgnm					52,263.88
Project Total : JCP&L Do	er Former MGP Site					62,413.78
Invoice Sum Fotal Current Amount :	imaries					62,413.78
Retention Amount : Pre-Tax Amount :						0.00 62,413.78
Total Invoice Amount:					-	62,413.78
Billing Summary	naries Current	Prior	Total	L	ímit	Remain
Billings	62,413.78	5,009,094.36	5,071,508.14	5,122,77		51,267.72
Tax	0.00	0.00	0.00	-,,		
	0.00	3.00	0.00			

Billing Summaries Billing Summary	Current	Prior	Total	Limit Rema	<u>ain</u>
Billing Total :	62,413.78	5,009,094.36	5,071,508.14		
Outstanding Invoices Invoice Number 2000489104			Invoice Date 29-APR-21	<u>invoice Balan</u> 141,618.	
Outstanding Total:				141,618.	94

.

•

SES # 1122193860	fax # 3-8047025
APPROV	ALSTAMP
P.O. NO. 48007282	inv. no. <u>2000497488</u>
COMPANY CODE: SCOO	
COST ELEMENT (GL ACCT.	» <u>550400</u>
ORDER: 3001019	WBS:
APPROVED BY;	EMP. NO.

E. Comings C4939 6/23/2021 Approved for \$ 62,413,78



973 883 8500 1el 973 883 8501 fax

May 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 149 - Apr 10 to May 7, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 62,413.78 for professional services rendered on the subject project for the period ending May 7, 2021. Services rendered during the Apr 10, 2021 to the May 7, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 8500 tel 973 883 8501 fax

May 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 149 – Apr 10 to May 7, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from April 10 to May 7, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Apr 10 to May 7, 2021)	\$47,316.60
Non-Labor Charges - (Apr 10 to May 7, 2021)	\$15,097,18
Vol Discount at 0.0 % - (Apr 10 to May 7, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (Apr 10 to May 7, 2021)	\$15,097.18
Total Invoice (\$) - (Apr 10 to May 7, 2021)	\$62,413.78

As we start 2021, the AECOM labor volume discount was reset to zero and will increase accordingly as we reach labor milestones in 2021. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include the start of the construction oversight of the Neptune Building demolition, O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, quarterly sampling for the DGW Permit By Rule, performance of the TarGost investigation for the new area of concern associated with RW-8, and activities related to the disposal of the spent carbon and the weekly oversight of the DNAPL groundwater recovery stations.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, May 7, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,070,905.09 of project charges which amount to approximately 99.0 % of the current authorized contract amount of \$5,122,755.86 (excluding the contract amount of \$45,130 for the Garage Demolition Project).

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity
Progress Report No. 149 - through May 7, 2021
JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438

Page 1 of 2

JCP&L Services (04/10/21 to	Churg	ed to Contract Task 0	tor Support S	ervices	Charge	ed to PDI, RAV Task 5/50000		
65/07/21)	Unit	Quantity	Rate (S)	Cost (\$)	Unit	Quantity	Rate (\$)	Cast (5)
1) Task 1 - Project Invoi	icing, Pro	ect Managem	nl, RFP Paci	tage, Bid Revi	ews, GC Se	lection & Peri	nut Meetings	
Kit Williams	Hr		\$180.58	50.00	Ffr		\$180.58	\$0.00
C. Maranhao	Hr	16.00	\$171.92	\$2,750.72	Hr		\$171.92	\$0.00
Dale (Pete) Wray	Hr	2.50	\$143,47	\$358.68	Hr		\$143.47	50.00
Michael DePaola	Hr	8,00	\$126.15	S1,009.20	Hr		\$126.15	\$0.00
Alexandru Giuroiu	Hir	2.50	586,57	\$216.43	Hr		\$86.57	\$0.00
Cheryl Bir	Hr	3.25	586.57	\$281.35	Hr		\$86.57	\$0,00
L. Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Subtotal for (1)		32.25		\$4,616.37		0.00		\$0.00
2) Task 2 - On-Site Con	struction (Oversight for	GWTVs & Tal	Filling (Niki	ta Bendre)	& Neptune Pr	operty (Brend	an Murphy)
C. Maranhao	Hr		\$171.92	\$0.00	Hr	9.00	\$171.92	\$1.547.28
Brendan Murphy	Hr		5122.33	\$0.00	Hr	2.50	\$122,33	\$305,83
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	3.50	\$79.14	\$276,99
Subtotal for (2)		0.00		0.00		15.00		52.130.10
Milenge			\$0.00	\$0.00		1.0250	\$0.00	\$0.00
Travel All Other			\$0.00	50.00			50.00	\$0.00
Exp Subtotal for (2)				\$0.00				\$0.00
3) Task 3 - DGW Permi	t-By-Rule	GWIV Moni	oring and Od	M, DNAPL F	lecovery M	gmt, and DNAI	L Gauging of	MWs
C. Maranhao	Hr		\$171.92	\$0.00	Hr	10.00	\$171.92	\$1,719.20
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	20.00	\$136.05	\$2,721.00
Zachary Humerick	Hr		\$136.05	50.00	Hr	4.00	\$136.05	\$544.20
Sunil Samaroo	Hr		\$101.41	\$0.00	Hr	55.50	5101.41	\$5,628.27
Stephen Liebert	Hr		\$101.41	50.00	Hr		5101.41	\$0.00
Nikita Bendre	Hr		\$79.14	\$0,00	Hr	55.50	\$79.14	\$4,392.28
L. Lesch	Hr	,	\$71.73	\$0.00	Hr		\$71.73	\$0.00
Subtotal for (3)	•	0.00		\$0.00		145,00		\$15,004.95
Mileage & Car Rental			50.00	50.00		1.0250	\$779.93	\$799.43
Field Supplies/Matls		1	\$0.00	50.00	***	1,0250	558.10	\$59.55
Pine Envtl Swes		***************************************	\$0.00	\$0.00		1.0250	\$2,372.06	\$2,431.36
Test America Labs		1	\$0.00	\$0.00		1.0250	\$4,972.00	\$5,096.31
Extra Duty Solution - Pol	ice		\$0.00	\$0.00	_	1,0250	\$1,614.17	\$1,654.52
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0250	\$116.63	\$119.55
Mise - Allowables			\$0.00	\$0.00		1.0250	\$22.90	\$23.47
Travel - All Others			\$0.00	\$0.00		1.0250	\$134.20	\$137.56
Exp Subtotal for (3)				\$0.00			-	\$10,321.75
4) Task 4 - Engineering	Design &	RW8 Analan a	nd East Black	ovell Investig	ations & M	orris County F	load Opening	Permit
C. Maranhao	Hr		\$171.92	\$0.00	Hr	24.00	\$171.92	\$4,126.08
Cary Friedman	Hr		5143.47	\$0.00	Hr	46,50	\$143.47	\$6,671.37
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	16.50	\$136.05	\$2,244.83
Pablo Ruiz	Hr		\$86.57	\$0.00	Hr	3.50	\$86.57	\$303.00
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	10.00	\$79.14	\$791.40
Susan Beatie	Hr		\$71.73	\$0.00	Hr	1.25	\$71.73	\$89.66
Laura Lesch	Hr		\$71.73	\$0.00	Hr	3.25	571.73	\$233.12
Labor Subtotal for (4)		0.00		\$0.00		105.00		\$14,459.45
Car Rental/Mileage			50.00	50.00		1.025	\$196.00	\$200.90
Premier Safety			\$0.00	\$0.00		1.025	\$16.82	\$17.24
Extra Duty Solution - Pol-	ice		\$0.00	\$0.00		1.025	\$3,067.24	\$3,143.93
Field Supplies/Matls			\$0.00	50.00		1.025	\$101.85	\$104.40
Travel All Others			\$0.00	<u>\$0.00</u>			\$0.00	\$0.00
Exp Subtotal for (4)				\$0.00				\$3,466.47



Page 2 of 2

	101	m Non-Lab	TOTAL (S)	\$4,616.37	- 10	oral Least Tere	TOTAL (S)	\$15,097.18
	T- 4			\$4,616.37	т.		or Charges (5)	\$42,700.22
	HOURS	32.25	r Charges (\$)	\$4,616.37	HOURS	348.25	TOTAL (\$)	S42,700.22
Subtotal for (9)	ttoring	0.00	momer in	\$0.00	HOUSE	19.25		52,886.11
Laura Lesch	Hr	0.00	\$71.73	\$0.00	Hr	0.25	\$71.73	S17.93
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr		\$108.84	\$0.00
Cary Friedman	Hr		S143.47	50.00	Hr	14.00	\$143.47	52,008.58
Mike Akerbergs	Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00
Peter Naumo l'f	Hr		\$171.92	S0.00	Hr	3.50	\$171.92	\$601.72
Marion Craig	Hr		\$171.92	\$0.00	Hr	1.50	\$171.92	\$257.88
8) Task 8 - LSRP Char	ges							
Exp Subtotal for (7)				\$0.00				\$0.00
US Pust Office & FEDE	X		\$0.00	\$0.00			\$0.00	\$0.00
Enviroscape			\$0.00	\$0.00			\$0.00	50,00
Supplies / Materials			\$0.00	\$0.00			\$0.00	\$0.00
Mileage & Car Rental			\$0.00	00.02			\$0.00	\$0.00
Subtotal for (7)		0.00		\$0.00		0.00		\$0.00
L. Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
J. Keil	Hr		579.14	\$0.00	Hr		\$79.14	\$0.00
Robert Ferrante	Hc		\$126.15	00.02	Hlt		\$126.15	\$0.00
T. Meyers	Hr		S143.47	50.00	Hr		\$143.47	\$0.00
S. Albrecht	Hr		\$166.98	\$0,00	Hr		\$166.98	\$0.00
C. Maranbag	Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00
7) Task 7 - NJDEP Mit	igation Plan	(Revegeta	lian) & Permitt		-		1	
Exp Subtotal for (6)				50.00				\$1,308.97
Travel All Others			\$0.00	50.00			50.00	\$0.00
Supplies & Matis			\$0.00	\$0.00		1.025	\$100,01	\$102.51
Extra Duty Solution - Po	lice		50.00	\$0.00		1.025	\$1,177.03	\$1,206.46
Car Rental			\$0.00	\$0.00			\$0.00	50.00
Mileage		0.00	\$0.00	\$0.00		10.00	\$0.00	\$0.00
Subtotal for (6)	111	0.00	371.72	\$0.00	1.61	45.00	371.10	\$5,454.09
Laura Lesch	Hr		\$71.73	\$0.00	Hr	2.00	\$71.73	\$143.46
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	6.00	\$79.14	\$474.84
Stephen Libert	Hr		\$101.41	\$0.00	Hr	9.00	\$101.41	\$811.28
R. Cebula	Hr		\$126,15	\$0.00	Hr	21.00	\$126.15	\$2,649.15
C. Maranhao	Hr	B	\$171.92	50.00	Hr	8.00	\$171.92	\$1,375.30
6) Task 6 - Other Task	s (DNAPL O	versight &	DNAPL Drum I		olia & Evna	ua & O&M	CDNAPI. Report	
Exp Subtotal for (5)			50.00	\$0.00			55.05	\$0.00
Travel All Others			50.00	\$0.00			\$0.00	\$0.00
US Post Office & FEDE	X		50.00	\$0.00			\$0.00	\$0.00
Permits			50.00	\$0.00			\$0.00	\$0.00
Subtotal for (5)		0.00		50.00		19.00		\$2,765.53
Laura Lesch	Hr		\$71.73	\$0.00	Hr	5.00	.571.73	\$358.65
Nikita Bendre	Hr		579.14	\$0.00	Hr		579.14	\$0.00
Mike DePaola	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
E. Johnston	Hr		5136.05	\$0.00	Hr		\$136.05	\$0.00
C. Maranhao	Hr	1	S171.92	\$0.00	Hr	[4.00	\$171.92	\$2,406.88

Labor Charge - (Apr 10 to May 7, 2021)	\$47,316.60
Non-Labor Charges - (Apr 10 to May 7, 2021)	\$15,097.18
Vol Discount at 0.0 % - (Apr 10 to May 7, 2021)	<u>\$0.00</u>
Non-Labor Charges - Vol Discount - (Apr 18 to May 7, 2021)	\$15,097.18
Total Invoice (S) - (Apr 10 to May 7, 2021)	562,413.78

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through May 7, 2021

Task	Accountable Entity/Individual	initial Conspletion Date	Ravisad Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Manifesting Welts & Groundweler Tresfrowt Vouts (GWTV) - 2 Years & Manual DNAPI, Recovery and DNAPI, Gauging	AECOM	08/05/18	11/06/21	_	During the week of Apr 12 to 15, 2021, AECOM sampled selected onsile with to collect date to sitemat to find a resolution to the free cyanide issue at the side wets. The NJDEP groundwater quality standard is for free cyanide, but the free cyanide Method 9016 is not certified by the state of MJ. Therefore, AECOM has been tested of total (335,04) and amenable cyanide results are tower than total, but cyanide exceedances still exist some areas of the sile. On Apr 2021. AECOM codected groundwater samples a selected localions that consistently exceeding differences. The laboratory analysis indicate that the free cyanide method for total, amenable, and free cyanide by Method 9016 to assess the differences. The laboratory analysis indicate that the free cyanide insults are much lower from the size amenable credits are would not accord the NJDEP GWOS for the size.
Proposation of Final Draft Deed Notices, for the Dover Former MGP Site	AECOM	06/01/20	12/01/20		Final Draft Deed Notice films were transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legal coursel provided commonts to AECOM or Sep 16, 2020 regarding the Deed Notices for the public readways and railroad right-of-way. As per comments received from JCP&L, AECOM revised the specific Deer Notices for East Blackwell, Sammis Ave and the railroad right-of-way on Nov 2020. Additional discussions are taking place to assess the need to collect meters and bounds for the impacted portion of undooded properties such as railroad lines and roads.
Pornit Requirements Review & Procurement of Proposals for Installing Addit Receivery Wells	AECOM	09/06/20	10/28/20	04/14/21	On Apr 14, 2021, Morris County signed the road opening permit and authorized the installation of additional geoprobe borings (6) and recovery walls (4) on East Blackwall St. Gooprobe and dylling scilvilles were conducted from Apr 19 to 23, 2021.
Demolition of the Replane Property Bldg	AÉCOM	09/06/20	10/28/20	06/06/21	On Apr 20, 2021, AECOM submitted a Final Recommendation Letter to JCP&I. for the retection of a qualified contractor to porform the demolition of the Neptune bulleting located at the corner of East Blackwell St. in the town of Dover, NJ. The lister indicates that Partitler Technologies (Panther) whould be awarded the contract A PO was issued by JCP&I. to Panther and the demolition activities started on May 10, 2021.
RW-5 Anzian Property & East Blackweil Investigations	AECOM	09/06/20	10/28/20	11705/20	Dakete Technologies and SGS North America were selected to perform a High Resolution Site Characterization (HRSC) survey at the Analen property and also on East Blackwell Street using an optical imaging profiler with a green laster diode light. ACOM prepared and submitted a PO to both vendors. The HRSC investigations at the aforementioned locations were conducted from April 19 to 23, 2021.
Cithar Various Activities	AECOM	01/02/21		_	Other activities currently being conducted by AECOM are: 1) AECOM provided oversight of DNAPL drum pickups by Veotia on April 12, 2021. Veotia was on site at 12:00 pm and picket up 16 DNAPL drums in total. AECOM was not given any documents under an Acknowledgment form to sign by Veotia personnel, implying all the documents will be forwarded by Veotia to JCPSL directly. Veotia was at it site at 13:00 approximately 2) AECOM provided eversight of spent carbon drums pickup by Evoqua on April 20th and also on May Sh. 2021. After conclusion of the services on May S. 2021 11 drums of spent carbon were stiped to Evoqua. 3) On Apr 12, 2021, C. Marenhao participated on a conference and with Ms. E. Comings (ICPSL) and Lise Hernitton (NJNG) to discuss the scope of work and various responsibilities escolated with in reverning of the NJNG regulator station located inside the fernoad area of the Dover Formor MGP site.

resear.

1) Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two cuiverts and also the sedwent cleaning of the drainage canal connecting the cuiverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through May 7, 2021

JCP&L Task Sublask	URS Cost Code	Task Description and Work Order	Approved Budget (After 09/03/20)	Jan 15, 2021 COR Approval	Approved Budget (Approved)	Total Expended to Date (Apr 9, 2021)	Spent During Reporting Puriod (to May 7, 2021)	Total Expended to Date (May 7, 2021)	Available Balance (May 7, 2021)	% of Current Budget Expended
0	00000	Contractor Support Services	\$513,615.21	\$25,808,08	\$540,421.29	\$532,334.10	\$4,616.37	\$536,950.47	\$3,471.25	33%
0.0		Contractor Support Services	\$459,174,48	\$26,806,08	\$525,980.56	\$517,893,21	\$4,616.37	3522,509,58	\$3,470,9B	99%
		Bitting Adjustment - Labor Discount for Invoice #37802760 covering charges from July 30 to August 26, 2016	50.00		\$0.00	5367,27		\$367,27	(\$367.27)	
0.1		PRB Advisory Panel Meeting	\$10,301.86		510,301.86	\$10,201.86		\$10,301.86	\$0.00	100%
0.2		NJDEP PR3 Presentation	\$4,138.87		54,138.87	\$4,139.03		\$4,139.03	\$0.27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scope of Work	\$3,182,945.18	\$176,370,96	53,359,316.14	\$3,358,974,53	530,340.62	\$3,389,314.95	(\$29,950,61)	101%
5.1		Pre-Design Work Plan	\$46,944,45		\$45,844.45	\$46,944,45		\$46,944,45	00,02	100%
5.2		Implement Pre-Dasign Work Pten (including Groundwater Modeling 50025)	\$458,240.86		\$458,240.98	\$458,221.39		\$458,221.39	\$19.57	100%
5.3		Consuling and Design Including Neptune Property + RWS TorGopt investigation	\$1,081,209.29	\$86,276,20	\$1,167,485.49	\$1,144,596,49	\$20,691.45	\$1,165,287.94	\$2,197.55	100%
		Spil Deliheation Evaluation / Permitting (2-Year Update of Well Search)	\$216,243,94		\$216,243.94	\$216,509,10		\$216,509.10	(\$285.76)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,799.75		\$74,799.75	\$72.893.04		\$72,893,94	\$1,905.81	97%
		Other Requested Tasks (authorized by small, Day Agreement with Two of Rocksway, disposal of DNAPL Drums by Vacto, update well search & LSRP)	\$906,251.78	\$63,015,10	\$969,266.08	\$981,526,23	59,649.17	5991,175.40	(\$21,900,52)	
	80000 Sedes	Other Scope of Work Considerations (Spartan Oil Wall * Wolland Revegetation as per NJDEP Permit)	\$399,255,01	\$27,079.65	5426,334.67	\$438,282.73		\$438,282.73	(111,946,76)	103%
G	60060	Procurement Assistance, Construction Oversight, and Remedial Action Report Preparation	5796,948.46	50.00	\$796,948.A6	2661,542,72	52,130.10	5663,672.82	\$150,355,38	83%
6.1		Procurement Assistance/Design Assistance	\$31,132,14		\$31,132.14	\$28,930.95		\$28,030,95	\$2,201,19	93%
6.2		Remodial Construction Cost plus Oversight	\$737,735.44		\$764,815.10	\$632,307.54	52,130.10	\$634,437.64	\$130,377.46	83%
6.3		Remodal Action Report (RAR) Preparation	\$28,080,88		\$28,080.80	\$0.00		\$0.00	\$28,080.88	6%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304.23		\$304.23	(\$304.23)	
7	70000	Romedial System Inkint Start-Up, Demonstration Period and Long-Term OSM	\$330,476.66	\$95,613,31	\$426,089.97	\$455,640,16	\$25,326.69	\$480,966,65	(\$54,876.68)	113%
7.1		Start-Up Testing	\$6,710.00		56,718.00	\$0.00		\$0.00	\$8,718.00	4%
7.2		Demonstration Period	\$15,923.69		\$15,923.69	50,00		\$0.00	\$15,923,69	0%
7.3		Long-Term O&M	\$301,712,97	\$95,613,31	\$397,326.28	.\$455,640,16	\$25,326,69	\$480,958.85	(\$93,640.57)	121%
7.4		OBA! Manuals	\$6,122.00		\$6,122.00	50,00		S0,00	\$6,122.00	0%
	C	ONTRACT TOTALS (excluding the Garage Demolition Project):	\$4,823,985,51	\$298,790,35	\$5,122,775.86	\$5,008,491.31	\$62,413.78	\$5,070,905.09	\$78,95D.85	99.0%
	11130307	Garage Demolison	\$45,130,00		\$45,130.00	\$44,212,94		\$44,212.94	\$917.06	97.0%

Noles:				
1.	Change Order Request (COR) #21 in the amount of \$298,790.35 was approved by JCRSL on July 15, 2021. Britishows of			URS Cost Code
2.	The \$298,790.35 COR amount is booked at the JCP&L Task and URS Cost Codes 64ed below: a) Contractor Support Services	Amount (\$) 526,806.08	JCP&L Task	UNA COST CORE
	b) Design Services & NJDEP Resorting (May 2021)			50000
	c) Other Requested Tasks including (Stay 2021)	586,276,20	9.5	59000
		\$63,015,10	5.3	B0000 Series
	d) Remedibi Construction Cost plus Oversight	527,079.66	5.3	
	a) Long Term OBM	595,613.31	7.3	70000
	TOTA_ (S)	\$298,790,35		

Check Payment to: **URS** Corporation P.O. Box 115183 Atlanta GA 30368-6183 Wire Transfer Payment to: **URS** Corporation Bank: Wells Fargo Bank Account No.: 4520-086471 ABA Routing No.: 121-000-248 Swift Code; WFBIUS6S Overnight Courier: **URS** Corporation Attention: Atlanta Lockbox, Lock Box No. 116183 100 South Crest Drive, Stockbridge, GA 30281



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501 www.aecom.com

Federal Tax ID No. 94-1716908

Remaining Balance:

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ave

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Morristown, NJ 07960-6116 Please reference Invoice Number and Project Number with Remittance Project Number : 60390438 Invoice Number: 2000507517 Invoice Currency : USD Bill through Date : 08-MAY-21 - 04-JUN-21 Invoice Date: 17-JUN-21 Payment Term: 2/10 Net 45 Claudius Maranhao JCP&L Dover Former MGP Site For Professional Services Rendered Through 08-MAY-21 - 04-JUN-21 Labor \$39,822,24 \$55,097.91 Non-Labor TOTAL CURRENT INVOICE \$94,920.15 USD Funded Amount: \$5,122,775.86 \$5,166,428.29 Bill To Date: (exclude tax)

-\$43,652.43

Project Number : 60390438 Bill Through Date : 08-MAY-21 - 04-JUN-21 : 2/10 Net 45 **Project Name** : JCP&L Dover Former MGP Site Payment Term Claudius Maranhao Task Number: 38580312.10000 Task Name: Management Support **Labor Bill Rate** Employee Name/Title Title/Expenditure **Hours** Bill-Rate **Billed Amt** Data Management 14-MAY-21 1.00 86.57 86.57 Bir, Cheryl 108.21 Bir, Cheryl 21-MAY-21 1.25 86.57 Data Management 28-MAY-21 4.00 86.57 346.2B Giurolu, Alexandru GIS/Data Management Project Manager 14-MAY-21 4.00 171.92 687.6B Maranhao, Claudius A 171.92 Project Manager 21-MAY-21 4.00 687.6B Maranhao, Claudius A Maranhao, Claudius A Project Manager 28-MAY-21 4.00 171.92 687.68 Maranhao, Claudius A 171.92 687.68 Project Manager 04-JUN-21 4.00 22,25 3,291.78 Total Labor Bill Rate **Task Total** : Management Support 3,291.78 Task Number: 38580312.50010 Task Name : Design/Spec/Permit Labor Bill Rate **Billed Amt** Employee Name/Title Title/Expenditure <u>Date</u> <u>Hours</u> Bill Rate 21-MAY-21 214.90 Craig, Marlon E LSRP 1.25 171.92 28-MAY-21 Craig, Marion E LSRP 1.00 171.92 171.92 Friedman, Cary L Senior Geologist 21-MAY-21 2.00 143.47 286.94 1,434,70 Senior Geologist 28-MAY-21 10.00 143.47 Friedman, Cary L 04-JUN-21 3.00 430.41 Friedman, Cary L Senior Geologist 143.47 171.92 859.60 Maranhao, Claudius A Project Manager 14-MAY-21 5.00 171.92 687.68 Maranhao, Claudius A Project Manager 21-MAY-21 4.00 4.00 Maranhao, Claudius A Project Manager 28-MAY-21 171.92 687.68 Project Manager 04-JUN-21 3.00 171.92 515.76 Maranhao, Claudius A 0.50 143.47 71.74 Myers, Taralyn Senior Scientist 14-MAY-21 Myers, Taralyn 28-MAY-21 10.00 143.47 1,434.70 Senior Scientist 143.47 Senior Scientist 04~IUN-21 1.00 143.47 Myers, Taralyn Naumoff, Peter G LSRP 21-MAY-21 2.00 171.92 243.84 Naumoff, Peter G 429.80 LSRP 28-MAY-21 2.50 171.92 171.92 171.92 Naumoff, Peter G LSRP 04~JUN-21 1.00 50.25 7,885.06 **Total Labor Bill Rate** 7,885,06 Task Total : Design/Spec/Permit Task Number: 38580315.60050 Task Name: Task6.5 Field Assgnm Labor Bill Rate Employee Name/Title Title/Expenditure Date **Hours** Bill Rate **Billed Amt** 21-MAY-21 Bendre, Nikita (Nikita) Field Technician 8.00 79.14 633.12 21-MAY-21 8.50 126.15 1,072.28 Cebula, Robert Project Scientist 04-JUN-21 1.00 126.15 126.15 Cebula, Robert Project Scientist Humerick, Zachary L Project Engineer 21-MAY-21 2.00 136.05 272.10 14-MAY-21 9.00 136,05 1,224.45 Johnston, Elizabeth A Project Engineer 136,05 238.09 14-MAY-21 1.75 Johnston, Elizabeth A Project Engineer Project Engineer 21-MAY-21 8.75 136,05 1,190.44 Johnston, Elizabeth A 544,20 Johnston, Elizabeth A Project Engineer 28-MAY-21 4.00 136.05 608,46 28-MAY-21 6.00 101.41 Keil, Justin (Justin) Staff Scientist 04-JUN-21 0.50 101.41 50.71 Keil, Justin (Justin) Staff Scientist Staff Scientist 14-MAY-21 3.00 101.41 304.23 Libert, Stephen F 304.23 Libert, Stephen F Staff Scientist 21-MAY-21 **00.**E 101.41 Libert, Stephen F 28-MAY-21 3.00 304.23 Staff Scientist 101.41 Maranhao, Claudius A Maranhao, Claudius A 00.8 171.92 1.375.36 14-MAY-21 Project Manager 2,406.88 Project Manager 21-MAY-21 14.00 171.92 1,375,36 Maranhao, Claudius A Project Manager 28-MAY-21 8.00 171.92 04-JUN-21 2.00 171.92 343.84 Project Manager Maranhao, Claudius A 4,403.88

28,645,40 **Total Labor Bill Rate** 225,00

14-MAY-21

21-MAY-21

28-MAY-21

04-JUN-21

14-MAY-21

21-MAY-21

36.00

34.00

32.00

19.00

3,50

10.00

122.33

122.33

122.33

122.33

108.84

108.84

4,159.22

3.914.56

2,324.27

1,088,40

380.94

Senior Staff Scientist

Senior Staff Scientist

Senior Staff Scientist

Senior Staff.Scientist

CADD

CADD

Murphy, Brendan A

Murphy, Brendan A

Murphy, Brendan A

Murphy, Brendan A

Tucewicz-Thompkins, Eva

Tucewicz-Thompkins, Eva

SubConsulta Employee Name/Title	ant Title/Expenditure	<u>Date</u>	Inv Number	Raw Cost	Multiplier	Billed Amt
Professional Services	SGS NORTH AMERICA INC	27-APR-21	15102005	14,980,50	1,0250	15,355.01
Professional Services	DAKOTA TECHNOLOGIES, INC	D3-JUN-21	4825	26,100.00	1.0250	25,752.50
Total SubCo	ensultant			41,080.5	•	42,107.51
Reimbursab						
Expenditure Type	Employee/Vendor Name	<u>Date</u> 22-APR-21	<u>inv Number</u> EXP7825918	Raw Cost	Multiplier 1.0250	Billed Amt 65.27 ¹
Viaterials Viaterials	Cebula, Robert Cebula, Robert	27-APR-21	EXP7825918	63.68 627.49	1.0250	643,184
vialeriais Viateriais	Maranhao, Claudius A	08-MAY-21	EXP7828643	130.54	1.0250	133.80
Mileage	Cebula, Robert	22-APR-21	EXP7825919	28.00	1.0250	28.70
Mileage	Cebula, Robert	26-APR-21	EXP7825919	28.00	1.0250	28.70
Mileage	Maranhao, Claudius A	30-APR-21	EXP7828643	11.20	1.0250	11.48
Mileage	Cebula, Robert	05-MAY-21	EXP7825919	28,00	1.0250	28.70
Vileage	Maranhao, Claudius A	05-MAY-21	EXP7828643	11.20	1.0250	11.48
villeage	Maranhao, Claudius A	10-MAY-21	EXP7828643	11,20	1.0250	11.48
Aileage	Maranhao, Claudius A	11-MAY-21	EXP7828643	11.20	1.0250	11.48
Alleage	Maranhao, Claudius A	18-MAY-21	EXP7828643	11.20	1.0250	11.48
villeage	Cebula, Robert	20-MAY-21	EXP7852767	28.00	1.0250	28.70
viscellaneous - Allowable	Samaroo, Sunii	07-MAY-21	EXP7821462	538.07	1.0250	551.52
201 Rental Equipment	PINE ENVIRONMENTAL SERVICE	S 05-MAY-21	US1210031989	820.11	1.0250	840.61
Z01 Safety	PREMIER SAFETY	26-APR-21	04193400	44.03	1.0250	45.13
201 Temporary Facilities	PAC VAN INC	02-APR-21	19144310	0.66	1.0250	0.68
210 Storage	PAC VAN INC	28-MAY-21	19787504	116.63 124.86	1,0250	119.54127.47
11 Equipment Other	PINE ENVIRONMENTAL SERVICE	S 07-MAY-21	US1210032643	139.33	1.0250	142.81
11 Laboratory	TESTAMERICA LABORATORIES INC	04-MAY-21	4600068458	2,802.00	1,0250	2,872.05
111 Laboratory	TESTAMERICA LABORATORIES	04-MAY-21	4600068467	1,901.50	1.0250	1,949.04
11 Laboratory	TESTAMERICA LABORATORIES	06-MAY-21	4600068617	5,295.00	1.0250	5,427.38
211 Maintenance	MCMASTER CARR SUPPLY CO	17-MAY-21	58448266	18.79	1.0250	19.26
Total Reimb	ursable			12,673.58	12,98	72.4 712,999.40
Task Total : Task6.	5 Field Assgnm				83,13	5,38 83, 743.31
Project Total : JCP&L Do	ver Former MGP Site				94,912	1.12 94,920.45
Invoice Sum	maries					
Total Current Amount:						94,920.15
Retention Amount:						0.00
Pre-Tax Amount :						94,920.15
Total Invoice Amount:					94,912.	22 <u>94,920:15</u>
Billing Sum	marles	- Administra			- <u> </u>	
Billing Summary	<u>Current</u>	<u>Prior</u>	<u>Total</u>		<u>imit</u>	<u>Remain</u>
Billings Fax	94,920.15 0,00	5,071,508.14 0.00	5,166,428.29 0.00	5,122,775	5.86	-43,652.43
Silling Total :	94,920.15	5,071,508.14	5,166,428.29			
Outstanding	Invoices	. —	invoice Date		1r	voice Balance
nvoice Number	Invoices	-	Invoice Date 29-APR-21		11	voice Balance 141,618.94
Outstanding Invoice Number 2000489104 2000497488	Invoices		Invoice Date 29-APR-21 20-MAY-21		<u>1r</u>	nvoice Balance 141,618.94 62,413.78

SES# 1122523662	Fax # 3-8047420
APPROV	ALSTAMP
P.O. NO. 48007282	inv. no. <u>2000/507/517</u>
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (OL ACCT	s): <u>550300</u>
ORDER: 300/0/9	WBS:
APPROVED BY:	EMP. NO.

E, Commos C4939 6/23/2021 Approved for \$94,912.22



973 883 8500 tel 973 883 8501 fax

June 16, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 150 - May 8 to Jun 4, 2021

JCP&L Förmer Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 94,920.15 for professional services rendered on the subject project for the period ending Jun 4, 2021. Services rendered during the May 8, 2021 to the Jun 4, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



973 883 8500 tel 973 883 8501 fax

Jun 16, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 150 - May 8 to Jun 4, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from May 8 to Jun 4, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (May 8 to Jun 4, 2021)	\$39,822.24
Non-Labor Charges - (May 8 to Jun 4, 2021)	\$55,097.91
Vol Discount at 0.0 % - (May 8 to Jun 4, 2021)	\$0.00
Non-Labor Charges - Vol Discount - (May 8 to Jun 4, 2021)	\$55.097.91
Total Invoice (\$) - (May 8 to Jun 4, 2021)	\$94,920.15

The AECOM labor volume discount will increase accordingly as we reach labor milestones in 2021. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-of-order request letter, but that have been authorized by JCP&L include the start of the construction oversight of the Neptune Building demolition, O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, charges associated with the last quarterly sampling for the DGW Permit By Rule, contractor invoices associated with the TarGost investigation for the new RW-8 area of concern (SGS America & Dakota Technologies), and activities related to the disposal of the spent carbon and the weekly oversight of the DNAPL groundwater recovery stations.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Jun 4, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,165,825.24 of project charges which amount to \$15,969.30 over the current authorized contract amount of \$5,122,755.86 (100.8%, excluding the contract amount of \$45,130 for the Garage Demolition Project). A change order request for out-of-scope services performed at the request of JCP&L is being prepared and will be submitted shortly to JCP&L for review and approval.

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity Progress Report No. 150 – through Jun 4, 2021

Progress Report No. 150 – through Jun 4, 2021 JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438

Page 1 of 2

			Pag	ge 1 of 2					
JCP&L Services (05/08/21 to	Charged to Contractor Support Services Task 0 / 00000				Charged to PDI, RAWP or Constr Oversight Task 5/50000 or Task 6/60000				
06/04/21)	Unit	Quantity	Rate (5)	Cost (S)	Unit	Quantity	Rate (S)	Cost (S)	
1) Task 1 - Project Invo	icing, Pro	ject Manageme	nt, RFP Pacl	age, Bid Revi	iews, GC Sc	election & Pers	mit Meetings		
Kit Williams	Hr		\$180,58	\$0.00	Hr		\$180.58	\$0.00	
C, Maranhao	Hr	16.00	\$171.92	\$2,750.72	Hr		\$171.92	\$0.00	
Dale (Pete) Wray	Hr		\$143.47	\$0.00	Hr		\$143.47	\$0.00	
Michael DePaola	He	1	\$126.15	\$0.00	Hr		\$126,15	\$0.00	
Alexandru Giuroiu	Hr	4.00	\$86,57	\$346.28	Hr		\$86.57	\$0.00	
Cheryl Bir	Hr	2.25	\$86.57	5194.78	Hr		\$86.57	50.00	
L. Lesch	Hr	1	\$71.73	\$0.00	Hr		\$71.73	\$0.00	
Subtotal for (1)		22.25		\$3,291.78		0.00		\$0.00	
2) Task 2 - On-Site Con	struction	Oversight for	GWTVs & Ta	r Filling (Nik	ita Bendre)	& Neptune Pr	operty (Brend	an Murpby)	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	25.00	\$171.92	\$4,298.00	
Brendan Murphy	Hr		\$122.33	\$0.00	Hr	121.00	\$122.33	\$14.801.93	
Nikita Bendre	Hr		\$79.14	\$0.00	Hr		\$79.14	\$0.00	
Subtotal for (2)		0.00		0.00		146,00		\$19,099.93	
Mileage			50.00	\$0.00		1.0250	\$33.60	534.44	
Travel All Other			50.00	50.00			\$0.00	\$0.00	
Exp Subtotal for (2)				20.00				\$34.44	
3) Task 3 - DGW Permi	t-By-Rule	GWIV Moni	oring and Od	M, DNAPL I	Recovery M	gmt, and DNA	L Gauging of	MWs	
C. Maranhao	Hr		\$171.92	50.00	Hr	8.00	\$171.92	\$1,375.36	
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	17.50	\$136.05	52,380,88	
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	2.00	\$136.05	5272.10	
Sunil Samaroo	Hr		\$101.41	\$0.00	Hr		\$101,41	\$0.00	
Stephen Liebert	Hr		\$101.41	\$0.00	Hr		\$101.41	\$0.00	
L. Lesch	Hir		\$71.73	50.00	Hr		\$71,73	50.00	
Subtotal for (3)		0.00		\$0.00		27.50		\$4,028.34	
Mileage & Car Rental			\$0.00	\$0.00		1.0250	\$0.00	\$0.00	
Field Supplies/Matls			50.00	\$0.00		1.0250	\$0,00	\$0.00	
Pine Envil Sves		-	50.00	\$0.00		1.0250	\$0.00	\$0.00	
Test America Labs			\$0.00	\$0.00		1.0250	\$9,998.50	\$10,248.46	
Extra Duty Solution - Pol	lice		\$0.00	\$0.00		1.0250	\$538,07	\$551.52	
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0250	\$125.02	\$128.15	
Misc - Allowables			\$0.00	\$0.00		1.0250	\$0.00	\$0.00	
Travel - All Others			\$0.00	\$0.00		1.0250	\$0.00	\$0.00	
Exp Subtotal for (3)				\$0.00				\$10,928.13	
4) Task 4 - Engineering	Design &	RW8 Analan a	nd East Blac		ations / RV	V-8 Recovery P	ump Shed	,	
C. Maranhao	Hr	1 "	\$171.92	50.00	Hr	4,00	\$171.92	\$687.68	
Cary Friedman	Hr		\$143.47	\$0.00	Hr	6.00	\$143.47	\$860.82	
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	6.00	\$136.05	\$816.30	
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr	4.50	\$108.84	\$489.78	
Nikita Bendre	Hr		\$79.14	\$0.00	Hr	6.00	\$79.14	\$474.84	
Susan Beatie	Hr	1	\$71.73	\$0.00	Hr	-	\$71.73	\$0.00	
Labor Subtotal for (4)		0.00		50.00		26.50		\$3,329,42	
Car Rental/Mileage		1	\$0.00	50.00		1.025	\$0.00	\$0.00	
Premier Safety			\$0.00	\$0.00	-	1.025	\$44.03	\$45.13	
Dakota Technologies			\$0.00	\$0.00		1.025	526,100.00	\$26,752.50	
SGS North America			50.00	50.00		1.025	514,980.50	\$15,355.01	
Pinc Envtl Sves		1	\$0.00	50.00		1.025	\$820.11	\$840.61	
Field Supplies/Matls			50.00	50.00		1.025	50.00	\$0.00	
Travel All Others			50.00	\$0.00			\$0.00	\$0.00	
Exp Subtotal for (4)				\$0.00				\$42,993.26	



Page 2 of 2

	Tot		or Charges (S)	\$0.00	To		or Charges (5)	\$55,097.91
	1100100	1	r Charges (\$)	\$3,291.78	110-410		or Charges (\$)	\$36,530.45
auditital for (3)	HOURS	22.25	TOTAL (\$)	\$3,291,78	HOURS	175.25	TOTAL (S)	\$36,530.45
Laura Lesch Subtotal for (9)	Hr	0.00	\$71.73	00.02 \$0.00	Hr	25.75	\$71.73	\$3,603.17
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr	9.00	\$108.84	\$979.56
Cary Friedman	Hr		\$143.47	\$0.00	Hr	9.00	\$143.47	\$1,291.23
Mike Akerbergs	Hr		\$171.92	\$0,00	Hr		\$171,92	50.00
Peter Naumoff	Hr		\$171.92	\$0.00	Hr	5.50	\$171.92	\$945.56
Marion Craig	Hr		\$171.92	\$0.00	Hr	2.25	\$171.92	\$386,82
8) Task 8 - LSRP Char	~		, , , ,				1	
Exp Subtotal for (7)		1		\$0.00				\$0.00
US Post Office & FEDE	EX	1	\$0.00	\$0.00			\$0,00	\$0.00
Enviroscape			50,00	\$0.00			50.00	\$0.00
Supplies / Materials			\$0.00	\$0.00			\$0.00	\$0.00
Mileage & Car Rental	_		50,00	\$0,00			\$0.00	\$0.00
Subtotal for (7)		0.00		\$0.00		21.00		\$2,824.83
L. Lesch	He		\$71.73	50.00	Hr		\$71.73	20.02
J. Keil	Hr		\$101.41	\$0.00	Hr	6.50	\$101.41	\$659.17
Robert Ferrante	Hr		\$126.15	\$0.00	Hr		\$126.15	00.02
T. Meyers	Hr		5143.47	\$0.00	Hr	11.50	\$143.47	\$1,649.91
S. Albrecht	Hr		\$166.98	\$0.00	Hr		\$166.98	\$0.00
C. Maranhao	Hr		\$171.92	\$0.00	Hr	3.00	\$171.92	\$515.76
7) Task 7 - NJDEP Mit	igation Plan	(Revegelat	ion) & Permit	ing				
Exp Subtotal for (6)				\$0.00				\$1,142.09
Travel All Others			\$0.00	\$0.00			\$0.00	\$0.00
Supplies & Matls			\$0.00	\$0.00		1.025	\$840.50	\$861.51
Extra Daty Solution - Po	lice		\$0,00	\$0.00		1.025	\$0.00	\$0.00
Pine Envtl Svcs		İ	\$0.00	\$0.00		1.025	\$139.33	\$142.81
Mileage			\$0.00	\$0.00		1.025	\$134.40	\$137.76
Subtotal for (6)		0.00		\$0.00		28.50		\$3.644.76
Laura Lesch	Hr		\$71,73	\$0.00	Hr		\$71.73	\$0.00
Nikita Bendre	Нг		\$79.14	\$0.00	Hr	2.00	\$79.14	\$158.28
Stephen Libert	Hr		\$101.41	50.00	Hr	9.00	\$101.41	\$912.69
R. Cebula	Hr		\$126.15	50.00	Hr	9.50	\$126.15	\$1,198.43
C. Maranhao	Hr		\$171.92	\$0.00	Hr	8.00	\$171.92	\$1,375.36
6) Task 6 - Other Task	(DNAPL O	versight &	ONAPL Drum		olia & Evoqu	ua & O&M o	FDNAPL Recov	ery Pumps
Exp Subtotal for (5)			-	50.00				\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	50,00
US Post Office & FEDE	X		00.00	\$0,00			\$0.00	50.00
Mileage			\$0.00	\$0.00		1.025	\$0.00	\$0.00
Subtotal for (5)		0.00		\$0.00		0.00		\$0.00
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Nikita Bendre	Hr		579.14	\$0.00	Hr		579.14	\$0.00
Mike DePaola	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
E. Johnston	Hr	i	\$136.05	\$0.00	Hr	-	\$136.05	\$0.00
5) Task 5 - Demolition C. Maranhao	Hr	1	\$171.92	\$0.00	Hr	(\$171.92	\$0.00

Labor Charge - (May 8 to Jun 4, 2021)	\$39,822.24
Non-Labor Charges - (May 8 to Jun 4, 2021)	\$55,097.91
Vol Discount at 0.0 % - (May 8 to Jun 4, 2021)	50.00
Non-Labor Charges - Vol Discount - (May 8 to Jun 4, 2021)	\$55,097.91
Total Invoice (S) - (May 8 to Jun 4, 2021)	\$94,920.15

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Jun 4, 2021

Task	Accountable EntityAndlyideni	(nitial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Yearment Yauth (GWTY) - 2 Years & Manual DNAPL Recovery and DNAPL Geoging	AECOM	08/05/18	11/06/21		Changes are mainly related with the completion and submittal of the report to NJDEP and the chemical analytical costs by Eurofine Laboratory
Preparation of Final Draft Oced Notices for the Dover Former MGP Site	AECOM	06/01/20	12/01/20	_	Final Draft Deed Notice files were transmitted to JCP&L for first review on Sep 4, 2020. JCP&L and their legal courses provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public roadways and ratifoad right-fivesy. As per comments received from JCP&L, AECOM revised the specific Deed Notices for East Blackwell, Sammis Ave and the ratifoad right-of-way on Nov 2020. Additional discussions are taking place to assess the need to collect meter and bounds for the Impacted portion of undeeded properties such as ratifoad lines and roads.
Permit Requirements Radew & Procurement of Proposals for Installing Addit Recovery Wells	AECOM	Q9/06/28	10/28/20	04/14/21	On Apr 14, 2021, Morris County signed the road opening permit and authorized the installation of additional geoprobe borings (6) and recovery wells (4) on East Blackwell St. Geoprobe and dilling activities were conducted from Apr 19 to 23, 2021 by SGS America.
Clemolition of the Neptune Property Bildg	AECOM	09/06/20	10/28/20	06/06/21	Panther started with the demolition activities on May 10, 2021. Panther completed 100% of the ACBM Debris including fluorescent lights and tutlests from May 10 to May 18, 2021. Two 30-cy rolloff containers with non-finable asbestos materials were transported by Century Waste Service Carrier to the Waste Management Fairtess Landfill facility in Morrisville, PA on May 13, 2021 (5,20 tons) and May 18, 2021 (5,81 tons) for disposal. The signed waste manifests from the Fairtess Landfill facility have been provided to JCP&L.
RW-8 Analan Property & East Blackwell Investigations	AECOM	09/06/20	10/28/20	11/06/20	Dakota Technologies and SGS North America were salected to perform a High Resolution Sile Characterization (HRSC) survey at the Analan property and also on East Blackwell Street using an optical imaging profiler with a green laser diode light, AECoM prepared and submittited a PO to both vendors. The HRSC investigations at the aforementioned tocations were conducted from April 19 to 23, 2021. Charges this period are mainly related to the SGS invoice (\$14,980.50) and Dakota Technologies (\$26,100.00).
Other Various Activities	АЕСОМ	01/02/21			Other activities currently being conducted by AECOM are: 1) On June 1, K&M Contracting completed the landscaping activities at the math site, at the portion of the site along East Blackwell, at the creek, and it also removed debris from the ratiroad right-of-way. 2) On Apr 12, 2021, C. Mananhao participated on a conference call with Ms. E. Comings (LOP&L) and Lisa Hamilton (NLING) to discuss the revamping of the NLING regulator station focated inside the lanced area of the Dower Former MGP site. A date to start these activities has not been set yet by NLNG. 3) D&M activities have been completed on recovery pumps are now functioning: 4) On May 25, 2021, Environage visited the site to perform the quarterly site inspection of the site area planted as part of the NLIDEP mandated Mitigation Plan. Vegetative coverage, trees, shrubs, and deer exclusion cages were inspected. The majority of restoration plantings appear healthy and undemagod. However, researing of some part of Areas 3, 4 and 5 in order to reach the required percent coverage might be required due to Impactive species.

Notes:

1) Mar 5, 2018 and Sep 10, 2018 were day one for onsite constituction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through June 4, 2021

JGP&L Task Sublask	URS Cost Code	Task Description and Work Order	Approved Budget (After 09/03/20)	Jan 15, 2021 COR Approval	Current Approved Budget LAtter 01/15/21)	Total Expended to Date (May 7, 2021)	Spent During Reporting Period (to Jun 4, 2021)	Total Expended to Date (Jun 4, 2021)	Avallable Balance (Jun 4, 2021)	% of Current Budget Expended
0	00000	Contractor Support Services	\$513,615.21	\$26,806,08	\$540,421.29	\$536,950,47	83,291.78	5540,242.25	\$179.47	100%
0.0		Contractor Support Services	5499,174.48	\$25,806,08	\$525,980.56	\$522,509,58	\$3,291,78	\$525,801.38	\$179.20	100%
		5 ling Adjustment - Upper Discount for Involce #37802760 covering charges from July 30 to August 26, 2016	50,00		\$0,00	\$307,27		\$367.27	(\$307.47)	
g.1		PRE Advisory Panel Meeting	\$10,301.86		\$10,301.88	\$10,301,8G		\$10,301.86	\$0,00	100%
0.2		NJOEP FRE Presentation	\$4,138.87		\$4,138,87	\$4,139,03		\$4,139.03	\$0.27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scope of Work	53,182,945,18	\$176,370,96	\$3,359,316,14	\$3,389,314,95	\$57,537.53	\$3,440,852.48	(\$57,536.34)	103%
5.1		Pre-Design Work Plan	\$46,944.45		\$46,944.45	S46,944.25		\$46,944.45	\$0.00	100%
52		Implement Pre-Design Work Plan (including Groundwater Modeling 50025)	5458,240.96		\$458,240.8G	\$458,221,39		\$458,221.39	\$19.57	100%
5.3		Consulting and Design Including Meptune Property + RW9 TerGost Investigation	\$1,081,209.29	\$86,276,20	\$1,167,485.49	\$1,165,287,94	\$46,322.56	\$1,211,610.62	(\$44,125.03)	104%
		Soft Delineation Evaluation / Permitting (2-Year Update of Well Search)	5216,243,94		\$215,243.94	\$210,509.10		\$215,509.10	(\$265.(6)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,799.75		\$74,799.75	\$72,893.94		572,893.94	\$1,905,81	97%
		Other Requested Tasks (authorized by email, Day Agreemen) with Twp of Rocksway, dispose) of DNAPL Dronts by Veblia, update well search & LSRP)	S906,251,78	\$63,015,10	\$969,266.08	\$991,175,40	\$8,390.02	\$999,565,42	(\$30,280.54)	
	80000 Series	Other Scope of Work Considerations (Spatian Oil Wall + Welland Royagetation as per NJDEP Perm t)	5399,255.01	\$27,079,66	\$426,034.67	\$438,282,73	\$2,824.83	\$441,107,56	(\$14,772.49)	103%
6	60000	Procurement Assistance, Construction Oversight, and Remedial Action Report Preparation	5796,948.46	\$0,00	\$796,948.46	\$663,672.82	\$19,134,37	\$682,807.19	\$141,220.93	06%
6.1		Procurement Assistance/Design Assistance	\$31,132.14		\$31,132.14	\$28,930,65		\$20,930,95	\$2,201.19	93%
8.2		Romedial Construction Cost glus Oversight	\$737,735,44		5764,815.10	\$634,437.64	\$19,134.37	5653,572.01	\$111,243,09	85%
6.3		Remedial Action Report (RAR) Preparation	\$28,050.88		\$28,000.88	\$0,00		\$0.00	\$28,080.88	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304,23		5304.23	(\$304.23)	
7	70000	Remedial System Initial Start-Up, Demonstration Period and Long-Term ORM	\$330,476.66	\$95,613,31	\$426,089.97	\$480,966.95	\$14,956,47	5495,923.32	(\$6 9,833. 05)	116%
7.1		Slan-Up Testing	\$6,718,00		\$6,718,00	50,00		50.00	\$8,718.00	0%
7.2		Demonstration Period	\$15,923,69		\$15,923.69	\$0.00		\$0,00	\$15,923,69	0%
7.3		Long-Term OSM	\$301,712.97	\$95,613.31	\$397,326.28	\$480,986.95	\$14,956.47	\$495,923.32	(\$98,597.04)	125%
7.4		O&M Manuals	\$6,122.00		\$6,122.00	90,02		\$0.00	\$0,122.00	0%
	С	ONTRACT TOTALS (excluding the Garage Demolition Project):	54,823,985.51	\$298,790.35	\$5,122,775.86	\$5,070,905,09	\$94,920.15	\$5,165,825.24	(615,960,30)	100.8%
-	11130307	Garage Damolidon	\$45,130.00		\$45,130.00	544,212.94		544,212.94	\$917.06	97.0%
	•	CONTRACT TOTALS:	\$4,869,115.51	\$298,790.35	\$5,167,909.86	\$8,116,118,03	\$94,920.15	\$5,210,038.18	(\$15,052.24)	100.8%

Naics:

The \$299, 790,35 COR amount is peopled at the JCPSU Task and URS Cost Codes listed below:	Amount (5)	JCF&L Task	URS Cost Cod
a) Contractor Support Services	\$26,806.08	0	0
b) Dosign Servicos & NJDEP Reporting (May 2021)	586,276.20	5.3	50000
c) Other Requested Tousa Including LSRP	\$63,015,10	5.3	8900C
d Remedial Construction Cost plus Oversight	527,079.66	5.3	80000 Sedes
el Long Teim Ö&M	595,613,31	7.3	70000
TOTAL (\$)	\$298,790,35		

Check Payment to: AECOM Technical Services, Inc. AECOM Company An AECOM Company 1178 Paysphere Circle Chicago, IL 60674

ACH Payment to: AECOM Technical Services, Inc. Bank of America Account Number 5800937020 ABA Number 071000039

Wire Transfer Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America New York, NY 10001 Account Number 5800937020 ABA Number 026009593 SWIFT CODE BOFAUS3N



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax: 973-883-8501 www.zecom.com

Federal Tax ID No. 95-2661922

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ave Morristown, NJ 07960-6116

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438

Invoice Currency : USD

Bill through Date : 05-JUN-21 - 09-JUL-21

Claudius Maranhao

Invoice Number: 2000520487 Invoice Date: 26-JUL-21

Payment Term: 2/10 Net 45

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 05-JUN-21 - 09-JUL-21

Labor

\$41,176.57

Non-Labor

\$7,761.01

TOTAL CURRENT INVOICE

\$48,937.58 USD

Funded Amount:

\$5,122,775.86

Bill To Date: (exclude tax)

\$5,215,365.87

Remaining Balance:

-\$92,590.01

Project Number Project Name Claudius Maranh

: 60390438

Bill Through Date : 05-JUN-21 - 09-JUL-21 Payment Term : 2/10 Net 45

: JCP&L Dover Former MGP Site

Task Number : 38580312.10000	Task Name	: Management Support			
Labor Bill Rate				<u> </u>	
Employee Name/Title	<u>Title/Expenditure</u>	<u>Date</u>	Hours	Bill Rate	Billed Am
Bir, Chery!	Data Management	11-JUN-21	1.00	86.57	86.5
ir, Cheryl	Data Management	18-JUN-21	1.25	86.57	108.21
lurolu, Alexandru	GIS/Data Management	02-JUL-21	2,00	86.57	173.14 86.5
iuroiu, Alexandru	GIS/Data Management	09-JUL-21	1.00	85.57	90.2
houry, Majed A	Project Director	11-JUN-21	0.50	180.58	,,,,,,
aranhao, Claudius A	Project Manager	11-JUN-21	4.00	171.92	687.6
aranhao, Claudius A	Project Manager	18-JUN-21	4.00	171.92	687.6
aranhao, Claudius A	Project Manager	25-JUN-21	7.00	171.92	1,203.4
aranhao, Claudius A	Project Manager	02-JUL-21	4.00	171.92	687.6
laranhao, Claudius A	Project Manager	09-JUL-21	12.00	171.92	2,063.0
Total Labor Bill Rate			36.75	-	5,874.3
Task Total : Management Supp	ort				5,874.3
			_	-	
Task Number : 38580312.50010	Task Name	: Design/Spec/Permit			
Labor Bill Rate		- ,			
Labor Bill Rate mployee Name/Title	<u>Title/Expenditure</u>	<u>Date</u>	Hours	Bill Rate	Billed Am
Labor Bill Rate mployee Name/Title ralg, Marion E	<u>Title/Expenditure</u> LSRP	<u>Date</u> 25-JUN-21	0.75	171.92	128.9
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E	<u>Title/Expenditure</u> LSRP LSRP	<u>Date</u> 25-JUN-21 09-JUL-21	0.75 1.00	171.92 171.92	128.9 171.9
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E riedman, Cary L	<u>Title/Expenditure</u> LSRP LSRP Senior Geologist	<u>Date</u> 25-JUN-21 09-JUL-21 11-JUN-21	0.75 1.00 1.00	171.92 171.92 143.47	128.9 171.9 143.4
Labor Bill Rate mployee Name/Title ralg, Marlon E raig, Marlon E iedman, Cary L iedman, Cary L iedman, Cary L	<u>Title/Expenditure</u> LSRP LSRP Senior Geologist Senior Geologist	<u>Date</u> 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21	0.75 1.00 1.00 2.00	171.92 171.92 143.47 143,47	128.9 171.9 143.4 286.9
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E iedman, Cary L iedman, Cary L iedman, Cary L	Titte/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist	<u>Date</u> 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21	0.75 1.00 1.00 2.00 8.00	171.92 171.92 143.47 143.47 143.47	128.9 171.9 143.4 286.9 1,147.7
Labor Bill Rate Imployee Name/Title Iraig, Marion E Iraig, Marion E Iriedman, Cary L Iriedman, Cary L Iriedman, Cary L Iriedman, Cary L	Titte/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist	<u>Date</u> 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21	0.75 1.00 1.00 2.00 8.00 26.00	171,92 171,92 143,47 143,47 143,47 143,47	128.9 171.9 143.4 286.9 1,147.7 3,730.2
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E iedman, Cary L	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager	<u>Date</u> 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00	171.92 171.92 143.47 143.47 143.47 143.47 143.47 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E tedman, Cary L tedman, Cary L fedman, Cary L fedman, Cary L fedman, Cary L fedman, Cary L aranhao, Claudius A aranhao, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Project Manager	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21 18-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E riedman, Cary L riedman, Claudius A riedman, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Project Manager Project Manager	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E iedman, Cary L iedman, Cary L iedman, Cary L iedman, Cary L aranhao, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Project Manager Project Manager Project Manager	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6
Labor Bill Rate mployee Name/Title raig, Marion E raig, Marion E riedman, Cary L riedman, Cary L riedman, Cary L riedman, Cary L laranhao, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21 18-JUN-21 02-JUL-21 09-JUL-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92 171.92 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6
Labor Bill Rate mployee Name/Title raig, Marion E raig, Marion E riedman, Cary L riedman, Cary L riedman, Cary L riedman, Cary L laranhao, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Senior Scientist	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUN-21 02-JUL-21 11-JUN-21 18-JUN-21 02-JUL-21 09-JUL-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00 4.00 0.50	171.92 171.92 143.47 143.47 143.47 171.92 171.92 171.92 171.92 171.92 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6 687.6
Labor Bill Rate mployee Name/Title ralg, Marion E raig, Marion E riedman, Cary L riedman, Claudius A rieranhao, Claudius A	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Senior Scientist LSRP	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUL-21 11-JUN-21 18-JUN-21 02-JUL-21 09-JUL-21 18-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00 4.00 0.50 2.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92 171.92 171.92 143.47 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6 687.6 71.7 343.8
Labor Bill Rate Employee Name/Title Cralg, Marion E Traig, Marion E Traig, Marion E Triedman, Cary L Triedman, Claudius A Triedman, Cary L Triedman	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Project Manager Project Manager Project Manager Project Manager Project Manager Senior Scientist LSRP LSRP	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUL-21 11-JUN-21 18-JUN-21 02-JUL-21 09-JUL-21 18-JUN-21 18-JUN-21 18-JUN-21 18-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00 4.00 2.00 4.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92 171.92 171.92 171.92 171.92	128.6 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6 687.6 71.7 343.6
	Title/Expenditure LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager Senior Scientist LSRP	Date 25-JUN-21 09-JUL-21 11-JUN-21 18-JUN-21 25-JUL-21 11-JUN-21 18-JUN-21 02-JUL-21 09-JUL-21 18-JUN-21	0.75 1.00 1.00 2.00 8.00 26.00 3.00 9.00 5.00 4.00 4.00 0.50 2.00	171.92 171.92 143.47 143.47 143.47 143.47 171.92 171.92 171.92 171.92 171.92 143.47 171.92	128.9 171.9 143.4 286.9 1,147.7 3,730.2 515.7 1,547.2 859.6 687.6 687.6 71.7 343.8

Total Labor Bill Rate 75.25 11,870.11

09-JUL-21

2.00

171.92

343.84

11,870.11

Task Number: 38580315.60050 Task Name: Task6.5 Field Assgnm

LSRP

Labor	BIII	Rate
PT:AL	_	

: Design/Spec/Permit

Naumoff, Peter G Naumoff, Peter G

Task Total

Capor Din Kate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	<u>Hours</u>	Bill Rate	Billed Amt
Bendre, Nikita (Nikita)	Field Technician	18-JUN-21	8.00	79.14	633,12
Bendre, Nikita (Nikita)	Field Technician	25-JUN-21	3.00	79.14	237,42
Cebula, Robert	Project Scientist	11-JUN-21	0.50	126.15	63.08
Cebula, Robert	Project Scientist	09-JUL-21	5.50	126.15	693.83
Hovis, Jason M	Lead Engineer	09-JUL-21	2.00	166.98	333.96
Humerick, Zachary L	Project Engineer	02-JUL-21	4.00	136.05	544.20
Humerick, Zachary L	Project Engineer	09-JUL-21	6.00	136.05	816.30
Johnston, Elizabeth A	Project Engineer	11-JUN-2f	2.25	136.05	306.11
Johnston, Elizabeth A	Project Engineer	18-JUN-21	6.00	136.05	816.30
Johnston, Elizabeth A	Project Engineer	18-JUN-21	0.75	136.05	102.04
Johnston, Elizabeth A	Project Engineer	25-JUN-21	0.50	136.05	68.03
Johnston, Elizabeth A	Project Engineer	25-JUN-21	8.00	136.05	1,088,40
Johnston, Elizabeth A	Project Engineer	02-JUL-21	4.25	136.05	578.21
Johnston, Elizabeth A	Project Engineer	02-JUL-21	1.50	136.05	204.08
Johnston, Elizabeth A	Project Engineer	09-JUL-21	11.00	136.05	1,496.55
Johnston, Elizabeth A	Project Engineer	09-JUL-21	5.00	136.05	680.25
Lesch, Laura L	Project Assistant	11-JUN-21	1,25	71.73	89.66
Lesch, Laura L	Project Assistant	25-JUN-21	0.50	71.73	35.87
Libert, Stephen F	Staff Scientist	11-JUN-21	3.00	101.41	304.23
Libert, Stephen F	Staff Scientist	18-JUN-21	3.00	101.41	304.23
Libert, Stephen F	Staff Scientist	25-JUN-21	3.00	101.41	304.23

	_					
Labor Bill Ra				**	5W.B.	DW-14-4
Employee Name/Title	<u>Title/Expenditure</u>		<u>Date</u>	<u>Hours</u>	Bill Rate	
Libert, Stephen F	Staff Scientist		02-JUL-21	3.00	101.41	304.23
Maranhao, Claudius A	Project Manager		11-JUN-21	4.00	171.92	
Maranhao, Claudius A	Project Manager		18-JUN-21	5.00	171.92	
Maranhao, Claudius A	Project Manager		25-JUN-21	9.00	171,92	1,547.28
Maranhao, Claudius A	Project Manager		02-JUL-21	8.00	171.92	1,375.36
Maranhao, Claudius A	Project Manager		09-JUL-21	3.00	171.92	515.76
Murphy, Brendan A	Senior Staff Scientist		11-JUN-21	1.00	122.33	122.33
Murphy, Brendan A	Senior Staff Scientist		18-JUN-21	22.00	122.33	
Murphy, Brendan A	Senior Staff Scientist		25-JUN-21	19.00	122.33	
Murphy, Brendan A	Senior Staff Scientist		09-JUL-21	1.25	122.33	
Ruiz, Pablo C	Data Management		18-JUN-21	1.50	86.57	129.86
Samaroo, Sunil	Staff Scientist		18-JUN-21	3,50	101,41	354,94
Tucewicz-Thompkins, Eva	CADD		11-JUN-21	11.00	108.84	1,197.24
Tucewicz-Thompkins, Eva	CADD		02-JUL-21	9.00	108.84	979.56
Tucewicz-Thompkins, Eva	CADD		09-JUL-21	4.50	108.84	489.78
recevice momprais, Eva	CADD		US-30L-21	4.50	100.04	403.70
Total Labor I	Bill Rate			183.75		23,432.16
Reimbursabl	e					
Expenditure Type	Employee/Vendor Name	<u>Date</u>	inv Number	Raw Cost	Multiplier	
Miscellaneous - Allowable	Samarco, Sunii	27-MAY-21	EXP7859173	538,07	1.0250	551.52
Miscellaneous - Allowable	Samaroo, Sunil	24-JUN-21	EXP7885940	687.22	1.0250	704.40
Outside Contractors Fees	ENVIROSCAPES INC	17-JUN-21	7748	4,551.98	1.0250	4,665.78
Postage & Shipping	FEDERAL EXPRESS	28-JUN-21	RCL741712430	11.67	1.0250	
Z10 Storage	PAC VAN INC	25-JUN-21	20124545	117,29	1.0250	120,23
Z11 Equipment Other	PINE ENVIRONMENTAL SERVICES	28-MAY-21	US1210038809	88.83	1.0250	
	ЩС				1.0250	
Z11 Equipment Other	PINE ENVIRONMENTAL SERVICES LLC		US1210045267	39,31		107
Z11 Laboratory	TESTAMERICA LABORATORIES INC	01-JUN-21	4600070324	1,537,35	1.0250	1,575.78
Total Reimbu	ırsable			7,033.65		7,761.01
Task Total : Task6,	5 Field Assgnm					30,861.01
Project Total : JCP&L Dov	er Former MGP Site					48,937.58
Invoice Sum	moriae					
Total Current Amount:	river tes					48,937,58
Retention Amount:						0.00
Pre-Tax Amount :						48,937.58
Total invoice Amount:						48,937.58
	b		·			
Billing Summ						_
Billing Summary	Current	<u>Prior</u>	<u>Total</u>	<u>L</u>	<u>imit</u>	<u>Remain</u>
Billings	48,937.58	5,166,4 28.29	5,215,365.87	5,122,7 7 5	i.86	-92,590.01
Tax	0.00	0.00	0.00			
Billing Total:	48,937.58	5,166,428.29	5,215,365.87			
Outstanding	Invoices					
Invoice Number			Invoice Date			Invoice Balance
2000497488			20-MAY-21			213.46
2000507517			17-JUN-21			94,920.15
						,
Outstanding	Total:				•	95,133.61
						-

SES#1122523667	fax#3-8047423
APPROV	ALSTAMP
P.O. NO. 48007282	INV. NO. 2000520487
COMPANY CODE: SCOO	COST CENTER
COST HLEMENT (GL ACCT	» <u>550300</u>
OPDEN: 3001019	WING
APPROVED BY:	EMP. NO.

E. Cominge c4939 8/26/2021 Approved for \$48,937.58



AECOM 1255 Broad Street, Suite 201 Clifton, New Jersey 07013 www.aecom.com 973 883 8500 tel 973 883 8501 fax

July 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 151 - Jun 5 to Jul 9, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 48,937.58 for professional services rendered on the subject project for the period ending Jul 9, 2021. Services rendered during the Jun 5, 2021 to the Jul 9, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



AECOM 1255 Broad Street, Suita 201 Clifton, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fax

July 19, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 151 - Jun 5 to Jul 9, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by URS for the above referenced project from Jun 5 to Jul 9, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #21 dated Nov 18, 2020, as well as other additional project tasks. The AECOM COR #21 in the amount of \$298,790.35 was approved by JCP&L on Jan 15, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Jun 5 to Jul 9, 2021)	\$41,176.57
Non-Labor Charges - (Jun 5 to Jul 9, 2021)	\$7,761.01
Vol Discount at 0.0 % - (Jun 5 to Jul 9, 2021)	<u>\$0.00</u>
Non-Lahor Charges - Vol Discount - (Jun 5 to Jul 9, 2021)	\$7,761.01
Total Invoice (\$) - (Jun 5 to Jul 9, 2021)	\$48,937,58

A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include the start of the construction oversight of the Neptune Building demolition, O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, charges associated with the last quarterly sampling for the DGW Permit By Rule, consulting and design services associated with the installation of the new recovery wells, as well as the automated pump system for the new RW-8 area of concern, and activities related to the weekly oversight of the DNAPL groundwater recovery stations.



Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.

Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021. The current PO amount is \$353,119.17 and includes \$55,328.82 that was carried over from the old PO number.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Jul 9, 2021 and including the approved COR #21, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,214,762.82 of project charges which amount to 1.8% over the current authorized contract amount of \$5,122,755.86. A change order request for out-of-scope services performed at the request of JCP&L was prepared and submitted to JCP&L on July 15, 2021 for review and approval.

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity Progress Report No. 151 – through Jul 9, 2021

JCP&L Former Dover MGP Site URS Job No. 38580382 / AECOM Job No. 60390438

			Pag	e 1 of 2					
JCP&L Services (06/05/21 to	Charged to Contractor Support Services Task 0 / 00000				Charged to PDI, RAWP or Constr Oversight Task 5/50000 or Task 6/60000				
07/09/21)	Unit	Quantity	Rate (S)	Cost (\$)	Unit	Quantity	Rate (\$)	Cost (\$)	
1) Task 1 - Project Invoi	cing, Pru	ject Manageme	nt, RFP Paci	cage, Bid Revi	ews, GC Sc	lection & Peri	uit Meetings		
Majed Khoury	Hr	0.50	\$180.58	\$90.29	Hr		\$180.58	\$9.00	
C. Maranhao	Hr	31.00	\$171.92	\$5,329.53	Hr		\$171.92	\$0.00	
Dale (Pete) Wray	Hr		\$143.47	\$0.00	Fir	1	\$143.47	\$0.00	
Michael DePaola	Hr		\$126.15	50.00	Hr		\$126.15	\$0.00	
Alexandru Giuroiu	Hr	3.00	\$86.57	\$259.71	Hr		\$86.57	\$0.00	
Cheryl Bir	Hr	2.25	\$86.57	\$194.78	Fir		586.57	\$0.00	
L. Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00	
Subtotal for (1)		36.75		\$5,874.31		0.00		\$0.00	
2) Task 2 - On-Site Cons	struction	Oversight for 6	GWTVs & Ta	r Filling (Nik	Ita Bendre)	& Neptune Pr	operty (Brends	in Murphy)	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	12.00	\$171.92	\$2,063.04	
Brendan Murphy	Hr		\$122.33	50.00	Hr	43.25	\$122.33	\$5,290.78	
Nikita Bendre	Hr		\$79.14	\$0.00	Hr		\$79.14	\$0.00	
Subtotal for (2)		0.00		0.00		55.25		\$7,353.82	
Mileage			\$0.00	\$0.00			\$33.60	50.00	
Travel All Other		1	50.00	\$0.00			\$0.00	50.00	
Exp Subtotal for (2)				\$0.00				50.00	
3) Task 3 - DGW Permit	t-By-Rule	GWIV Monit	tering and Od		Recovery M	emt, and DNA	L Gauging of	MWs	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	8.00	\$171.92	\$1,375.36	
Elizabeth Johnston	Hr	-	\$136.05	50.00	Hr	18.00	\$136.05	\$2,448,90	
Zuchary Humerick	Hr	1	\$136.05	\$0.00	Hr	3,00	\$136.05	\$408.15	
Eva Tucewicz	Ifr		\$108.84	\$0.00	Hr	4.00	\$108.84	\$435.36	
Sunil Samaroo	Hr		\$101,41	\$0,00	Hr	3.50	\$101.41	\$354.94	
Nikita Bendre	Ffr	1	\$79.14	\$0,00	Hr	8.00	\$79.14	\$633.12	
L. Lesch	Hr	1	\$71.73	00.02	Hr	1.75	\$71.73	\$125.53	
Subtotal for (3)	rn	0.00	3/1./3	\$0.00	111	46.25	311.13	\$5,781.35	
		0.00	\$0.00	\$0.00	-	1.0250	\$0.00	\$0.00	
Mileage & Car Rental		-	\$0.00	\$0.00	-	1.0250	\$0.00	\$0.00	
Field Supplies/Matls		1	\$0.00	50.00		1.0250	\$128.14	\$131.34	
Pine Envtl Sves						-	\$1.537.35	\$1.575.78	
Test America Labs			50.00	\$0.00		1.0250	\$0.00	\$1.575.76	
Extra Duty Solution - Poli			50.00	\$0.00	-	1.0250			
Temp Fac - PAC VAN Inc			\$0.00	\$0.00		1.0250	\$117.29	\$120.22	
Misc - Allowables		-	50.00	50.00		1.0250	\$1,225.29	\$1,255.92	
Travel - All Others			\$0.00	\$0.00		1.0250	\$0.00	\$0,00	
Exp Subtotal for (3)	w 4 4s	Y224 1 1	10 101	\$0.00	-4°	1 11 12	- CI - 1	\$3,083.27	
4) Task 4 - Engineering		RW8 Analan a						C1 001 17	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	11.00	\$171.92	\$1,891.12	
Jason Hovis	Hr		\$166.98		Hr	2.00	\$166.98	\$333.96	
Cary Friedman	Hr		5143.47	\$0.00	I ir	16.00	\$143.47	\$2,295.52	
Elizabeth Johnston	Hr	-	\$136.05	\$0.00	Hr	16.25	\$136.05	\$2,210.81	
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	4.00	\$136.05	\$544.20	
Eva Tucewicz	Hr		\$108.84	00.02	Hr	8.50	\$108,84	\$925.14	
Pablo Ruiz	Hr		\$86.57	S0.00	Hr	1.50	S86.57	\$129.86	
Susan Beatie	Hr	1 0.50	\$71.73	\$0.00	Hr		\$71.73	50.00	
Labor Subtotal for (4)		0.00		\$0.00		59.25	22.21	\$8,330.61	
Car Rental/Mileage			\$0.00	\$0.00		1,025	\$0.00	\$0.00	
Prentier Safety			\$0.00	50.00		1.025	\$0.00	\$0.00	
SGS North America			\$0.00	\$0.00		1.025	\$0,00	\$0.00	
			\$0.00	50.00		1.025	50.00	\$0.00	
Pine Envtl Sves Travel All Others		-	\$0.00	50.00		1.020	\$0.00	\$0.00	



Page 2 of 2

	Tot	al Non-Labo	TOTAL (S)	\$0.00 \$5,874.31	Te	tal Non-Lab	TOTAL (S)	\$7,761.01 \$43,063.27
		Total Labo	or Charges (S)	55,874.31			or Charges (S)	\$35,302.26
	HOURS	36.75	TOTAL (S)	\$5,874.31	HOURS	259.00	TOTAL (S)	\$35,302,26
Subtotal for (9)	***	0.00	211112	\$0.00		45.75		\$6,510.94
Laura Lesch	Hr		571.73	\$0.00	Hr	1 44(471)	\$71.73	\$0.00
Eva Tucevicz	1lr		\$108.84	\$0.00	Hr	12,00	\$108.84	\$1,306 08
Curv Friedman	Hr		\$143,47	\$0.00	Hr	21.00	\$143.47	\$3,012.88
Mike Akerbergs	₹IT		\$171.92	\$0.00	llr	11.00	\$171.92	\$0.00
Peter Naumoli	Hr	-	\$171.92	\$0.00	Hr	11.00	\$171.92	\$1.891.12
Marion Craig	ilr		\$171.92	\$0.00	Hr	1.75	S171.92	\$300.80
Exp Subtotal for (7)				\$0.00		-		\$4.677.74
US Post Office & FEDE	Χ		\$0.00	\$0.00		1.0250	\$11.67	\$11.90
Enviroscape			\$0.00	\$0.00		1.0250	\$4.551.98	\$4,665.78
Maleage & Car Rental			\$0.00	\$0.00		1 155.70	\$0.00	\$0.00
Subtotal for (7)		0.00	0.00	\$0.00		2.50	Children (142)	\$415.58
1. Lesch	lir .		\$71.73	\$0.00	Hr	0.00	\$71.73	\$0.00
T. Meyers	Hr		5143.47	\$0.00	IIr	0.50	\$143,47	\$71.7-
S. Albrecht	Hr		\$166.98	\$0.00	l1r	200	\$166.98	\$0.(10)
C. Maranhao	Hr		\$171.92	₹0,00	Hr	2.00	\$171.92	\$343,84
7) Task 7 - NJDEP Miti		(Revegetat						
Exp Subtotal for (6)				\$0.00				\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	\$0.00
Supplies & Matts			\$0.00	\$0.00		1.025	\$0.00	\$0,00
Extra Duty Solution - Pol	ice		\$0,00	\$0,00		1.025	\$0.00	\$0.00
Pine Eastl Sves			\$0,00	Su on		1 025	Stritte	\$0,00
Mileage			50,00	\$0.00		1.025	\$0.00	00.02
Subtotal for (6)		0.00		\$0.00		30,00		\$3,650.9
Laura Lesch	Hr		\$71.73	\$0.00	ffr		\$71.73	\$0.08
Nikita Bendre	lir		\$79.14	\$0.00	Hr	3.00	\$79.14	\$237.43
Stephen Libert	Hr		\$101.41	\$0.00	Hr	12.00	\$101.41	\$1,216.93
Robert Cebula	līr		\$126.15	\$0.00	Hr	6.00	\$126.15	\$756.90
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	3,00	\$136.05	\$408,15
C. Maranhao	Hr		\$171.92	\$0.00	Нг	6.00	\$171.92	\$1.031.53
6) Task 6 - Other Tasks	(DNAPL O	versight &	DNAPL Drum	Disposal) / Vo	olia & Evoqu	ца & O&M о	I DNAPL Recov	ery Pumps
Exp Subtotal for (5)				\$0.00				\$0.00
Travel All Others			\$0,00	\$0.00			\$0.00	\$0.00
US Post Office & FEDE	X		\$0.00	\$0.00			\$0.00	\$0.00
Mileage			\$0.00	\$0.00		1.025	\$0.00	\$0.00
Subtotal for (5)		0,00		\$0.00		20.00		\$3,259.05
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0,00
Mike DePaola	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
F. Johnston	Hr		\$136.05	\$0.00	Hr	5.00	\$136.05	\$680.25
C. Maranhao	Hr	1	\$171,92	\$0.00	1tr	1500	\$171 92	\$2.578.80

Labor Charge - (Jun 5 to Jul 9, 2021)	\$41,176.57
Non-Labor Charges - (Jun 5 to Jul 9, 2021)	\$7,761.01
Vol Discount at 0.0 % - (Jun 5 to Jul 9, 2021)	S0.00
Non-Labor Charges - Vol Discount - (Jun 5 to Jul 9, 2021)	\$7,761.01
Total Invoice (S) - (Jun 5 to Jul 9, 2021)	\$48,937.58

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Jul 9, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Questerly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years & Manual DNAPL Recovery and DNAPL Gauging	AECOM	08/06/18	11/06/21		Charges are matnly related with the completion and submitted of the report in NJDEP on Jun 10, 2021 and the chemical analytical costs by Eurobus Laboratory. Held sampling equipment renting from Pine Environmental, the monthly rental of the temporary onsite storage container, and other ancidary charges.
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/01/20		Final Draft Deed Notice files write transmitted to JCP&L for final review on Sep 4, 2020. JCP&L and their legal counsel provided comments to AECOM on Sep 15, 2020 regarding the Deed Notices for the public roadways and railroad right-of way. As per comments received from JCP&L, AECOM revised the specific Deed Notices for East Blackwell, Sammis Ave and the calinsati dight-of-way on Nov 2021. Additional discussions are taking place to assess the need to collect metes and bounds for the impacted portion of undeeded properties such as railroad lines and roads.
Permil Requirements Review & Procurement of Proposals for Installing Addil Recovery Wells	AECOM	09/06/20	.10/28/20	04/14/21	On Apr 14, 2021, Monts County signed the toad opening permit and authorized the installation of additional geoprobe borings (8) and recovery wells (4) on East Blackwell St. Geoprobe and drilling activities were conducted from Apr 19 to 23, 2021 by SGS America.
Demolition of the Neptune Property Bldg	AĘCOM	09/06/20	10/28/20	05/05/21	Panitier started with the demosition activities on May 10, 2021. Panither completed 100% of the ACBM Debris including fluorescent spirts and balleaus from May 10 to May 18, 2021. Disconnection of the fire water, water, and sewer laterals have been performed during this period. AECOM provided support to Panither Technologies in the preparation of the Dover Demosition permit to the Town of Opvor, NJ. Demosition activities are anticipated to re-start in the weak beginning July 19, 2021.
RW-8 Analan Property & East Blackwell investigations	AECOM:	09/06/20	10/28/20	11/08/20	Dekota Technologies and SGS North America performed a High Resolution Site Characterization (HRSC) survey at the Analan property and at East Blackwell Street. ACOM reviewed the data and the Dekota Technologies report. Tentative locations for the instoliation of the recovery wells based on the Investigation have been selected. The Scope of Work (SOW) for the installation of the recovery wells including the depths of the recovery wells, well account intervals, and installation of construction have been prepared and submitted to SGS America for costing purposes.
Other Various Activities	AECOM	01/02/21			Other activities currently being conducted by AECOM are: 1) On Apr 12, 2021, C. Meranhap participated on a conference call with Ms. E. Comings (JCP&L) and Lisa Hemilton (NJNG) to discuss the revamping of the NANG regulator station located inside the fenced area of the Dovar Former MGP site. A date to start these activities has been set to Oct 2021. 2) O&M activities of the DNAPL recovery stations are on-going and include the troubteshooting of the capability for the recharging of the batteries, general condition of the secondary containment area, and general coanty of the recovery stations; 3) On Jun 23, 2021, AECOM contacted NJDEP (Mr. David Morrow) to discuss the tree cyanide Issue; and 4) Efforts associated with the preparation of the Historic Fill CEA.

Notes:

1) Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively, 2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culvists and also the sediment cleaning of the drainage canal connecting the culverts. Apr 24, 2020 the field activities and construction oversight were completed.

TABLE 2 BUDGET ANALYSIS BY TASK JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through July 9, 2021

JCPBL TBSK /Sublask	URS Cost Code	Task Doscription and Work Order	Approved Budget {Aflor 09/03/20}	Jan 15, 2021 COR Approval	Current Approved Budget (After \$1/15/21)	Total Expended to Date (Jun 4, 2021)	Spent During Reporting Forlad (to Jul 8, 2021)	Total Expended to Date (Jul 9, 2021)	Available Balance (Jul 9, 2021)	% of Current Budget Expended
0	00000	Contractor Support Services	\$513,615.21	\$26,806,08	\$540,421.29	\$540,242.25	55,874.31	\$546,116.56	(\$5,694.14)	101%
ŋ.Ü		Contractor Support Services	S-199, 174,48	\$26.806.05	\$525,980.56	\$525,801.30	\$5,874.31	\$531,676.67	185,685,111	101%
		Bring Adjustment - Lahor Discount for Involve #37802766 covering charges from July 30 to August 28, 2016	\$0.00		\$0.00	\$367.27		\$307.27	(\$357.27)	
g.1		PRB Advisory Panel Meeting	510,301.86		\$10,301.86	\$10,301.80		\$10,301,88	\$0.00	100%
0.2		HADEP PRB Presentation	\$4,138.87		\$4,138.87	\$4,139.03		\$4,139 03.	\$0.27	100%
5	50000	Pre-Design, Pilot Study, RAWP & Other Scape of Work	53,182,945.18	\$176,370,98	53,359,316.14	\$3,446,852,48	\$23,585.78	\$3,470,438.26	(\$111,122.12)	103%
5.1		Pro-Design Work Plan	\$46,944.45		\$46,944.45	\$46,044.45		\$46,944.45	\$0.00	100%
5.2		Implement Pre-Dasign Work Plan (including Groundwater Modelling 53075)	\$458,240.96		5458,240.96	\$458,221 39		\$458,221.35	\$19.57	100%
5.3		Consulting and Dosign Including Neptune Property • RVB TatGost Investigation	\$1,081,209.29	\$86.276.20	\$1,167,485.49	\$1,211,610,62	58,330:61	\$1,219,541.23	(\$82,485.74)	104%
		Scil Collineation Evaluation / Permitting (2-Year Update of Wed Search)	\$216,243,94		5216,243.94	\$216,509,10		\$216,509.10	(\$766.15)	100%
	59000	Regulatory Support and Vapor Intrusion Study	\$74,799.75		\$74,799.75	\$72,893.64		\$72,893.94	\$1,905.81	97%
		Other Requested Tasks (authorized by email, Dev Agrament with Twp of Rockmany, disposal of DNAPL Drums by Veolia, update well source A LSRP)	\$906,251.78	\$63,015.10	\$959,206.B8	\$996,565.42	\$10,161,85	\$1,009,727.27	(540,680.19)	
	80000 Sedes	Other Scope of Work Considerations (Spartan Oil Wall Westerd Royagatation as per NUCEP Pormit)	5399,255.01	\$27,079 86	5425,334,67	\$441,107.55	\$5,093.32	5446,200.88	(\$19,866.21)	105%
Ď	60000	Procurement Assistance, Construction Oversight, and Remodel Action Report Proparation	\$796,948.46	\$0.00	\$796,948.46	\$682,807,19	\$10,512.67	\$693,420.00	\$130,808.06	87%
6.1		Procurement Assistance/Design Assistance	\$31,132,14		\$31,132.14	\$28,030.05	\$3,259,05	\$32,190.00	(\$1,057.36)	103%
0.2		Remodial Commission Cost plus Oversight	\$737,735.44		\$764,815.10	\$653,572,01	57,353.82	\$600,925.83	\$103,889,27	86%
g.3		Romedial Action Report (RAR) Proparation	\$28,080,88		528,090.88	\$0.00		\$0.0G	\$20,080.88	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		\$0.00	\$304:23		8304,23	(\$304.23)	
7	70000	Remedial System initial Start-Up, Demonstration Period and Lung-Term C&M	\$330,476,66	\$95,618,31	\$426,089.97	\$495,923.52	58,664.62	\$504,787.94	(\$78,697.07)	118%
7.1		Sinit-Up Testing	\$6,719.00		\$6,718.00	\$0,00		\$C.00	\$6,718,00	0%
7.2		Demonstration Period	\$15,923.69		\$15,923.69	\$0.00		\$6.00	\$15,923.69	0%
7.3		Long-Term OBM	\$301,712.97	\$95:613 31	5397,326.28	\$495,923.32	\$8,864.62	\$504,787 84	(\$197,461.35)	127%
7.4		OBM Manuals	\$6,122.00		\$6,122,00	\$0,00		\$0,00	\$5,122.00	0%
	c	ONTRACT TOTALS (excluding the Garage Demolition Project):	\$4,823,985,51	\$298,790,35	\$5,122,775,86	\$5,165,825.34	\$48,937.68	\$5,214,762,82	1804,506.28}	101.8%
	11130307	Garage Demoktion	\$45,130.00		\$45,130.00	\$44,212.94		\$44,212.94	\$917:06	97,0%
		CONTRACT TOTALS:	\$4,869,115.51	\$298,780.35	\$5,167,905.86	\$5,210,038,48	\$46,937.58	\$5,258,975.76	(563,985,32)	101.8%

No ex	
1.	
2.	

The \$298,790.35 CDR amount is booked at the JCP&L Tinsk and URS Cost Codes listed below:	Amount (5)	JCPAL Task	URS Cost Code
s) Contractor Support Services	\$26,806.08	0	0
b) Design Services & NJOEP Reporting (May 2021)	586,276.20	5.3	90000
c) Other Requested Tosks including LSRP	\$63,015,10	53	59000
d) Remedial Construction Cost plus Oversigns	527,079 66	5.3	80000 Senes
c) Long Teath O&N	595,613.31	7.3	70000
TOTA	(5) 5298 790 35		

Check Payment to: AECOM Technical Services, Inc. An AECOM Company 1178 Paysphera Circle Chicago, IL 60674

ACH Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America Account Number 5800937020 ABA Number 071000039

Wire Transfer Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of Anterica New York, NY 10001 Account Number 5800937020 ABA Number 028009593 SWIFT CODE BOFAUS3N



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax:973-883-8501

Federal Tax ID No. 95-2661922

ATTN : Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ava

Morristown, NJ 07960-6118 United States

2/10 Net 45

RECEIVED

SEP 1 6 2021

Invoice Date: 31-AUG-21 Invoice Number: 2000534074

Agreement Number: UR13814900 Agreement Description: Conversion - 1260252

Payment Term: 45 DAYS

Please reference invoice Number and Project Number with Remittance

Environmental Department Project Name : JCP&L Dover Former MGP Site Project Number : 60390438 Bill Through Date: 10-JUL-21 - 06-AUG-21 Claudius Maranhao JCP&L Dover Former MGP Site For Professional Services Rendered Through 10-JUL-21 - 08-AUG-21 \$5,122,775.86 Funded Amt \$5,215,365.87 Freylous Billings Services of Office Personnel: Labor \$63,051.83 \$1,409.73 NonLabor **TOTAL CURRENT INVOICE** \$64,461.56 \$5,122,775.86 Funded Amount Bill To Dale: \$5,279,827.43 Remaining Balance: -\$157,051.57

SEST	11226	81835	Fox #	8041	981		
1	. Al	PPROV	ALSTAM	P	****		
P.O. NO.	48007282	· · · · · · · · · · · · · · · · · · ·	INV. NO.	20005	3407	4	
COMPAN	Y CODE.:	SCOO	COST CE	NTER			
COST EL	EMENT (G	L ACCT.	550300	***************************************		المصد	-
ORDER:	3001019	this course this same that	WBS:				
APPROVI	ED BY:	4. ii. *	EMP. NO.:				

C4939 09/23/2021 E.Comings Approved for \$64,461.56

Project Number : 60390438 Bill Through Date : 10-JUL-21 - 06-AUG-21 Claudius Maranhao

Project Name : JCP&L Dover Former MGP Site Invoice Number : 2000534074

٠.		
		,
Task Number		38580312.10000
I mon committee	•	

Task Total : Design/Spec/Permit

Task Name: Management Support

					,
Labor Bill Rate					
Employee Name/Title	Title/Expenditure	Date	Hours	Bill Rate	Billed Amt
Bir, Cheryl	Data Management	16-JUL-21	1.00	88.57 ₩	86.57
Bir, Cheryt	Data Management	23-JUL-21	1.50	86.57 💉	129.86
Bir, Cheryl	Data Management	06-AUG-21	0.50	86.57	43.29
Maranhao, Claudius A	Project Manager	16-JUL-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	23-JUL-21	4.00	171.92	687.68
Marenhoo, Claudius A	Project Manager	30-JUL-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	06-AUG-21	4.00	171.92	687.68
Tatal Labor ON E		4:	19.00		2.040.44
Total Labor Sili F			18.00		3,010.44
Tack Total • Managemen	t Support				9 040 44

Task Number : 38580312.50010	Task Name : Design/Spec/Permit

•			• .	,
Title/Expenditure	Date	Hours	Bill Rate	Billed Amt
Lead Scientist	16-JUL-21	0.75	166.98 ₹	125.24
LSRP	16-JUL-21	1.00	171.92	171.92 /
	23-JUL-21	1.00	171.92	171.92
LSRP		5.50	171.92	945.56
LSRP	06-AUG-21	1.00	171.92	171.92
Senior Geologist	16-JUL-21	27.00	143.47	3,873.69√
Senior Geologist	23-JUL-21	2.00	143.47	286.94 <
Senior Geologist	30-JÜL-21	10.00	143.47	1,434.70
Senior Geologist	06-AUG-21	13.00	143.47	1,865.11
Project Manager	16-JUL-21	5.50	171.92	945.56
Project Manager	23-JUL-21	6.00	171.92	1,031.52
Project Manager	30-JUE-21	4.00	171.92	687.68
Project Manager	06-AUG-21	4.00	171.92	687.68
Senior Scientist	16-JUL-21	0.50	143,47	71.74°
LSRP	16-JUL-21	3.00	171.92	515.76
LSRP	23-JUL-21	2.00	171.92	343.84
LSRP	30-JUL-21	2.00	171.92	343.84
LSRP	06-AUG-21	1.00~	171.92	171.92
	, 4	89.25		13,846.54
	Lead Scientist LSRP LSRP LSRP Senior Geologist Senior Geologist Senior Geologist Senior Geologist Senior Geologist Project Manager LSRP LSRP LSRP	Lead Scientist 16-JUL-21 LSRP 16-JUL-21 LSRP 23-JUL-21 LSRP 30-JUL-21 LSRP 06-AUG-21 Senior Geologist 16-JUL-21 Senior Geologist 23-JUL-21 Senior Geologist 30-JUL-21 Senior Geologist 06-AUG-21 Project Manager 16-JUL-21 Project Manager 23-JUL-21 Project Manager 30-JUL-21 Project Manager 16-JUL-21 Project Manager 16-JUL-21 LSRP 16-JUL-21 LSRP 23-JUL-21 LSRP 30-JUL-21 LSRP 30-JUL-21 LSRP 06-AUG-21	Lead Scientist 16-JUL-21 0.75 LSRP 16-JUL-21 1.00 LSRP 23-JUL-21 1.00 LSRP 30-JUL-21 5.50 LSRP 06-AJG-21 1.00 Senior Geologist 16-JUL-21 27.00 Senior Geologist 23-JUL-21 2.00 Senior Geologist 30-JUL-21 10.00 Senior Geologist 06-AUG-21 13.00 Project Manager 16-JUL-21 5.50 Project Manager 23-JUL-21 6.00 Project Manager 30-JUL-21 4.00 Project Manager 06-AUG-21 4.00 Senior Scientist 16-JUL-21 0.50 LSRP 16-JUL-21 3.00 LSRP 23-JUL-21 2.00 LSRP 30-JUL-21 2.00 LSRP 30-JUL-21 2.00 LSRP 30-JUL-21 2.00 LSRP 30-JUL-21 2.00 LSRP 16-AUG-21 1.00	Lead Scientist LSRP LSRP 16-JUL-21 LSRP 23-JUL-21 LSRP 30-JUL-21 LSRP 30-JUL-21 LSRP 30-JUL-21 LSRP 30-JUL-21 Senior Geologist 16-JUL-21 Senior Geologist 30-JUL-21 Senior Scientist Senior Senio

13,846,54

Took Number : 90 EDAG4E GAASA	Took Name : Tooks & Cold Angeron

	••				
Labor Bill Rate	, ,	. ,			
Employee Name/Title	Title/Expenditure	Date	<u>Hours</u>	Bill Rate	Billed Amt
Acs, Eric	Construction Oversight Manager	06-AUG-21	40.00	122.33	4,893.20
Bendre, Nikita (Nikita)	Field Technician	16-JUL-21	2.00	79.14	158.28
Bendre, Nikita (Nikita)	Field Technician	23-JUL-21	8.00	79.14	633.12
Bendre, Nikita (Nikita)	Field Technician	23-JUL-21	2,00	79.14	158.28
Bendre, Nikita (Nikita)	Field Technician	30-JUL-21	40.00	79.14	3,165.60/
Bendre, Nikita (Nikita)	Field Technician	30-JUL-21	9.50	79.14	751,83
Cebula, Robert	Project Scientist	16-JUL-21	5.00	126.15	630.75
Cebula, Robert	Project Scientist	23-JUL-21	6.00	126.15	756.90/
Cebula, Robert	Project Scientist	30-JUL-21	22.00	126.15	2,775.304
Cebula, Robert	Project Scientist	06-AUG-21	5.00	126.15	630.75°
Dullavin, Christian	Staff Scientist	30-JUL-21	29.50	101.41	2,991.60
Friedman, Cary L	Senior Geologist	06-AUG-21	9.00	143.47	1,291.23
Humerick, Zachary L	Project Engineer	16-JUL-21	5.00	136.05	680.25
Humerick, Zachary L	Project Engineer	06-AUG-21	11.00	136.05	1,498,551
Johnston, Elizabeth A	Project Engineer	16-JUL-21	7.00	136.05	952,35
Johnston, Elizabeth A	Project Engineer	23-JUL-21	10.25	136,05	1.394.51
Johnston, Elizabeth A	Project Engineer	23-JUL-21	2.75	136.05	374.14
Johnston, Elizabeth A	Project Engineer	30-JUL-21	5.75	136.05	782,29~
Johnston, Elizabeth A	Project Engineer	30-JUL-21	2.25	136.05	306.11
Johnston, Elizabeth A	Project Engineer	06-AUG-21	1.00	136.05	136.05
•					

: Lat Bill 5					
Labor Bill R imployee Name/Title	ate Title/Expenditur	e	Date	Hours Bill Rate	Billed A
ohnston, Elizabeth A	Project Engineer	-	06-AUG-21	7.00 136.05	952.
esch, Laura L	Project Assistant		23-JUL-21	1.25 71.73	89.
ilaranhao, Claudius A	Project Manager		16-JUL-21	6.00 171.92	1,031.
faranhão, Claudius A	Project Manager		23-JUL-21	7.00 171.92	1,203
iaranhao, Claudius A	Project Manager		30-JUL-21	8.00 171.92	1,375.
Aaranhao, Claudius A	Project Manager	"n' 'a'	06-AUG-21	8.00 171.92	1,031.
Aurphy, Brenden A	Senior Staff Scien		16-JUL-21	1.00 122.33	122.
Aurphy, Brendan A	Senior Staff Scien		23-JUL-21	39.00 122.33	4,770.
Aurphy, Brendan A	Senior Staff Scien	ntist	23-JUL-21	5.50 122.33	672.
atel, Jay	Field Technician	i	23-JUL-21	8.00 79.14 3.00 79.14	. 633:
atel, Jay	Field Technician		23-JUL-21 23-JUL-21	3.00 79.14 5.00 136.05	237. 680.
aterka, Austin Ward (Austin			30-JUL-21	28.00 136.05	3.809
aterka, Austin Ward (Austii aterka, Austin Ward (Austii			. 30-JUL-21	22.00 136.05	2,993.
aterka, Austin Ward (Austi aterka, Austin Ward (Austi			06-AUG-21	4.00 136.05	544.
reterka, Ausum Ward (Ausum Tucewicz-Thompkins, Eva	CADD . Project Engineer		23-JUL-21	2.00 108.84	217.
ucewicz-Thompkins, Eva	CADD		30-JUL-21	2.00 108.84	217.
ucewicz-Thompkins, Eva	CADD		06-AUG-21	6,00 108,84	653.
Total Labor	Bill Rate	•		383.75	45,194.
Reimbursab	Ia	•		,	
xpenditure Type	Employee/Vendor Name	Date	Inv Number	Raw Cost Multiplier	
/laterials	Taterka, Austin Ward (Austin)	28-JUL-21	EXP7924036	2.24 - 1.0250	2.
fileage	Cebula, Robert	09~JUL-21	EXP7924097	28.00 1.0250	28,
illeage	Cebula, Robert	15-JUL-21	EXP7924097	28.00 1.0250	28.
lileage	Taterka, Austin Ward (Austin)	22-JUL-21	EXP7924036	69.44 1.0250	71.
lleage	Cebula, Robert	23-JUL-21	EXP7924097	28.00 1.0250	28
lijeage	Dullavin, Christian	26-JUL-21	EXP7924998	38.08 1.0250	39
lileage	Taterka, Austin Ward (Austin)	26-JUL-21	EXP7924036	69.44/ 1.0250	71.
tileage	Cebula, Robert	27-JUL-21	EXP7924097	28.00* 1.0250	28.
lileage	Taterka, Austin Ward (Austin)	27-JUL-21	EXP7924036	69.44/ 1.0250	71.
lleage	Cabula, Robert	28-JUL-21	EXP7924097	28.00/ 1.0250	28.
lileage.	Taterka, Austin Ward (Austin)	28-JUL-21	EXP7924036	72.80/ 1.0250	·74.
lileage -	Cebula, Robert	29-JUL-21	EXP7924097	28.00/ 1.0250	28.
Alleage	Dullavin, Christian	29-JUL-21	EXP7924998	38.08' 1.0250	39.
Alleage	Dullavin, Christian	30-JÜL-21	EXP7924998	38.08 1.0250	39.
Alleäge .	Taterka, Austin Ward (Austin)	30-JUL-21	EXP7924036	69.44* 1.0250	71.
raval All Other	Taterka, Austin Ward (Austin)	22 JUL-21	EXP7924036	3,75 1.0250	3.
ravel All Other	Taterka, Austin Ward (Austin)	26-JUL-21	EXP7924036	5.00/ 1.0250	
rayel All Other	Taterka, Austin Ward (Austin)	27~JÜL-21	EXP7924036	5.00 1.0250	5.
ravel All Other	Taterka, Austin Ward (Austin)	28-JUL-21	EXP7924038	5.00′ 1.0250	5.
ravel All Other	Taterka, Austin Ward (Austin)	30-JUL-21	EXP7924036	5.00 / 1.0250	. ,
10 Storage	PAC VAN INC	23-JUL-21	20463764	124.36 - 1.0250	127.
14 Material Handling	PINE ENVIRONMENTAL SERVI	ICES 08-JUL-21	US1210049303	592.17 - 1.0250	6 <u>0</u> 8.
**					
Total Reimb	ursable			1,375.32	1,409.
Task Total : Task6.	5 Field Assgnm				47,604
		,			
Project Total : JCP&L Do	ver Former MGP Site		,		84,461
					,
Invoice Sun	maries				
otal Current Amount :					64,461
tetention Amount:					0
					64,481
ra-Tax Amount :					O
	, *				54,461
ax Amount:	· · ·				-
ax Amount :					
Pre-Tax Amount : ax Amount : Potal Invoice Amount : Billing Sum	maries				.,,
ax Amount : otal Invoice Amount : Billing Sum	maries Current	Prior	Total	Limit	
ex Amount : otal Invoice Amount : Billing Sum		Prior 5,215,365.87	Total 5,279,827.43	<u>Limit</u> 5,122,775.86	
ax Amount : otal Invoice Amount : Billing Sum tilling Summary. illings	Current				
ax Amount : otal Invoice Amount : Billing Sum tilling Summary. tillings	<u>Current</u> 64,461.56 0.00	5,215,365.87 0.00	5,279,827.43 _. 0.00		
ax Amount : otal Invoice Amount : Billing Sum ittling Summary ittlings ax	<u>Gurrent</u> 64,461.56	5,215,365.87	5,279,827.43	5,122,775.86	
ax Amount : otal Invoice Amount : Billing Summary. illings ax lilling Total :	<u>Current</u> 64,461.56 0.00 64,461.56	5,215,365.87 0.00	5,279,827.43 _. 0.00	5,122,775.86	Rem: -157,051,
ax Amount : otal Invoice Amount : Billing Summary tillings ax lilling Total : Outstanding	<u>Current</u> 64,461.56 0.00 64,461.56	5,215,365.87 0.00	5,279,827.43 0.00 5,279,827.43	5,122,775.86	-157,051
ax Amount : otal Invoice Amount : Billing Summary. illings ax lilling Total :	<u>Current</u> 64,461.56 0.00 64,461.56	5,215,365.87 0.00	5,279,827.43 0.00 5,279,827.43	5,122,775.86	



AECOM 1255 Broad Street, Suite 201 Clifton, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fex

August 17, 2021

RECEIVED

SEP 16 2021

Environmental Department

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 152 - Jul 10 to Aug 6, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 64,461.56 for professional services rendered on the subject project for the period ending Aug 6, 2021. Services rendered during the Jul 10, 2021 to the Aug 6, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



AECOM 1255 Broad Street, Suite 201 Clifton, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fax

August 17, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 152 - Jul 10 to Aug 6, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by AECOM for the above referenced project from Jul 10 to Aug 6, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #1 dated July 8, 2021, as well as other additional project tasks. The AECOM COR #1 in the amount of \$245,860.78 was approved by JCP&L on Aug 16, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Lenn Charge (In 10 to As 6 20) Date - Charge Company	\$63,051.83
Mand things charge to the Otto March 2021) as a minimum server	\$1,409.73
Englishmore and a constitution of 2011 in a second constitution	\$64,461.56

A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include the start of the construction
oversight of the Neptune Building demolition, O&M maintenance of the DNAPL recovery system
pumps on East Blackwell St, charges associated with the quarterly sampling for the DGW Permit By
Rule, construction oversight services associated with the installation of the new recovery wells on
East Blackwell St, as well as the design review of the automated pump system for the new RW-8
area of concern, and activities related to the weekly oversight of the DNAPL groundwater recovery
stations.

Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.



Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021 in the amount of \$353,119.17, which includes \$55,328.82 that was carried over from the old PO number.

On July 8, 2021, AECOM submitted Change Order Request #1 (COR #1) in the amount of \$245,860.78. On August 16, 2021, the PO# 48007282 was revised and issued by JCP&L to AECOM reflecting the approval of COR #1.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Aug 6, 2021 and including the approved COR #1, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,279,224:38 of project charges which amount to 93.8% of the current authorized contract amount of \$5,368.636.65.

if you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A -- Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity
Progress Report No. 152 — through Aug 6, 2021
JCP&L Former Dover MGP Site
URS Job No. 38580382 / AECOM Job No. 60390438
Page 1 of 2

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			THE RESERVE AND ADDRESS OF THE RESERVE AND ADDRE	E I OLZ	n established			The second second
			rei a Sei pener 18 Vonce (i	West Park				
·								
		J. J. J.				i romoti v)
THE MARKET RESIDENCE	Hr	277	3180.58	50.00	H	THE STATE OF THE S	\$180.58	\$0.00
C. Marmhao	Hr	16.00	\$171.92	\$2,750.73	H _t	1	\$171.92	\$0.00
	Hr	16.00	\$143.47	\$0.00	Hr	-	\$143.47	\$0.00
Dale (Pete) Wrsy Michael DePacia	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
Alexandru Giuroiu	He		\$86.57	\$0.00	Hr	-	\$86,57	\$0.00
:: Cheryl Bir	Hr	3.00	\$86.57	3259.71	Hr	-	\$86.57	\$0.00
Lieich	Hr	3.00	\$71.73	\$0.00	He		\$71,73	\$0.00
Position in force the	4.00			整体的位置	There and the	型和约20万米里	NAME OF THE OWNER.	
对表。"************************************		New Property and Section 1995						
C. Marantao		ALL IN	\$171.92	\$0.00	He	16.50	\$171.92	\$2,836.68
Austin Taterka	Hr		\$136,05	50.00	Hr	59.00	\$136.05	\$8,026.95
- Indianalitation of the contract	Hr		\$122.33	\$0.00	Hr	45.50	\$130.03	\$5,566.02
Brendan Murphy	Hr	1	\$79,14	\$0.00	Hr	(43.30	\$79.14	\$0.00
Nikita Bendre	, FUT	0.00	→ / y , 14	20.00	CIF	121700	3/7.14	ALUE TATUE
, ANDWELDADIE	SALIS ESPECIALISME	があるから	SPECIAL PROPERTY.			77	I STATE PARTY OF THE	\$359.33
Mileage			\$0.00	\$0.00		1.0250	\$350.56	
Materials			\$0.00	\$0.00		1.0250	\$2.24	\$2.30
Travel All Other	200 00 00000000000000000000000000000000	ARREST NO THE ACCURAGE	\$0.00	\$0.00	rs and the second	1.0250	\$23,75	\$24.34
		CHAINSAIGH		M. DNAPE			P. Carrier	A1122526
C. Meranhao	Hr		\$171.92	\$0.00	Нт	8,00	\$171.92	\$1,375.36
Etizabeth Johnston	Hr		\$136.05	\$0,00	Hr	16.00	\$136.05	\$2,176.80
Zachery Humerick	Hr		\$136.05	\$0.00	Hr		\$136.05	\$0.00
Chris Dullaviu	Hr		\$101.41	\$0.00	Hr	29.50	\$101.41	\$2,991.60
Jay Patci	Hr		\$79.14	\$0.00	Hr	17.00	\$79.14	\$870.54
Nikita Hendre	Hr		\$79.14	\$0.00	Hr	61,50	\$79.14	\$4,867.11
L. Lesch	Hr	mar agreement	\$71.73	\$0.00	Hr		\$71.73	\$0.00
Soldier Brack	全国 《新加州		E27 P. T.	40.00	The second second	- 126JU		新 (李)(新)
Mileage & Car Rental		1 K	\$0.00	\$0.00		1.0250	\$114,24	\$117.10
Field Supplies/Matts			\$9.00	\$0.00	·····	1.0250	\$0.00	\$0.00
Pine Emtl Svcs			\$0,00	\$0.00		1.0250	\$592,17	\$606.98
Test America Labs			\$0.00	\$0.00		1.0250	. \$0.00	\$0.00
Extra Diny Solution - Po			\$0.00	\$0.00		1.0250	\$0.00	\$0.00
Teoro Fine - PAC VAN In	C		\$0.00	\$0.00		1.0250	\$124.36	\$127.47
			E TYPE	F-14-14		D Side A		288745
			or self-control	icky all serve				
C, Maranhno	Hr		\$171.92	\$0.00	Hr	11.00	\$171.92	\$1,891.12
Jason Hovis	Hr .		\$166.98	\$0.00	Hr		\$166,98	. \$0.00
Cary Priedman	Hr		\$143.47	\$0.00	Hr	29.00	5143,47	34,160.63
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr	20.00	\$136.05	\$2,721.00
Zachary Hamerick	H		3136.05	\$0.00	H	16,00	\$136.05	\$2,175,80
Eric Ace	Hr		\$122.33	30.00	He	40.00	\$122.33	\$4,893.21
Suan Beatie	Hr		\$71,73	\$0.00	Hr	1	\$71.73	\$0.00
				F 40.00	and the same	116.00		墨 亚特
Car Rental/Mileago			\$0.00	\$0.00		1.025	\$0.00	\$0.00
Promier Safety	-		\$0.00	\$0.09		1.025	. \$0,00	\$0.00
SGS North America		<u>.</u>	\$0.00	\$0.00		1.025	\$0.00	\$0.00
Pine Envil Svcs			\$0.00	\$0.00		1,025	90.02	\$0.00
Travel All Others			\$0.00	\$0.00			\$0.00	\$0.00
	THE PARTY NAMED IN	Standard Valletonia	Vaesternourie	112012	en medicile en des elles en la rése de			F 1 100

Page 2 of 2

		ALL SERVE !!	THE OWNER OF THE OWNER OWNER OF THE OWNER	7,10	The Carrier of	September 1	海坝街岸边里	
C. Maranhao	H		\$171.92	\$0.00	Hr		\$171.92	\$0.00
E. Johnston	Hr		\$136,05	\$0.00	Hr		\$136.05	\$0.00
Mike DePaola	Hr	[·	\$126,15	\$0.00	He		\$126.15	30.00
Laura Lesch	Hr		\$71.73	* \$0.00	Hr		\$71:73	\$0.00
		0.00		50.00		0.00		
Aileagu	. "		\$0.00	\$0.00		1.025	\$0.00	\$0.00
S Post Office & FEDI	EX:		\$0.00	* \$0.00			\$0.00	\$0.00
ranul All Others			\$0.00	\$0.00			\$0.00	\$0.00
4 Colores			* 1	1 1 1 1 1 1 1 1 1 1		The second second		
	TO THE PARTY	(f) (F.Q)	AND SECTION	the project of the same	our sin	₽ 24+ 3 € €		walle in E
C. Maranhao	TH:		\$171.92	*\$0.00	Hr	8.00	\$171.92	\$1,375.30
Zachery Humerick	Hr		\$136.05	\$0.00	Hr		\$136.05	\$0.0
Robert Cebula	He		\$126.15	\$0.00	Hr	38.00	\$126.15	\$4,793.7
Stephen Libert	Hr		\$101.41	00.02	Hr		\$101.41	\$0.00
Nikita Behare	Hr		\$79.14	\$0.00	Hr		\$79.14	\$0.00
Lara Leach	Hr		\$71.73	50.00	Hr		\$71.73	\$0.00
e de secutivo e (a)	Section States Street,	0.00		a distri	Marine Spring Service	46.00		- Vet (5-10)
dileage	:		\$0.00	\$0.00		1.025	\$168.00	3172.20
ine Envil Svcs			\$0.00	\$0.00		1.025	\$0.00	\$0.00
Extra Duty Solution - P	olice		\$0.00	\$0.00		1.025	50,00	\$0.00
Supplies & Matls	****		\$0.00	\$0.00		1.025	\$0.00	\$0.00
rave! All Others			\$0.00	\$0.00			\$0,00	\$0.00
						The State of the S		14.4.15
or the const		THE PARTY	4 - 5 35 717			THE STATE		
C. Meraniyao	. Iir		\$171.92	\$9.00	Hr	3.00	\$171.92	\$515.70
9. Albrocht	Hir		\$166.98	\$0.00	Hir	0.75	3166.98	\$125.24
T. Meyers	Hr		\$143,47	\$0.00	Hr	0.50	\$143.47	\$71,74
L Lesch	Hr	111	571.73	50.00	Hz		\$71.73	\$0.00
(C) which is (7)	The second second	A STATE OF THE STA		(7.0)	WATER TO THE			
Mileage & Car Rental	***************************************		\$0.00	\$0.00			50.00	\$0.00
Environciate		K-ARMIIII WIJI E.A.	\$0.00	\$0.00	-	1.0250	00.02	\$0.0
IS Post Office & PEDI	EX		\$0.00:	50.00		1.0250	50.00	50.00
Christian in the con-	CALCULATION OF STREET					THE RESERVE		on the same
Jan Jana		Feat Mark			A STATE OF THE STA	7. 0.51		
Marion Craig	Hr		\$171.92	\$0.00	Hr	8,50	\$171.92	\$1,4613
Peter Namoff	Hr		\$171.92	\$0.00	He	8.00	\$171.92	\$1,375.36
Mike Akerbergs	Hr		\$171.92	\$0.00	Hr		\$171.92	50.00
Cary Friedman	Hr		\$143,47	\$0.00	Hr	32.00	\$143.47	54,591.04
Eva Tuccivaca	Hr		\$108.84	50.00	Hr. "	10:00	\$108.84	\$1,088.40
Laura Lesch	He		\$71773	\$0.00	He	1.25	\$71.73	\$89.6
FANTALEN TOTAL	free ward the	0.50		THE PLANT				· 共元1994
	HOURS	19.00	TOTAL (S)	\$3,010.44	HOURS	473.00	TOTAL (S)	160,041.3
		A COLUMN	district (S)	\$3,910.44		THE OWNER OF THE	11.111111111111111111111111111111111111	\$60,04139
	resident in the left		(e) ((i)	\$0.00			0144 1111	\$1,449.7
				\$3,010.44			# 151,47 HEDS	\$61,451.1
	HarAus bol	9211		\$63.0	51.83	1		/
A PROPERTY OF THE PARTY OF	The state of the s	Total Control of the Land Control		\$1,40	the state of the s		-	
or carrent	AND DESIGNATION OF THE PERSON NAMED IN			\$64,4				

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Aug 6, 2021

Task	Accountable Entity/individual	Initial Completion Date	Revised Completion Date	Actual Coropiesion Cuts	Comments
Quarterly Sampling Event of the Montening Width & Groundwater Trystriant Vaults (GWTV) - 2 Years & Manyal CMAPL Recovery and DNAPL Gauging	AECOM	08/06/18	, 11/08/21		Charges are mainly related with the completion of the quartery sampling event of the monitoring webs and GWTVs on the week ending July 23rd, and the monthly pential of the temporary onsits storage container, and other ancillary charges.
Preparation of Final Draft Deed Notices for the Dover Former MGP Situ	AECOM	08/Ö1/2 0 [∶]	12/01/20		AECOM is in the process of updating the Dead Notices based on the swised regulatory standards repently jubilished by NJDEP. Aliw a conference call involving JCPAL wind-party legal support (R. Corway), JCPAL and AECOM, it was decided that AECOM should eleablish metre and bounds for a portion of the uncoexided properties that contain impacted soft material. AECOM is in the process of securing proposals to pursue the work necontains and proposals to pursue the work.
Perms Regularments Review & Procurement of Proposals for Installing Acat Recovery Wells	AECOM	09/06/20	10/28/20	04/14/21	On Apr 14, 2021, Morris County, signed the road opening partit and authorized the lineal sport of additional rocovery wells on East Stackwell St. Installation of the lines (4) recovery wells by SGS Americal took place from Aug 2 to Aug 6, 2021.
Demolition of the Neptune Property Bidg	AECOM	09/06/20	10/28/20	06/06/21	Purther started with the demotition activities on May 10, 2021. Penthier completes 100% of the ACBM Debris withdring fluorescent lights and ballasts from May 10 to May 18, 2021. Demotition activities were matrix conducted during week ending July 20 and also on an intermittent besis for the following two weeks. Due to the need to prepare a Grading Plan for the site, the site restoration activities will likely occur at the and of Aug and early Sep 2021.
Cilier Various Activiles	AECOM	01/02/21	_		Other activities currently being conducted by AECOM and: 1) Support to ICP&I. Manager related to an internal financial audit of past AECOM invoices, and also for the submission of historical NJDEP registery correspondence between AECOM on bibliati of ICP&I. 2) Q&M activities of the DNAPI, recovery stations are on-scring and incade the troubleshooting of the capability for the recharging of the balteries, general condition of this secondary confastment and, and general cleanup of the recovery stations; 3) On Jun 23, 2021, AECOM confacted NJDEP (Mr. David Morrow) to discuss the tree cyanida tasus. Ori Aug 2, Mr. David Morrow referred AECOM to Mr. Streg Tortot, Mr. Totali was confacted by AECOM vita unation Aug 3. To date AECOM his not received a response; and 4) Etiotic associaties with the preparation of the Historio FII CEA.
Dergin & Installation.of the RWS Pump System	AECOM	09/ 04/21	10/01/21	. = .	AFCORE completed two design reviews of the proposed pump system at the end of July and also in red-Aug 2021. Procurement of the equipment, as well as the thousing the PWR pump system was placed in Med-Aug 2021. Delivery and installation of the system will likely take place in late Sep and early Oct 2021.

Notes:

1) Mar 5, 2018 and Sep 10, 2018 were day one for cosite construction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the seatment

TABLE 2 BUDGET ANALYSIS BY TASK. JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through August 8, 2021

JOPAL Truk MisiKask	LIBS Cont Code	Yunk Developfers and Work Order	Appartiesed Drashpol (Ather 650°167(2)	Aug 18, 2021 COM Approved	177 201 301	Total Expended ∴ to Cale (Ad 4, SET)	Dynati Digiting Properties Twenty (to Ada 5, 2021)	Takai Expended to Sada (Aug. 4, 2074)		K-of Current Maniput Expended
4	80029	Gentreihr Support Gurrieus	8640,421.33	516,190.25	Audebracher	\$544,134.64	86,016.44	1840,627.00	Andrew Comments Andrews Section Comments and Comments	90%
Q.0	. ,	Coolination Support Services	\$5:25,960.50	. \$45,19B.26		\$531,615.47	63,016,44	\$534,860. FI		93%
		Silling Adjustment - Letter Decount for Impact #37802790 covering classes from July 35 to August 26, 2015	\$8.00°	:	4	1567.27		\$367.27	(1.52) 1.75s	
1.0		PRE Administry Parent Monday	\$10,301.M			\$10,001.00	·	. 115,301:RE		, t00%
0.2		NUCEP PRES Presignation	94,538.07		1	机构物		84,132,83.		190%
đ	50000	Pro-Geologe, Plick Study, RAMP & Other Scope of Work	E3,360,766.54	\$83,336,13		\$3,47 9,444 .70	På.BPE,EB	\$5,679,796,77		102%
5.11		Pro-Ducign Work Plant	249,044.45			\$18,844,45		548,844.45	£ 10 mm 1	100%
52		Hodeling Seg25)	\$450,340.00		\$	\$454,221,30		\$458,221,29		160%
5.3	70.0	Consisting and Design techning Naptura Property • COVIL Territori (NASSESSE)	\$1,1427,655.40	\$23,046.27		. 41,212,941.23		\$1,210,941.23		19826
		Self Endountee Embedies / Perriting Q. Veer Update of 1968 Selected	1210.24394		gradent in	\$218,608 to:		\$218,300.70		18054
	59000	Regulatory Support and Yapor Intrusion Study	\$74,798.25			177,825 M		\$77,000 84	<u> </u>	67%
		Other Preparation Teach (systemated by stuns, Dev Au sectors with Tags of Rockman; disposal of ChAPI. Drawn by Woolin, update well reserved. \$1,889)	\$969,266.58	\$15,703.81		\$1,900,721_27	£4,005.78	11,01B,333.06		
	90000 Senes	Other Scape of Work Considerations (Species CE Veal + Worked Reveal of the ser NUCEP Perell)	\$429,334,67	\$13,2FL.06		\$444,200.10	871L73	\$440,8(3.8)	2-47-49	Next.
4	60060	Processing Art States, Continuities Synchight, and Conspiled Action Discost Proposition	2795,549,46	P0.46	¥7000 - 15	9003,100.00	\$13,60%.NE	6728,878.64	E-17 - J-1	21%
6.1		Processory America Design Assistance	931,132.14	11		1833,586,869	1	\$32,586.00	2	103%
6,2		Permedial Construction Cast plus Oversight	\$730,735.44	**** ** ******************************	Same Acres	Sinic, \$25,43	432,049.16	9003,584.21		84%
6.3		Remarks Action Report (RAFI) Properation	\$28,080, BB	· .	#	\$0.00		80.05	80.775 mg	2%
	-	Billing Adjustment - Sep 2014 to Oct 2016 Involves			\$000 to 1.1	1334.23		1334,23		
7	70000	Remodel System initial State Lip, Demonstration Period and Lines Turn SRM	\$425,000.07	\$177,620.41	क्षात्रकार करणा है। क्षात्रकार के किस	\$16m6,7107.05G	\$19,476.23	\$604,760,17	**************************************	87%
7.1		Start-Up Tooling	\$4,75E.00		100 State 1	16.46		60.00	2/10/2004	19%
7.2		Demonstration Period	\$15,923.69			10.10		\$0.00		9%
7,3		Long-Term CAM ,	\$387,326.28	\$177,625.41	7.0	\$604,787.9M	\$18,474.25	\$554,387.17	F (19	¥1%
7.4		CAM Similar	45,122.00		Email 1	10.10		\$40.00		65
	a	ONTRACT FOTALS jencholing the Gerage Demolition Projects	\$5,122,776.06	\$24,000.76	NAME OF THE PERSONS ASSESSED.	\$5,214,762.93	\$54,401 M	\$,278,243B	BERATA	PI.J74
	11120207	Gerega Denoktori	\$45,130,00		\$45,700 DB	\$14,312.84		314,272.94	100 Mar	ec.ets.
			22 122 202 107	***	42 143 144 44	***************************************	***	Ar === +== ==		

MORRE		FVF 45: 411				
1.		45,860.78 www.approved by JCP&		Subjects of Stee 9	revided before:	
2	this do sell the sell to the s	L Task and US2S Cost Codes is to	d doctor:		LINE JUPAL TANK	Wild Cout Code
12	B) Contractor Support Savacus		1	\$15.	(神2首	
	b) Design Services & NADEP Reporting (May 2021)			373,	B49-27 (6.3)	80000
	c) Other Requested Tasks including LSNP.			#117.	707 M 5.3	68000
	d) Color Scope of Work Considerations (Sparier Of	Wellerd For Virginia (10)		1/13,	371.04 5.3	40(TA) Seiring
	a) Phonodial Construction Cost plus Oversight plus to	Ing Terra C&A		6177	成9.4 1 7.3	70000

Check Payment to: AECOM Technical Services, Inc. An AECOM Company 1178 Paysphere Circle Chicago, IL 60874 ACH Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America Account Number 5800937020 ABA Number 071000039 Wire Transfer Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America New York, NY 10001 Account Number 5800937020 ABA Number 026009593 SWIFT CODE BOFAUS3N



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398 Tel: 973-883-8500 Fax:973-883-8501

Federal Tax ID No. 95-2661922

ATTN: Ms. Elaine Comings FIRSTENERGY CORPORATION 300 Madison Ave Morristown, NJ 07950-6116

United States

Ollifed Scales

2/10 Net 45

Invoice Date: 09-DEC-21 Invoice Number: 2000570317

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Payment Term: 45 DAYS

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438 Project Name : JCP&L Dover Former MGP Site

Bill Through Date: 09-OCT-21 - 05-NOV-21

Claudius Maranhao

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 09-OCT-21 - 05-NOV-21

Funded Amt \$5,617,313.68

Previous Billings \$5,432,931.08

Services of Office Personnel:

Labor \$63,897.36

NonLabor \$13,730.12

TOTAL CURRENT INVOICE \$77,627.48

Funded Amount: \$5,617,313.68

Bill To Date: \$5,510,558.56

Remaining Balance: \$106,755.12

Project Number : 60390438
Bill Through Date : 09-OCT-21 - 05-NOV-21
Claudius Maranhao

Project Name : JCP&L Dover Former MGP Site Involce Number : 2000570317

Task Number : 38580312.10000	Task Name : Management Support				

Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	<u>Hours</u>	Bill Rate	Billed Amt
Bir, Cheryl	Data Management	15-OCT-21	1.25	86.57	108.21
Bir, Cheryl	Data Management	22-OCT-21	1.00	86.57	86.57
Gluroiu, Alexandru	GIS/Data Management	29-OCT-21	2.00	86.57	173.14
Giuroiu, Alexandru	GIS/Data Management	05-NOV-21	1.00	86.57	86.57
Khoury, Majed A	Project Director	05-NOV-21	1.00	180.58	180.58
Maranhao, Claudius A	Project Manager	15-OCT-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	22-OCT-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	29-OCT-21	5.00	171.92	859.60
Maranhao, Claudius A	Project Manager	05-NOV-21	4.00	171.92	687.68
Total Labor Bill Rate			23.25	-	3,557.71

Total Labor Biji Rate

Task Total : Management Support

3,557.71

Task Number : 38580312.50010 T	fask Name : Design/Spec/Permit
--------------------------------	--------------------------------

Labor Bill Rate					
Employee Name/Title	Title/Expenditure	<u>Date</u>	<u>Hours</u>	Bill Rate	Billed Amt
Akerbergs, Michael (Mike)	Lead Scientist	05-NOV-21	26.00	166.98	4,341.48
Albrecht, Sherri M	Lead Scientist	15-OCT-21	1.75	166.98	292.22
Albrecht, Shemi M	Lead Scientist	22-OCT-21	2.25	166.98	375.71
Craig, Marion E	LSRP	15-OCT-21	1,00	171.92	171.92
Craig, Marion E	LSRP	29-OCT-21	1.75	171.92	300.86
Craig, Marion E	LSRP	05-NOV-21	2.50	171.92	429.80
Friedman, Cary L	Senior Geologist	15-OCT-21	16.00	143.47	2,295.52
Friedman, Cary L	Senior Geologist	22-OCT-21	6.00	143.47	860.82
Friedman, Cary L	Senior Geologist	29-OCT-21	6.00	143.47	860.82
Friedman, Cary L	Senior Geologist	05-NOV-21	23.00	143.47	3,299. 81
Macaulay, Albert D (Darby)	Staff Scientist	15-OCT-21	1.00	101.41	101.41
Macaulay, Albert D (Darby)	Staff Scienlist	22-OCT-21	1.00	101.41	101.41
Maranhao, Claudius A	Project Manager	15-OCT-21	6.00	171.92	1,031.52
Maranhao, Claudius A	Project Manager	22-OCT-21	2.00	171.92	343.84
Maranhao, Claudius A	Project Manager	29-OCT-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager	05-NOV-21	8,00	171.92	1,375.36
Myers, Taralyn	Senior Scientist	22-OCT-21	2.50	143.47	358.68
Myers, Taralyn	Senior Scientist	29-OCT-21	2,00	143,47	286.94
Myers, Taralyn	Senior Scientist	05-NOV-21	4.75	143.47	681.48
Naumoff, Peter G	LSRP	15-OCT-21	1.00	171.92	171.92
Naumoff, Peter G	LSRP	22-OCT-21	3.00	171.92	515.76
Naumoff, Peter G	LSRP	29-OCT-21	4.00	171.92	687.68
Naumoff, Peter G	LSRP	05-NOV-21	3.00	171.92	515.76
Warren, Raymond C (Ray)	CADD	15-OCT-21	0.50	108.84	54.42
Total Labor Bill Rate			129.00	_	20,142.82

Task Total : Design/Spec/Permit

20,142.82

sk6.5 Field Assanm
\$Kt

Labor Bill Rate					
Employee Name/Title	Title/Expenditure	Date	Hours	Bill Rate	Billed Amt
Bendre, Nikita (Nikita)	Staff Engineer	22-OCT-21	8.00	101.41	811.28
Bendre, Nikita (Nikita)	Staff Engineer	22-OCT-21	2.00	101.41	202.82
Bendre, Nikita (Nikita)	Staff Engineer	29-OCT-21	40.00	101.41	4,056.40
Bendre, Nikita (Nikita)	Staff Engineer	05-NOV-21	8.00	101,41	811.28
Bendre, Nikita (Nikita)	Staff Engineer	05-NOV-21	1.50	101.41	152.12
Cebula, Robert	Project Scientist	29-OCT-21	12.00	126.15	1,513.80
Cebula, Robert	Project Scientist	29-OCT-21	7.00	126.15	883.05
Hovis, Jason M	Lead Engineer	15-OCT-21	6.00	166.98	1,001.88
Hovis, Jason M	Lead Engineer	22-OCT-21	18.00	166.98	3,005.64
Hovis, Jason M	Lead Engineer	29-OCT-21	9.00	166.98	1,502.82
Hovis, Jason M	Lead Engineer	29-OCT-21	14.00	166.98	2,337.72
Humerick, Zachary L	Project Engineer	15-OCT-21	7.00	136.05	952.35

Labor Bill R	ate					
Employee Name/Title	<u>Title/Expe</u> nditure		<u>Date</u>	Hours	Bill Rate	Billed Amt
Humerick, Zachary L	Project Engineer		22-OCT-21	8.00	136.05	1,088.40
Humerick, Zachary L	Project Engineer		29-OCT-21	7.00	136.05	952.35
Humerick, Zachary L.	Project Engineer		05-NOV-21	12.00	136.05	1,632.60
Humerick, Zachary L.	Project Engineer		05-NOV-21	2.00 4.25	136.05	272.10 430.99
Keil, Justin (Justin) Keil, Justin (Justin)	Staff Scientist Staff Scientist		29-OCT-21 05-NOV-21	19.00	101.41 101.41	1,926.79
Lesch, Laura L	Project Assistant		05-NOV-21	0.25	71.73	17.93
Maranhao, Claudius A	Project Manager		15-OCT-21	4.00	171.92	687.68
Maranhao, Claudius A	Project Manager		22-OCT-21	2.00	171.92	343.84
Maranhao, Claudius A	Project Manager		29-OCT-21	9.00	171.92	1,547.28
Maranhao, Claudius A	Project Manager		05-NOV-21	4.00	171.92	687.68
Patel, Jay	Field Technician		29-OCT-21	8.00	79.14	633.12
Patel, Jay	Field Technician		29-OCT-21	2.00	79.14	158.28
Peffer, Nathan D	Senior Engineer		15-OCT-21	7.00	143.47	1,004.29
Peffer, Nathan D	Senior Engineer		15-OCT-21 22-OCT-21	2.00	143.47 143.47	286.94 2.654.20
Peffer, Nathan D Peffer, Nathan D	Senior Engineer Senior Engineer		29-OCT-21	18.50 9.00	143.47	1,291.23
Peffer, Nathan D	Senior Engineer		29-OCT-21	14.00	143.47	2,008.58
Peffer, Nathan D	Senior Engineer		05-NOV-21	1.00	143.47	143.47
Warren, Raymond C (Ray)	CADD		05-NOV-21	3.50	108.84	380.94
Zeidan, Mousa (Mousa)	Staff Engineer/Geold	gist	22-OCT-21	8.00	101.41	811.28
Zeldan, Mousa (Mousa)	Staff Engineer/Geold	ogist	29-OCT-21	24.00	101.41	2,433.84
Zeldan, Mousa (Mousa)	Staff Engineer/Geok		29-OCT-21	6.00	101.41	608,46
Zeidan, Mousa (Mousa)	Staff Engineer/Geok	ogist	05-NOV-21	9,50	101.41	963.40
Total Labor	Dill Bata			316.50	_	40,196.83
rotal Labor	But Rate			3 10.5Ų		40,120.00
Reimbursab	l e					
Expenditure Type	Employee/Vendor Name	Date	<u>Inv Number</u>	Raw Cost	<u>Multiplier</u>	Billed Amt
Car Rental	Bendre, Nikita (Nikita)	02-NOV-21	EXP8052136	470.33	1.0250	482.09
Field Supplies	PINE ENVIRONMENTAL SERVICE	S 30-SEP-21	US1210070596	503.21	1.0250	515.79
Field Supplies	Peffer, Nathan D	13-OCT-21	EXP8030121	64.24	1.0250	65.84
Field Supplies	Peffer, Nathan D	28-OCT-21	EXP8053724	139.71	1.0250	143,21
Materials	Hovis, Jason M	08-OCT-21	EXP8048897	63.07	1.0250	64.65
Materials	SIGMA CONTROLS INC.	11-OCT-21	030118	943.56	1.0250	967.15
Materials	Hovis, Jason M	18-OCT-21	EXP8048897	68,81	1.0250	70.53
Materials	Hovis, Jason M	21-OCT-21	EXP8048897	861.09	1.0250	882.62
Mileage	Cebula, Robert	23-AUG-21	EXP8007860	28.00	1.0250	28.70
Mileage Mileage	Cebula, Robert Cebula, Robert	30-AUG-21 03-SEP-21	EXP8007860 EXP8007860	28.00 28.00	1.0250 1.0250	28.70 28.70
Mileage	Cebula, Robert	16-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage	Bendre, Nikita (Nikita)	20-SEP-21	EXP7997984	28.00	1.0250	28.70
Mileage	Cebula, Robert	20-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage	Cebula, Robert	27-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage	Maranhao, Claudius A	27-SEP-21	EXP8007226	12.32	1.0250	12,63
Mileage	Cebula, Robert	28-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage	Cebula, Robert	29-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage	Cebula, Robert	30-SEP-21	EXP8007860	28.00	1.0250	28.70
Mileage Mileage	Cebula, Robert Maranhao, Claudius A	01-OCT-21 01-OCT-21	EXP8007860	28.00 12.32	1.0250 1.0250	28.70 12.63
Mileage	Cebula, Robert	05-OCT-21	EXP8007226 EXP8019446	28.00	1.0250	28.70
Miscellaneous - Allowable	Bendre, Nikita (Nikita)	13-SEP-21	EXP7997984	26.64	1.0250	27.31
Other Earnings - Revenue	US ACM ZERO AP	08-NOV-18	SSCRR11092018C	-4,140.00	1.0000	-4,140.00
Generating						
Outside Contractors	CONTROL POINT ASSOCIATES	14-OCT-21	9035247	10,200.00	1.0250	10,455.00
Permits	INC Maranhao, Claudius A	01-OCT-21	EXP8007226	50.00	1.0250	51.25
Z01 Site Suplies Expenses	GRAINGER	15-OCT-21	9086819621	404,67	1.0250	414.79
Z01 Site Suplies Expenses	GRAINGER	15-OCT-21	9087016227	186.30	1.0250	190.95
Z01 Site Supiles Expenses	MCMASTER CARR SUPPLY CO	21-OCT-21	67058078	236.96	1.0250	242.89
Z01 Site Suplies Expenses	MORRIS INDUSTRIES INC	22-OCT-21	4000667600	122.96	1.0250	126.03
Z11 Equipment Other	LINEAR PUMP CORPORATION	10-OCT-21	100821IAECOM	3,333.20	1.0250	3,416.53
Z11 Equipment Other	MCMASTER CARR SUPPLY CO	19-OCT-21	66884221	22.25	1.0250	22.80
Total Reimbu	ırsable			13,917.64	_	14,369.09
,	•					
Task Total : Task6.5	Fleld Assgnm					54,565.92

Lump Sum Description					Billed Amt
AECOM Volume Discount 1.00%					-638.97
Total Lump Sem					-638.97
Project Total : JCP&L Dover Former	MGP Site				77,627.48
Invoice Summaries Total Current Amount : Retention Amount : Pre-Tax Amount :					77,627.48 0.00 77,627.48
Tax Amount:					0.00
Total Invoice Amount:					77,627.48
Billing Summaries Billing Summary	Calmonat	Belan	Total	l i-uit	Remain
Billings	<u>Current</u> 77,627.48	<u>Prior</u> 5,432,931.08	<u>Total</u> 5,510,558.56	<u>Limit</u> 5,368,6 3 6.64	-141,921.92
Tax	0.00	0.00	0.00		
Billing Total:	77,627.48	5,432,931.08	5,510,558.56		
Outstanding Involces	···				
Invoice Number 2000542726			Invoice Date 23-SEP-21		invoice Balance 101,527,44
2000549910			15-OCT-21		51,576.21
Outstanding Total:					153,103.65

	Sax #3-8047836
APPROV	ALSTAMP
P.O. NO. <u>48007282</u>	inv. no. 2000570317
COMPANY CODE: SCOO	
COST ELEMENT (GL ACCT	.): <u>5503<i>0</i>0</u>
ORDER: 3001019	WBS:
APPROVED BY:	EMP. NO.

E. Comungs C4939 12/30/2021 Approved for \$77,627.48



AECOM 1255 Broad Street, Suite 201 Ciffton, New Jersey 07013 www.aecom.com 973 883 8500 tel 973 883 8501 fex

November 30, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re:

Invoice No. 155 – Oct 9 to Nov 5, 2021 JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$77,627.48 for professional services rendered on the subject project for the period ending Nov 5, 2021. Services rendered during the Oct 9, 2021 to the Nov 5, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely,

Claudius Maranhao, PE, MBA

Project Manager



AECOM 1265 Broad Street, Suite 201 Clifton, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fax

November 30, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 155 - Oct 9 to Nov 5, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by AECOM for the above referenced project from Oct 9 to Nov 5, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Request #1 dated July 8, 2021, as well as other additional project tasks. The AECOM COR #1 in the amount of \$245,860.78 was approved by JCP&L on Aug 16, 2021.

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Oct 9 to Nov 5, 2021)	\$63,897.36
Non-Labor Charges - (Oct 9 to Nov 5, 2021)	\$14,369.09
AECOM Vol Discount at 1% - (Oct 9 to Nov 5, 2021)	(\$638.97)
Discounted Non-Labor Charges - (Oct 9 to Nov 5, 2021)	\$13,730.12
Final Invoice (\$) - (Oct 9 to Nov 5, 2021)	\$77,627.48

On Sep 2021, a milestone was achieved and now the AECOM labor volume discount was increased to 1%. As depicted above, the labor discount has already been included in the invoice. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-oforder request letter, but that have been authorized by JCP&L include the completion of the Neptune
Building demolition project, continued O&M maintenance of the DNAPL recovery system pumps on
East Blackwell St, charges associated with the monthly well gauging and the quarterly GWTV
sampling events for the DGW Permit By Rule, as well as the installation and start-up of the
automated pump system for the new RW-8 area of concern, and activities related to the weekly
oversight of the DNAPL groundwater recovery stations.

Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.



Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021 in the amount of \$353,119.17, which includes \$55,328.82 that was carried over from the old PO number.

On July 8, 2021, AECOM submitted Change Order Request #1 (COR #1) in the amount of \$245,860.78. On August 16, 2021, the PO# 48007282 was revised and issued by JCP&L to AECOM reflecting the approval of COR #1.

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Nov 5, 2021 and including the approved COR #1, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,509,955.51 of project charges which amount to 102.6% of the current authorized contract amount of \$5,368,636.65.

In early November, AECOM submitted to JCP&L a Change Order Request (COR) dated Oct 27, 2021 in the amount of \$248,677.05 to cover the current overage plus the authorized services to date. The AECOM COR is under current review by JCP&L.

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely.

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity Progress Report No. 155 – through Nov 5, 2021

JCP&L Former Dover MGP Site
URS Job No. 38580382 / AECOM Job No. 60390438

Page 1 of 2

JCP&L Services (10/09/21/16	Charg	ed to Contract Task 0		ervices	Charge		VP or Constr (or Task 6/6000	r Constr Oversight ask 6/60000	
11/05/21)	Unit	Quantity	Rate (S)	Cost (\$)	Unit	Quantity	Rate (S)	Cost (\$)	
1) Task 1 - Project Invo	icing, Pro	ect Managem	nt, RFP Pac	tage, Bid Revi	iews, GC Se	election & Per	mit Meetings		
Majed Khoury	Hr	1.00	\$180.58	\$180.58	Hr		\$180.58	\$0.00	
C. Maranhão	Hr	17.00	\$171.92	\$2,922.64	Hr		\$171.92	\$0.00	
Alexandru Giuroiu	Hr	3.00	\$86.57	\$259.71	Hr		\$86.57	\$0.00	
Cheryl Bier	Hr	2.25	\$86.57	\$194.78	Hr		\$86.57	\$0.00	
L. Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00	
Subtotal for (1)		23.25		\$3,557.71		0.00	Same I	\$0.00	
2) Task 2 - On-Site Con-	struction		Ventune Prop		on + Install	lation of New F	Recovery Well	S	
C. Maranhao	Hr		\$171.92	\$0.00	He	6.00	\$171.92	\$1,031,53	
Zachary Humerick	Hr		\$136.05	\$0,00	Hr	16.00	\$136.05	\$2,176.80	
Robert Cebula	Нг		\$126.15	\$0.00	Hr		\$126.15	\$0.00	
Nikita Bendre	Hr		\$79.14	\$0.00	Hr		\$79.14	\$0.00	
Subtotal for (2)		0.00	-	0.00		22.00		\$3,208,33	
Mileage		-	\$0.00	\$0.00		1.0250	\$24.64	\$25.26	
SGS North America			\$0.00	\$0.00		1.0250		\$0,00	
Pine Envtl Svcs			\$0.00	\$0.00		1.0250		\$0.00	
Exp Subtotal for (2)			-	\$0.00		1111111	-	\$25.26	
3) Task 3 - DGW Permi	1-Bv-Rule.	GWIV Monit	oring and Od		lecovery M	emt. and DNAI	L Ganging of		
C. Maranhao	Hr		\$171.92	50.00	Hr	8.00	\$171.92	\$1,375.38	
Elizabeth Johnston	Hr		\$136.05	\$0.00	Нс	1	\$136.05	\$0.00	
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	8.00	\$136,05	\$1,088.40	
Robert Cebula	Нг		\$126.15	\$0.00	Hr	0.00	\$126.15	\$0.00	
Nikita Bendre	Hr		\$101.41	\$0.00	Hr	59.50	\$101.41	\$6,033.90	
Mousa Zeidan	Hr	-	\$101.41	\$0.00	Hr	47.50	\$101.41	\$4,816.98	
Jay Patel	Hr		\$79.14	\$0.00	Hr	10.00	\$79.14	\$791.40	
Subtotal for (3)	***	0:00	217.17	\$0.00		133,00	413.11	\$14,106.05	
Mileage & Car Rental		0.00	50.00	\$0.00		1.0250	\$498.33	\$510.80	
Field Supplies/Matls			\$0.00	\$0.00		1.0250	\$503,21	\$515.79	
Pine Envil Svcs			\$0.00	\$0.00		1.0250	\$205,64	\$0.00	
Test America Labs			\$0.00	\$0.00		1.0250		\$0.00	
Temp Fac - PAC VAN Inc	-		\$0.00	\$0.00		1.0250		\$0.00	
Misc. / Allowables			\$0.00	\$0.00		1.0250	\$26.64	\$27.31	
Exp Subtotal for (3)			\$0.00	\$0.00	_	1.0250	320.04	\$1,053.89	
4) Task 4 - RW8 Pump S	ustam Das	imm Daumittin	~ //O		a and Ctart	Tie		\$1,055.67	
C. Maranhao	Hr.	igar er mitti	\$171.92	\$0.00	Hr	17.00	\$171.92	\$2,922.67	
Jason Hovis	Hr		\$156.98	\$0.00	Hr	47.00	\$166.98	\$7,848.04	
Nathan Peffer	Hr	-	\$143.47	\$0.00	Hr	51.50	\$143.47	\$7,388.69	
Zachary Humerick	Hr		\$136.05	\$0.00	Hir	4.00	\$136.05	\$544.20	
Robert Cebula	Hr		\$126.15	50.00	Hr	19.00	\$126.15	\$2,396.85	
Scott Bolen	Hr		\$108.84	\$0.00	Hr	19.00	\$108.84	\$0.00	
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00	
Labor Subtotal for (4)	ш	0.00	9/1./3	\$0.00	- III	138.50	311.13	\$21,100.45	
Car Rental/Mileage		0.50	\$0.00	\$0.00		1.025	\$112.00	\$114.80	
Field Supplies/Mails			\$0.00	\$0.00	-	1.025	\$2,140.48	\$2,193.99	
Site Supplies Expenses		-	\$0.00	\$0.00		1.025	\$950.89	\$974.66	
Pac Van - Temp Container				\$0.00		1.025	\$0.00	\$0.00	
Permit - Tup of Rockaway			\$1.00			-	\$50.00	\$51.25	
Other Earnings Adi			\$0.00	\$0.00		1.025	-\$4,140.00	-\$4,140.00	
	_		\$1,00			1.000		\$3,439.34	
Equipment Other Exp Subtotal for (4)		-	\$0.00	\$0.00 \$0.00		1.025	\$3,355.45	\$2,634.04	



Page 2 of 2

	Tot		or Charges (5)	\$0.00	To		or Charges (S)	\$14,369.09
			r Charges (S)	\$3,557.71			or Charges (S)	560,339,65
	HOURS	23,25	TOTAL (\$)	\$3,557.71	HOURS	445.50	TOTAL (S)	\$60,339.65
Exp Subtotal for (8)	~		00.00	\$0,00		1,020		\$10,455.00
US Post Office & FEDE			\$0.00	\$0.00		1.025	φ10 ₁ 200.00 1	\$0.00
Subtetal for (8) Control Point & Associa	stee	0.00	\$0.00	\$0.00	3	1.025	\$10,200.00	\$10,455.00
Laura Lesch	Hr	0.00	\$71.73	\$0.00	Hr	97.50	3/1./3	\$14,905.42
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr	0.55	\$108.84	\$0.00 \$17.93
Ray Warren	Hr		\$108.84	\$0.00	Hr	4.00	\$108.84	\$435,36
Cary Friedman	Hr		\$143.47	\$0.00	Hr	51.00	\$143.47	\$7,316.95
Mike Akerbergs	Hr		\$171,92	\$0.00	Hr	26.00	\$166.98	\$4,341.48
Peter Naumoff	Hr		\$171.92	\$0.00	Hr	00.11	\$171.92	\$1,891.12
Marion Craig	Hr		\$171.92	\$0.00	Hr	5.25	\$171.92	\$902.58
8) Task 8 - LSRP Char							1	
Exp Subtotal for (7)				\$0.00				\$0.00
US Post Office & FEDE	X		\$0.00	\$0,00		1.025		\$0.00
Enviroscape			\$0.00	\$0.00		1.025		\$0.00
Mileage & Car Rental			\$0.00	\$0.00				\$0.00
Subtotal for (7)		0.00		\$0.00	•	42.50		\$5,243.31
Justin Keil	Hr		\$101.41	\$0.00	Hr	23.25	\$101.41	\$2,357.78
lbert (Darby) Macauly	Hr		\$101.41	\$0.00	Hr	2,00	\$101.41	\$202.82
T. Meyers	Hr		\$143.47	\$0.00	Hr	9.25	\$143.47	\$1,327.10
S. Albrecht	Hr		\$166.98	\$0.00	Hr	4.00	\$166.98	\$667.92
C. Maranhao	Hr		\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.69
7) Task 7 - NJDEP MI	tigation Plan	(Revegetat	ion) & Permit					
Exp Subtotal for (6)	,			\$0.00				\$200.90
Travel All Others			\$0.00	\$0.00				\$0.00
Misc Matls - Home Der			\$0.00	\$0.00		1.025		\$0.00
Misc Matts - Battery &	Parts		\$0.00	\$0.00		1.025		\$0.00
Pine Envtl Svcs			\$0.00	\$0.00		1.025		\$0.00
Mileage			\$0.00	\$0.00		1.025	\$196.00	\$200.90
Subtotal for (6)		0.00		\$0.00		12.00		\$1,776.09
Laura Lesch	Hr		\$71.73	\$0,00	Hr		\$71.73	\$0.00
Robert Cebula	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	8.00	\$136.05	\$1,088.40
C. Maranhao	Hr		\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.69
6) Task 6 - Other Task	S (DNAPL O	versight &	DNAPL Drum	Disposal) / Ve	olia & Evoqu	ин & О&М о	f DNAPL Recov	ery Pumps
Exp Subtotal for (5)				50.00				\$0.00
Travel All Others			\$0.00	\$0.00		1.025		\$0.00
US Post Office & FEDI	EX		\$0.00	\$0.00		1.025		\$0.00
Mileage			\$0.00	\$0.00		1.025		\$0.00
Subtotal for (5)		0.00		\$0.00		0.00		\$0.00
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Robert Cebula	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
Zachary Humerick	Hr		\$136.05	\$0.00	Hr		\$136.05	\$0.00
C. Maranhao	Hr		\$171.92	\$0.00	Hr		\$171.92	\$0.00

Labor Charge - (Oct 9 to Nov 5, 2021)	\$63,897.36
Non-Labor Charges - (Oct 9 to Nov 5, 2021)	\$14,369.09
AECOM Vol Discount at 1% - (Oct 9 to Nov 5, 2021)	(\$638.97)
Discounted Non-Labor Charges - (Oct 9 to Nov 5, 2021)	\$13,730.12
Final Invoice (S) - (Oct 9 to Nov 5, 2021)	\$77,627.48

TABLE 1 **ACTION PLAN** JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Nov 5, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years & Manual DNAPL Recovery and DNAPL Gauging	AECOM	08/08/18	D8/07/22	-	AECOM collected groundwater samples for the next quarterly monitoring report from Oct 22 to Nov 1, 2021. Chemical analytical testing laboratory results for the groundwater samples should be received on late-Nov 2020. The NJDEP report is being prepared.
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/10/21	-	AECOM is in the process of updating the Deed Notices based on the revised regulatory standards recently published by NJDEP. After a conference cell involving JCP&L third-party legal support (R. Conway), JCP&L and AECOM, it was decided that AECOM should establish metes and bounds for a portion of the undeeded properties that contain impacted soil material. Central Point Associates, inc (surveyor) was contracted to perform these services on Sep 21st, 2021 and delivered the final meles and bounds report on Nov 2nd, 2021.
Cernolition of the Neptune Property Bldg	AECOM	09/08/20	10/28/21	12/09/21	On Oct 13th, general contractor partially removed the shallow footings of the Neptune building to a depth of 12 inches below grade. General contractor surveyor also staked the property corners of the Neptune property and prepared drawing. General contractor confirmed that aluminum decorative fence would be installed on Nov 10, 2021. During landscaping activities, general contractor hit and destroyed monitoring well MW-3R, MW-3RR was installed on Oct 21, 2021
Other Various Activities	AECOM	D1/02/21	_	_	Other activities currently being conducted by AECOM are: 1) Site inspection and replacement of DNAPL filled drums at the DNAPL recovery platforms continue to be performed. At the moment, drums are being filled every two days; 2) On Jun 23, 2021, AECOM contacted NJDEP (Mr. David Morrow) to discuss the free cyanide issue. On Aug 2, Mr. David Morrow referred AECOM to Mr. Greg Toffoli. Mr. Tofolii was contacted by AECOM via email on Aug 3. To date AECOM has not received a response; and 3) The Historic Fill CEA was finalized and transmitted to JCP&L for final review and approval on Aug 27, 2021
Design & Installation of the RW8 Pump System	AECOM	09/01/21	10/01/21		Procurement of the equipment, as well as the shed housing the RW8 pump system was placed in Mid-Aug 2021. The RW-8 shed and pumping system were installed from Oct 27th to Oct 29th, 2021.

¹⁾ Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two cutverts and also the sediment

TABLE 2 BUDGET ANALYSIS BY TASK JCPAL FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through November 5, 2021

ACPAL TRAT (Subusia	URS Cost Code	Task Description and Work Order	Approved Budgel (Amer Birtur; t)	Aug 14, 2021 COR Approval	Current Approved Budget Uniter Mirrorshi	Total Expended to Data (Oct 0, 2021)	Sport During Reporting Puried (to Nov 6, 2021)	Total Expension to Date (Nov 6, 2021)	Salance Salance (Nov 6, 2021)	% of Curre Budget Expended
	96600	Contraster Support Services	\$610,421.21	\$16,110.26	. Impali	\$556,730.24	\$3,522.13	(410,303,37	(32,170,32)	701%
0.0		Contractor Support Services	8625,960.66	\$15,910.25	3541,090.02	15(1)3(5.35	13,522.13	0544,867,48	(53,770.44)	101%
		Sting Aquaiment - Labor Observet for Involog #37802780 covering stamms from Adv 30 to August 20, 2016	\$0.00		\$0.00	\$367.27		\$367.27	(12,7903)	
0.1	-	PRB Advisory Panel Meeting	\$10,301.60		\$10,301.68	\$10,301.60		\$10,301.08	50,00	100%
0.2		NATIONAL PRINCIPALISM	\$4,138.67		\$4,138.87	\$4,139,00		\$4,132.03	10.27	100%
	60000	Pre-Design, Pilet Study, RIGHT & Other Scope of Work	\$3,388,316.14	\$82,021.12	\$3,412,337.34	\$3,625,913.26	\$10,602.24	\$3,586,336.50	(F144,997.34)	101%
5.1		Pro-Design Work Plan	\$40,944.45		\$40,944.45	\$45,944.45		\$45,844.45	60.00	100%
5.7		Implement Pre-Design Work Plan (historing Groundwiser Moduling 50025)	1450,240.96		\$458,940.00	\$455,221.39		\$458,221.38	\$19.67	100%
6.3		Committing and Design technical Repture Property • RNAS TarGost Investigation	\$1,107,405.49	\$21,345,27	31,191,531.76	\$1,200,704.60	\$0.00	\$1,236,704.90	कुल आज स्थ	104%
		Self Dalmeston Systematon / Permitting (2-Year Update of Well Search)	\$218,243,54		\$215,243.84	\$216,509.10		\$210,000.10	- [1286,16]	109%
	69000	Regulatory Support and Vapor Intrusion Study	874,799.75		\$74,700.75	\$72,603.94		872,693,94	\$1,066.01	87%
		Other Requested Tasks (surhorized by small, Day Agmement with Top of Rockeyey, update well search & LSRP)	3969,265.68	816,703.81	\$094,970.68	\$1,040,146.54	\$29,211.37	\$1,085,359.90	(rc.eec,3993)	
	80000 Sarias	Other Soupe of Work Considerations (Spartus Cid Visit + Worked Secondition on per NADEP Portio)	8420,334.67	\$13,371,04	\$439,705.71	8454,509.90	\$5,590,60	8459,700.01	(315,835,10)	106%
	80000	Procurement Assistance, Construction three sight, and Represent Action Report Properation	8799,548,46	20.00	8708,048.46	1777,018.40	\$20,724.20	\$100,740.30	(cu.bet,as)	191%
8.1		Procurement Assistance/Design Ambiliance	\$31,132.14		331,122,14	\$12,190.00		\$12,500.00	(\$1,017.84)	\$93%
6.2		Remedial Construction Cost plus Oversight	\$737,725.44		\$737,735.44	3744.524.1 7	126,724,89	\$771,249.16	\$130,613,72)	105%
5,3		Remedial Action Report (RAR) Propertition	\$23,080.08		\$29,080,88	\$0.00		\$0.00	620,080,003	0%
		Billing Adjustment - Sep 2014 to Oct 2018 Invoices	\$0.00		80.00	\$30423		\$304.23	(8364.23)	
1	79069	Raterold System folds Statt-Up, Damanstriden Paried and Lens-Term G&M	\$420,080.97	\$177,823,41	2003,319.30	£672,£01,14	\$15,978.11	\$834,049,24	\$13,360.62	\$8%
7.1		Start-Up Testing	\$8,715.00		\$8,718.00	\$0.00		\$0.00	10,712.00	0%
7.2		Demonstration Period	815,923.89		\$15,921.60	60.00		80.00	\$51,023.69	0%
7,3		Long-Tetm CAN	\$387,326.20	3177,829.41	\$875,105.00	\$\$73,591.14	\$10,970.11	\$590,869.25	- (816,A12.06)	103%
7.4		Q4M Manuats	18,122.00		\$0,122.00	10.00		\$20,00	88,122.00	6%
	C	DITRACT TOTALS (exclusing the Garage Demolities Project):	\$6,122,776.16	\$744,610.78	\$5,349,038.06	15,432,328.05	177,527.A3	16,603,018.01	(\$169,510.43)	102.6%
	11130307	Garage Depotition	845,130.00		\$45,130.00	544,212.94		\$44,212.94	8317.00	17.0%

2.	Change Order Request (CCR) at in the amount of \$245,050.78 way approved by JCPSL on August 16, 2021, directions The \$245,060.78 CCR amount in booked at the JCPSL Test and URS Cost Code states below:	Amount (F)	JCPAL Tack	/ URS Cost Code
	8) Contractor Support Services	\$15,110.26	0	C
	b) Dempn Services & NUDEP Reporting (May 2021)	\$23,840.27	5.3	50000
	c) Other Requested Teelra including LSRP	\$15,703.81	5.3	59000
	d) Other Scope of Work Considerations (Sparter Od + Walland Re-Vegetation)	\$13,371,54	6.3	60000 Berios
	e) Remedial Construction Cost plus Oversight plus Lang Term C&M	\$177,629.41	7,3	70000
	TOYAL(\$)	\$245,600.78		

Check Payment to: AECOM Technical Services, Inc. An AECOM Company 1178 Paysphere Circle Chicago, IL 60674 ACH Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America Account Number 5800937020 ABA Number 071000039 Wire Transfer Payment to: AECOM Technical Services, Inc. An AECOM Company Bank of America New York, NY 10001 Account Number 5800937020 ABA Number 028009593 SWIFT CODE BOFAUS3N



1255 Broad Street, Suite 201, Clifton, NJ 07013-3398

Tel: 973-883-8500 Fax:973-883-8501

Federal Tax ID No. 95-2661922

ATTN : Ms. Elaine Comings FIRSTENERGY CORPORATION

300 Madison Ave

Morristown, NJ 07960-6116

United States

2/10 Net 45

Invoice Date: 13-DEC-21 Invoice Number: 2000571852

Agreement Number: UR13814900

Agreement Description: Conversion - 1260252

Payment Term: 45 DAYS

Please reference Invoice Number and Project Number with Remittance

Project Number : 60390438 Project Name : JCP&L Dover Former MGP Site
Bill Through Date : 06-NOV-21 - 03-DEC-21
Claudius Maranhao

JCP&L Dover Former MGP Site

For Professional Services Rendered Through 06-NOV-21 - 03-DEC-21

Funded Amt \$5,617,313.68

Previous Billings \$5,510,558,56

Services of Office Personnel:

Funded Amount:

Labor \$80,242.06

NonLabor \$25,472.61

\$5,617,313.68

TOTAL CURRENT INVOICE \$105,714.67

Bill To Date: \$5,616,273.23

Remaining Balance: \$1,040.45

Project Number : 60390438 Bill Through Date : 06-NOV-21 - 03-DEC-21 Claudius Maranhao

Project Name : JCP&L Dover Former MGP Site Invoice Number : 2000571852

			anagement Support			ask Number : 38580312.10000
Bul a	BUI Data		Data			Labor Bill Rate
Billed Am	Bill Rate	Hours	<u>Date</u> 19-NOV-21		Title/Expenditure	yee Name/Title
151.5 43.2	86.57 86.57	1.75	03-DEC-21		Data Management	neryl
687.6	171.92	0.50 4.00	12-NOV-21		Data Management Project Manager	eryl
343.8	171.92	2.00	19-NOV-21		Project Manager	hao, Claudius A hao, Claudius A
343.8	171.92	2.00	26-NOV-21		Project Manager	hao, Claudius A
687.6	171.92	4.00	03-DEC-21		Project Manager	hao, Claudius A
86.5	86.57	1.00	03-DEC-21		Data Management	leil Colin Dayoan (Neil Colin
2,344.4		15.25				Total Labor Bill Rate
Dilled &m	Mariate II.	David Cant	hans Manushaus	m -1-		Reimbursable
Billed Am 109.0	<u>Multiplier</u> 1.0250	Raw Cost 106.39	<u>Inv Number</u> EXP8055960	<u>Date</u> 04-NOV-21	<u>Vendor Name</u> Claudius A	diture Type Employee/ els Maranhao,
109.0		106.39				Total Reimbursable
2,453.4					rt	ask Total : Management Suppo
			sign/Spec/Permit	Task Name · Do		ask Number : 38580312.50010
			organopour conne			
Billed Am	Bill Rate	<u>Hours</u>	Date		Title/Expenditure	Labor Bill Rate vee Name/Title
6,345.2	166.98	38.00	12-NOV-21		Lead Scientist	ergs, Michael (Mike)
4,842.4	166.98	29.00	19-NOV-21		Lead Scientist	ergs, Michael (Mike)
3,172.6	166.98	19.00	26-NOV-21		Lead Scientist	ergs, Michael (Mike)
6,345.2	166.98	38.00	03-DEC-21		Lead Scientist	rgs, Michael (Mike)
208.7	166.98	1.25	19-NOV-21		Lead Scientist	ht, Sherri M
125.24	166.98	0.75	26-NOV-21		Lead Scientist	ht, Shem M
751.4	166.98	4.50	03-DEC-21		Lead Scientist	ht, Sherri M
343.8 2,277.9	171.92 171.92	2.00	12-NOV-21		LSRP	Marion E
1.633.2	171.92	13,25 9,50	19-NOV-21 26-NOV-21		LSRP LSRP	Marion E
1,547.2	171.92	9.00	03-DEC-21		LSRP	Marion E Marion E
3,443.2	143.47	24.00	12-NOV-21		Senior Geologist	Marion E Ian, Cary L
4,591.0	143.47	32.00	19-NOV-21		Senior Geologist	ian, Cary L ian, Cary L
3,443,28	143.47	24.00	26-NOV-21		Senior Geologist	ian, Cary L
2,582.46	143,47	18.00	03-DEC-21		Senior Geologist	an, Cary L
202.82	101.41	2.00	26-NOV-21		Staff Scientist	istin (Justin)
515.76	171.92	3.00	12-NOV-21		Project Manager	nao, Claudius A
	171.92	1.00	19-NOV-21		Project Manager	nao, Claudius A
171.92	171.92	7.00	03-DEC-21		Project Manager	nao, Claudius A
	143.47	8.50	12-NOV-21		Senior Scientist	Taralyn
1,203.4	143.47	15.00	19-NOV-21		Senior Scientist	Taralyn
1,203.4 1,219.5 2,152.0	143,47	13.00	26-NOV-21		Senior Scientist	Taralyn
1,203.4 1,219.5 2,152.0 1,865.1		8.50	03-DEC-21		Senior Scientist	Taralyn
1,203,4- 1,219.50 2,152.00 1,865.1 1,219.50	143.47				LSRP	# D-(A
1,203,4- 1,219.50 2,152.00 1,865.1 1,219.50 343.84	143.47 171.92	2.00	12-NOV-21			off, Peter G
1,203.4 1,219.5 2,152.0 1,865.1 1,219.5 343.8 1,203.4	143.47 171.92 171.92	2.00 7.00	19-NOV-21		LSRP	iff, Peter G
1,203.4 1,219.5 2,152.0 1,865.1 1,219.5 343.8 1,203.4 343.8	143.47 171.92 171.92 171.92	2.00 7.00 2.00	19-NOV-21 26-NOV-21		LSRP LSRP	iff, Peter G iff, Peter G
1,203.4 1,219.5 2,152.0 1,865.1 1,219.5 343.8 1,203.4 343.8 171.9	143.47 171.92 171.92 171.92 171.92	2.00 7.00 2.00 1.00	19-NOV-21 26-NOV-21 03-DEC-21		LSRP LSRP LSRP	iff, Peter G iff, Peter G iff, Peter G
1,203.44 1,219.50 2,152.05 1,865.11 1,219.50 343.84 1,203.44 343.84 171.92 108.84	143.47 171.92 171.92 171.92 171.92 108.84	2.00 7.00 2.00 1.00 1.00	19-NOV-21 26-NOV-21 03-DEC-21 19-NOV-21		LSRP LSRP LSRP CADD	iff, Peter G iff, Peter G iff, Peter G cz-Thompkins, Eva
1,203.44 1,219.50 2,152.05 1,865.11 1,219.50 343.84 1,203.44 343.84 171.92 108.84 707.46	143.47 171.92 171.92 171.92 171.92 108.84 108.84	2.00 7.00 2.00 1.00 1.00 6.50	19-NOV-21 26-NOV-21 03-DEC-21 19-NOV-21 12-NOV-21		LSRP LSRP LSRP CADD CADD	iff, Peter G iff, Peter G iff, Peter G icz-Thompkins, Eva ı, Raymond C (Ray)
1,203.4 1,219.5 2,152.0 1,865.1 1,219.5 343.8 1,203.44 343.8 171.9 108.8 707.4 979.5	143.47 171.92 171.92 171.92 171.92 108.84	2.00 7.00 2.00 1.00 1.00	19-NOV-21 26-NOV-21 03-DEC-21 19-NOV-21		LSRP LSRP LSRP CADD	iff, Peter G iff, Peter G iff, Peter G cz-Thompkins, Eva
171.92 1,203.44 1,219.50 2,152.05 1,865.11 1,219.50 343.84 1,203.44 343.84 171.92 108.84 707.46 979.56 761.88	143.47 171.92 171.92 171.92 171.92 108.84 108.84 108.84	2.00 7.00 2.00 1.00 1.00 6.50 9.00	19-NOV-21 26-NOV-21 03-DEC-21 19-NOV-21 12-NOV-21 26-NOV-21		LSRP LSRP LSRP CADD CADD CADD	iff, Peter G iff, Peter G iff, Peter G icz-Thompkins, Eva ı, Raymond C (Ray) ı, Raymond C (Ray)

Task Number: 38580315.60050

Task Name: Task6.5 Field Assgnm

Labor Bill Rate

Employee Name/Title Bendre, Nikita (Nikita)

<u>Title/Expenditure</u> Staff Engineer

<u>Date</u> 12-NOV-21

<u>Hours</u> 10.00

Bill Rate 101.41 Billed Amt 1,014.10

Labor Bill Ra	ite.					
Employee Name/Title	Title/Expenditure		<u>Date</u>	<u>Hours</u>	Bill Rate	Billed Amt
Bendre, Nikita (Nikita)	Staff Engineer		26-NOV-21	8.00	101.41	811.28
Bendre, Nikita (Nikita)	Staff Engineer		26-NOV-21	1.00	101.41 136.05	101,41 5,44 2,00
Humerick, Zachary L Humerick, Zachary L	Project Engineer Project Engineer		12-NOV-21 1 2-NO V-21	40.00 2.00	136.05	272.10
Humerick, Zachary L	Project Engineer		19-NOV-21	37.00	136.05	5,033.85
Humerick, Zachary L	Project Engineer		19-NOV-21	9.00	136.05	1,224.45
Humerick, Zachary L	Project Engineer		26-NOV-21	23.00	136.05	3,129.15
Humerick, Zachary L	Project Engineer		26-NOV-21	3.50	136.05	476.18
Humerick, Zachary L	Project Engineer		03-DEC-21 03-DEC-21	8.00 3.00	136.05 136.05	1,088.40 408.15
Humerick, Zachary L Kell, Justin (Justin)	Project Engineer Staff Scientist		12-NOV-21	5.00	101.41	507.05
Kell, Justin (Justin)	Staff Scientist		19-NOV-21	9.00	101.41	912.69
Lesch, Laura L	Project Assistant		12-NOV-21	0.50	71.73	35.87
Lesch, Laura L	Project Assistant		19-NOV-21	1.25	71.73	89.66
Lesch, Laura L	Project Assistant		26-NOV-21	3,00	71,73	215.19
Lesch, Laura L	Project Assistant		03-DEC-21	2.50	71.73	179.33
Maranhao, Claudius A	Project Manager		12-NOV-21	4.00	171.92 171.92	687.68 85.96
Maranhao, Claudius A	Project Manager		19-NOV-21 03-DEC-21	0,50 1,00	171.92	171,92
Maranhao, Claudius A Patel, Jay	Project Manager Fleid Technician		26-NOV-21	8.00	79.14	633.12
Patel, Jay	Field Technician		26-NOV-21	7.00	79.14	553.98
, atol, day	1000 100111101211		20,10121		-	
Total Labor	Bill Rate			186.25		23,073.52
Reimbursabi	9					
Expenditure Type	Employee/Vendor Name	Date	Inv Number	Raw Cost	Multiplier	Billed Amt
Field Supplies	Peffer, Nathan D	19-OCT-21	EXP8050039	7.95 6.71	1.0250 1.0250	8.15 6.88
Field Supplies	Peffer, Nathan D	22-OCT-21 23-OCT-21	EXP8050039 EXP8050039	123.55	1.0250	126.64
Field Supplies Field Supplies	Peffer, Nathan D Peffer, Nathan D	24-OCT-21	EXP8050039	66.77	1.0250	68.44
Field Supplies	Peffer, Nathan D	28-OCT-21	EXP8050039	215.71	1.0250	221.10
Field Supplies	Humerick, Zachary L	05-NOV-21	EXP8039084	63.83	1.0250	65.43
Materials	Beach, Tyler J	12-OCT-21	EXP8055662	531.04	1.0250	544.32
Materials	Hovis, Jason M	12-NOV-21	EXP8097202	7,302.34	1.0250	7,484.90
Mileage	Zeidan, Mousa (Mousa)	22-OCT-21	EXP8048976	24.53	1.0250	25,14
Mileage	Zeidan, Mousa (Mousa)	25-OCT-21	EXP8048976	24.53	1.0250	25.14 34.44
Mileage	Patel, Jay	27-OCT-21 28-OCT-21	EXP8091189 EXP8073548	33,60 28,00	1,0250 1,0250	28.70
Mileag e Mileag e	Cebula, Robert Zeidan, Mousa (Mousa)	28-OCT-21	EXP8048976	24.53	1.0250	25.14
Mileage	Cebula, Robert	29-OCT-21	EXP8073548	28.00	1.0250	28.70
Mileage	Zeidan, Mousa (Mousa)	29-OCT-21	EXP8048976	24.53	1.0250	25.14
Mileage	Zeidan, Mousa (Mousa)	01-NOV-21	EXP8048976	24.53	1.0250	25.14
Mileage	Humerick, Zachary L	03-NOV-21	EXP8078011	5.60	1.0250	5.74
Mileage	Humerick, Zachary L	05-NOV-21	EXP8078011	5.60	1.0250	5,74 5,74
Mileage	Humerick, Zachary L	08-NOV-21	EXP8078011	5.60 5.60	1.0250 1.0250	5.74 5.74
Mileage	Humerick, Zachary L Humerick, Zachary L	10-NOV-21 11-NOV-21	EXP8078011 EXP8078011	5.60	1.0250	5.74
Mileage Mileage	Humerick, Zachary L	12-NOV-21	EXP8078011	5.60	1.0250	5.74
миеаде Mileage	Humerick, Zachary L	15-NOV-21	EXP8078011	5.60	1.0250	5.74
Mileage	Humerick, Zachary L	16-NOV-21	EXP8078011	5.60	1.0250	5.74
Mileage	Humerick, Zachary L	17-NOV-21	EXP8078011	5.60	1.0250	5.74
Mileage	Humerick, Zachary L	19-NOV-21	EXP8078011	5.60	1.0250	5.74
Mileage	Patel, Jay	24-NOV-21	EXP8091189	39.20	1.0250 1.0250	40.18 26.66
Miscellaneous - Allowable Outside Contractors	Bendre, Nikita (Nikita) SCHAEDLER/YESCO	27-OCT-21 18-OCT-21	EXP8068587 S6336548001	26.01 392.87	1.0250	402.70
Outside Contractors	DISTRIBUTION INC	10-001-21	\$	002.01	110200	7020
Outside Contractors	Humerick, Zachary L	05-NOV-21	EXP8039084	538.07	1.0250	551.52
Outside Contractors	CONTROL POINT ASSOCIATES	11-NOV-21	9035902	7,900.00	1.0250	8,097.50
	INC	00 OOT 04	EVD0000007	40 17	1.0250	43.22
Travel All Other	Bendre, Nikita (Nikita) PINE ENVIRONMENTAL SERVICE	29-OCT-21	EXP8068587 US1210080149	42.17 2,632.65	1.0250	2,698.46
Z01 Rental Equipment	LLC	3 04-1104-21	001210000149	2,002.00	1.0200	
Z01 Site Suplies Expenses	PINE ENVIRONMENTAL SERVICE	S 13-SEP-21	US1210065094	419.44	1.0250	429.93
704 Cita Cualina Cumanana	LLC MCMASTER CARR SUPPLY CO	25-OCT-21	67202307	103.64	1.0250	106.23
Z01 Site Suplies Expenses Z01 Site Suplies Expenses	GRAINGER	02-NOV-21	9106200885	284.08	1.0250	291.18
Z11 Equipment Other	TESTAMERICA LABORATORIES	10-NOV-21	4600081181	1,031.50	1.0250	1,057.29
	INC			•		
Z11 Laboratory	TESTAMERICA LABORATORIES INC	20-OCT-21	4600081182	1,305.50	1.0250	1,338.14
Z11 Laboratory	TESTAMERICA LABORATORIES	20-OCT-21	4600081183	1,195.00	1.0250	1,224.88
Z11 Laboratory	INC TESTAMERICA LABORATORIES	04-NOV-21	4600080803	1,031.50	1,0250	1,057.29
Z I I COOLEIU! Y	INC	04-14 ○ 1-5 1		1,001100	,,,,,,,,	.,
Total Reimbu	ırsahla			25,527.78	_	26,165.98
- Juli Nomitot				,,		-

Lump Sum Description AECOM Volume Discount 1.00%					Billed Amt -802.42
Total Lump Sum					-802.42
Project Total : JCP&L Dover Former	MGP Site				105,714.67
Invoice Summaries Total Current Amount : Retention Amount : Pre-Tax Amount : Tax Amount : Total Invoice Amount :					105,714.67 0.00 105,714.67 0.00
Billing Summarles Billing Summary Billings Tax	<u>Current</u> 105,714.67 0.00	<u>Prior</u> 5,510,558.56 0.00	<u>Total</u> 5,616,273.23 0.00	<u>Limit</u> 5,617,313.68	Remain 1,040.45
Billing Total:	105,714.67	5,510,558.56	5,616,273.23		
Outstanding Invoices Invoice Number 2000542726 2000570317 2000549910			invoice Date 23-SEP-21 09-DEC-21 15-OCT-21		Invoice Balance 101,527.44 77,627.48 51,576.21
Outstanding Total:					230,731.13

SES # 1123156650	Fox #3-8047841
APPROV	AL STAMP
P.O. NO. 48007282	INV. NO. 2000571852
COMPANY CODE: SCOO	COST CENTER
COST ELEMENT (GL ACCT): <u>750300</u>
ORDER: 3001019	WBS:
APPROVED BY:	EMP. NO.

E. Cominge C4939 12/30/2021 Approved for \$ 105,714.67



AECOM 1255 Broad Street, Suite 201 Cliffon, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fax

December 8, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 156 - Nov 6 to Dec 3, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580312 / AECOM Job No. 60390438

Dear Ms. Comings:

Enclosed is an invoice totaling \$ 105,714.67 for professional services rendered on the subject project for the period ending Dec 3, 2021. Services rendered during the Nov 6 to Dec 3, 2021 period are described in the attached Progress Report.

If you have any questions regarding this invoice, or require additional information, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely.

Claudius Maranhao, PE, MBA

Project Manager



AECOM 1255 Broad Street, Suite 201 Clifton, New Jersey 07013 www.secom.com 973 883 8500 tel 973 883 8501 fax

December 8, 2021

Ms. Elaine Comings
Project Manager – Site Remediation
Jersey Central Power & Light
300 Madison Avenue
Morristown, NJ 07962

Re: Invoice No. 156 - Nov 6 to Dec 3, 2021

JCP&L Former Dover MGP Site PO No. 48007282 / 01/15/2021

URS Job No. 38580382 / AECOM Job No. 60390438

Dear Ms. Comings:

The following summarizes activities performed by AECOM for the above referenced project from Nov 6 to Dec 3, 2021.

Work Performed During This Period:

Performed project tasks outlined in the scope of work and the AECOM Change Order Requests #1 & 2 dated July 8, 2021 and November 10, 2021, as well as other additional project tasks. The AECOM COR #1 in the amount of \$245,860.78 and the AECOM COR #2 in the amount of \$248,677.06 were approved by JCP&L on Aug 16, 2021 and November 27, 2021, respectively

A summary table outlining the AECOM labor charges and reimbursable expenses for this period is provided below.

Labor Charge - (Nov 6 to Dec 3, 2021)	\$80,242.06
Non-Labor Charges - (Nov 6 to Dec 3, 2021)	\$26,275.03
AECOM Vol Discount at 1% - (Nov 6 to Dec 3, 2021)	(\$802.42)
Discounted Non-Labor Charges - (Nov 6 to Dec 3, 2021)	\$25,472.61
Final Invoice (S) - (Nov 6 to Dec 3, 2021)	\$105,714.67

On Sep 2021, a milestone was achieved and now the AECOM labor volume discount was increased to 1%. As depicted above, the labor discount has already been included in the invoice. A detailed table with the names of the AECOM professionals and the hours spent on each project task / project activity is provided in Appendix A.

Additional tasks performed during this period that were not detailed in the revised AECOM change-of-order request letter, but that have been authorized by JCP&L include the completion of the Neptune Building demolition project, continued O&M maintenance of the DNAPL recovery system pumps on East Blackwell St, charges associated with the monthly well gauging and the quarterly GWTV sampling events for the DGW Permit By Rule, as well as the installation and start-up of the automated pump system for the new RW-8 area of concern, and activities related to the weekly oversight of the DNAPL groundwater recovery stations.

Project Schedule

A list of tasks that are completed and yet to be completed is presented in Table 1.



Project Budget

On January 15, 2021, the AECOM change order request #21 in the amount of \$ 298,790.35 was approved by First Energy. At the time of approval, JCP&L closed the old project PO# 55117364 dated June 4, 2013 and issued the new project PO# 48007282 dated Jan 15, 2021 in the amount of \$353,119.17, which includes \$55,328.82 that was carried over from the old PO number.

Subsequently, the AECOM COR #1 in the amount of \$245,860.78 and the AECOM COR #2 in the amount of \$248,677.06 were approved by JCP&L on Aug 16, 2021 and November 27, 2021, respectively

An analysis of the status of the current revised budget for each task is presented in Table 2. As of the closing date of the invoice, Dec 3, 2021 and including the recently approved COR #2 in the amount of \$248,677.06, the Dover Former MGP project (excluding the Garage Demolition Project which was performed under the URS and AECOM project numbers 11130307 and 60402138, respectively) has incurred \$5,615,670.18 of project charges which amount to 100.0% of the current authorized contract amount of \$5,617,313.71.

AECOM is in the process of preparing an additional Change Order Request (COR) to cover the authorized services on Dec 2021 and beyond.

If you have any questions or require further information on this Progress Report, please contact me by e-mail at <claudius.maranhao@aecom.com>, or by phone at (973) 883-8623.

Sincerely.

Claudius Maranhao, PE, MBA

Project Manager

Attachment: Appendix A - Summary of Project Charges by Project Task / Project Activity



APPENDIX A

Summary of Project Charges by Project Task / Project Activity

Progress Report No. 156 – through Dec 3, 2021

JCP&L Former Dover MGP Site

URS Job No. 38580382 / AECOM Job No. 60390438

Page 1 of 2

JCP&L/Services.	Charg	ed to Contract Task 0		ervices			VP or Constr C or Task 6/6000	•
12/03/21)	Unit	Quantity	Rate (S)	Cost (S)	Unit	Quantity	Rate (S)	Cost (S)
1) Task 1 - Project Invo	icing, Pro	eet Manageme	ent, RFP Pac	tage, Bid Rev	iews, GC Sel	ection & Per	mit Meetings	
Majed Khoury	Hr		\$180.58	\$0.00	Hr		\$180.58	50.00
C. Maranhao	Hr	12.00	\$171.92	\$2,063.04	Hr		\$171,92	\$0.00
Neil Collin Dayoan	Hr	1.00	\$86.57	\$86.57	Hr		\$86.57	\$0.00
Cheryl Bier			\$86.57	\$0.00				
L. Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Subtotal for (1)		15.25.		\$2,344.39		0.00		\$0.00
2) Task 2 - On-Site Con	struction (Septune Prop		on + Install:	tion of New I	Recovery Wells	
C. Marunhao	Hr		\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.69
Zachary Humerick	Hr		\$136.05	\$0.00	Hr	19.00	\$136.05	\$2,584.95
Robert Cebula	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
Nikita Bendre	Hr		\$79,14	\$0.00	Hr		579.14	\$0.00
Subtotal for (2)		0.00		0.00		23.00		\$3,272.64
Mileage			\$0.00	\$0.00		1,0250	\$11,20	\$11.48
Materials			\$0.00	\$0,00		1.0250	\$106.39	\$109.05
Exp Subtotal for (2)				\$0.00				\$120.53
3) Task 3 - DGW Permi	1-By-Rule.	GWIV Manit	oring and Od		Recovery Mo	mt, and DNA	PL Gauging of	
C. Maranhao	Hr		\$171.92	\$0.00	Hr	2.00	\$171.92	\$343.84
Elizabeth Johnston	Hr		\$136.05	\$0.00	Hr		\$136.05	\$0.00
Zachary Humerick	Hr		\$136,05	\$0.00	Hr	12.00	\$136.05	\$1,632.60
Robert Cebula	Hr		\$126.15	\$0,00	Hr		\$126.15	\$0.00
Nikita Bendre	Hr		\$101.41	\$0.00	Hr	19:00	\$101.41	\$1,926.79
Mousa Zeidan	Hr		\$101.41	\$0.00	Hr		\$101.41	\$0.00
Jay Patel	Hr		\$79.14	00.02	Hr	15.00	\$79.14	\$1.187.10
Subtotal for (3)	- 111	0.00	412,14	\$0.00	144	48.00		\$5,090.33
Mileage & Car Rental		0.00	\$0.00	\$0.00		1.0250	\$195.45	\$200.34
Field Supplies/Matls		-	\$0.00	\$0.00		1.0250	.,,,,,,	\$0.00
Pine Envil Svcs			\$0.00	\$0.00		1.0250	\$3,052.09	\$3,128.39
Test America Labs			\$0.00	\$0.00		1.0250	\$4,563.50	\$4,677.59
Extra Duty Solution			\$0.00	\$0.00		1.0250	\$538.07	\$551.52
Travel All Others		-	\$1.00	\$0.00	-	1.0250	\$42.17	\$43.22
Misc. / Allowables			\$0.00	\$0.00		1.0250	\$26.01	\$26.66
Exp Subtotal for (3)			30.00	\$0.00		1.0250	10.01	\$8,627.72
4) Task 4 - RW8 Pump S	Pareton Dec	ign/Daymalttin	to /II was a series ma		n and Start I	In	-	30,027.72
C. Maranhao	Hr.	igiar etimittis	\$171.92	\$0.00	Hr	4.00	\$171.92	\$687.69
Jason Hovis	Hr		\$166.98	\$0.00	Hr	4.00	5166.98	50.00
Nathan Peffer	Hr		\$143.47	\$0.00	Hr		\$143.47	\$0.00
Zachary Humerick	Hr		\$136.05	\$0,00	Hr	2,50	\$136.05	\$340.13
Robert Cebula	Hr		\$126.15	\$0.00	Hr	2,30	\$126.15	\$0.00
Scott Bolen	Hr		\$108.84	\$0.00	Hr		\$108.84	\$0.00
Laura Lesch	Нг	-	\$71.73	\$0,00	Hr		\$71.73	\$0.00
Labor Subtotal for (4)	Tu .	0.00	\$11.13	\$0.00	п	6.50	\$11.73	\$1,027.81
Car Rental/Mileage		u,uu	\$0.00	\$0.00		1.025	\$56.00	\$57.40
Meals			\$0.00	\$0.00		1.025	\$50,00	\$0.00
Hotel			\$0.00	\$0.00		1.025		\$0.00
Field Supplies/Matls			\$1.00	\$0.00		1.025	58,254.07	\$8,460,42
Site Supplies Expenses	_		\$0.00	50.00		1.025	20,07,07	\$0.00
Pac Van - Temp Container			\$1.00	\$0.00		1.025		\$0.00
Equipment Other	-		\$0.00	\$0.00		1.025	\$392.87	\$402.69
Exp Subtotal for (4)			30.00	\$0.00		1.023	2374.01	\$8,920.51



Page 2 of 2

	Tot		r Charges (\$)	\$0.00	To		or Charges (S)	\$26,275.03 \$104,172.69
			r Charges (5)	\$2,344.39			or Charges (S)	\$77,897.66
(0)	HOURS	15.25	TOTAL (S)	\$2,344.39	HOURS	542.00	TOTAL (\$)	\$77,897.66
Exp Subtotal for (8)			\$0.00	\$0.00		1.023	-	\$8,097,50
US Post Office & FED			\$0.00	\$0.00		1.025	37,900.00	\$8,097.50
Subtotal for (8) Control Point & Associ	nten	0.00	\$0,00	\$0.00		1.025	\$7,900.00	\$45,565.24
Laura Lesch	Нг	0.00	\$71.73	\$0.00	Hr	5.25	\$71.73	\$376.58
Eva Tucewicz	Hr		\$108.84	\$0.00	Hr	1.00	\$108.84	\$108.84
Ray Warren	Hr		\$108.84	00.00	Hr	22.50	\$108.84	\$2,448.90
Cary Friedman	Hr		\$143.47	\$0.00	Hr	98.00	\$143.47	\$14,060.06
Mike Akerbergs	Hr		\$171.92	\$0.00	Hr	124.00	\$166.98	\$20,705,52
Peter Naumoff	Hr		\$171.92	\$0.00	Hr	12.00	\$171.92	\$2,063.04
Marion Craig	Hr		\$171.92	\$0.00	Hr	33.75	\$171.92	\$5,802.30
8) Task 8 - LSRP Cha							r	
Exp Subtotal for (7)				\$0.00				\$0.00
US Post Office & FED	EX		\$0.00	\$0.00		1.025		\$0.00
Enviroscape			\$0.00	\$0.00		1.025		\$0.00
Mileage & Car Rental			\$0.00	\$0.00				\$0.00
Subtotal for (7)		0.00		\$0.00		72.50		\$9,823.31
Leura Lesch	Hr		\$71.73	\$0.00	Hr	2.00	\$71.73	\$143.46
Justin Keil	Hr		\$101.41	\$0.00	Hr	16.00	\$101.41	\$1,622.56
T. Meyers	Hr		\$143.47	\$0.00	Hr	45.00	\$143.47	\$6,456.15
S. Albrecht	Hr		\$166.98	\$0.00	Hr	6.50	\$166.98	\$1,085.37
C. Maranhao	Hr		\$171.92	\$0.00	Hr	3.00	\$171.92	\$515.77
7) Task 7 - NJDEP M		n (Revegetat	tion) & Permit					
Exp Subtotal for (6)				\$0.00				\$508.76
Travel All Others			\$0.00	\$0,00				\$0.00
Site Supply Expenses			\$0.00	\$0.00		1.025	\$387.72	\$397.41
Field Supplies/Matls			\$0.00	\$0.00		1.025	\$63.83	\$65.43
Pine Envtl Svcs			\$0.00	\$0.00		1.025		\$0.00
Mileage			\$0.00	\$0.00		1.025	\$44.80	\$45.92
Subtotal for (6)		0.00		\$0.00		95.50		\$13,118.33
Laura Lesch	Нг		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Robert Cebula	Hr		\$126.15	\$0.00	Hr		\$126,15	\$0.00
Zachary Humerick	Нг		\$136.05	\$0.00	Hr	92.00	\$136.05	\$12,516.60
C. Maranhao			\$171.92	\$0.00	Hr	3,50	\$171.92	\$601.73
6) Task 6 - Other Tas	- DNAPL	Oversight, D	NAPL O&M, a	od DNAPL D	rum Disposa	/ EFR Even	its	
Exp Subtotal for (5)				\$0.00				\$0.00
Travel All Others			\$0.00	\$0.00		1.025		\$0.00
US Post Office & FED	EX		\$0.00	\$0.00		1.025		\$0.00
Mileage			\$0.00	\$0.00		1.025		\$0.00
Subtotal for (5)		0.00		\$0.00		0,00		\$0.00
Laura Lesch	Hr		\$71.73	\$0.00	Hr		\$71.73	\$0.00
Robert Cebula	Hr		\$126.15	\$0.00	Hr		\$126.15	\$0.00
Zechery Humerick			\$136.05	\$0.00	Hr		\$136.05	\$0.00
C. Maranhao	Hr		\$171.92	\$0,00	Hr		\$171.92	\$0.00

Labor Charge - (Nov 6 to Dec 3, 2021)	580,242.06
Non-Labor Charges - (Nov 6 to Dec 3, 2021)	S26,275.03
AECOM Vol Discount at 1% - (Nov 6 to Dec 3, 2021)	(S802.42)
Discounted Non-Labor Charges - (Nov 6 to Dec 3, 2021)	S25,472.61
Final Invoice (S) - (Nev 6 to Dec 3, 2021)	\$105,714.67

TABLE 1 ACTION PLAN JCP&L FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Dec 3, 2021

Task	Accountable Entity/Individual	Initial Completion Date	Revised Completion Date	Actual Completion Date	Comments
Quarterly Sampling Event of the Monitoring Wells & Groundwater Treatment Vaults (GWTV) - 2 Years & Manual DNAPL Recovery and DNAPL Gauging	AECOM	08/06/18	06/07/22	-	AECOM collected groundwater samples for the next quarterly monitoring report from Oct 22 to Nov 1, 2021. Chemical analytical testing laboratory results for the groundwater samples were received on early Dec 2021. The NJDEP report is being prepared and will be submitted to JCP&L for review on or before Dec 17, 2021. The monthly well gauging event for DNAPL was conducted on Nov 24, 2021.
NJDEP Required 5-Year Wetland Mitigation Monitoring and Reporting	AECOM	06/28/19	06/07/24	-	The 2021 Annual Mitigation Status Report for the Dover Former MGP project was prepared and submitted to JCP&L for review and comments
Preparation of Final Draft Deed Notices for the Dover Former MGP Site	AECOM	06/01/20	12/10/21	-	The following NJDEP regulatory reports are almost complete and will be submitted for JCP&L review on or before Dec 10, 2021: 1) Revised Deed Notices and Notices in Lieu based on the revised regulatory standards recently published by NJDEP; 2) the Remedial Action Report (RAR); 3) the Initial Financial Assurance (FA) for a Remedial Action Permit pursuant to NJAC 7:26C-7; and 4) the Remedial Action Permit Initial Application - Soil for the Spartan Oil property.
Demolition of the Neptune Property Bldg	AECOM	09/08/20	10/28/21	12/09/21	On Nov 11 and 16, Panther and fence subcontractor (National Fence) removed temporary fence, posts, and sand bags from site. After temp fence was removed, National Fence installed approximately 115 feet of new aluminum decorative fence and two 10-foot sections of chainlink fence to tie in existing fence and to create a barrier from the public walking around the back side of the fence. Also on Nov 16, National Fence completed replacement/repair of a 10-foot section of aluminum decorative fence along East Blackwell Road. General contractor surveyor (Dewberry) also surveyed the Installed fence for the preparation of the as-built drawing. Except for the submittal of the As-Built drawing for the fence, the Neptune Demolition project has been completed.

Other Various Activities	AECOM	01/02/21		Other activities currently being conducted by AECOM are: 1) Site inspection and replacement of DNAPL filled drums at the DNAPL recovery platforms continue to be performed. At the moment, drums are being filled every two days. This activity required ten (10) site visits of an AECOM professional; 2) On Jun 23, 2021, AECOM contacted NJDEP (Mr. David Morrow) to discuss the free cyanide issue. To date AECOM has not received a response from NJDEP; 3) The Historic Fill CEA was finalized and transmitted to JCP&L for final review and approval on Aug 27, 2021; 4) On Nov 10, 2021, Veolia visited the site to remove for final disposal the following drums: a) 16 drums containing non-hazardous MGP coal tar DNAPL; and b) 23 drums of which 6 contained monitoring well development water; 4 contained drilling water; 5 contained asphalt and concrete chunks and sand; 4 drums contained non-hazardous PPE and general trash; and 4 drums contained drilling mud.
EFR Events	AECOM	11/22/21	11/22/22	Following authorization from JCP&L, AECOM coordinated the completion of an EFR event at the Dover Former MGP site on Nov 22 and 23, 2021.

Notes:

¹⁾ Mar 5, 2018 and Sep 10, 2018 were day one for onsite construction oversight of the first and second phase activities, respectively.

2) Apr 6, 2020 was day one for the construction oversight activities related to the cleaning and grouting of the two culverts and also the sediment

TABLE 2 BUDGET ANALYSIS BY TASK JCPAL FORMER DOVER MGP SITE PROGRESS REPORT - Charges Through Docomber 3, 2021

JCP4L Tesk /Subtask	URS Cost Code	Task Description and Work Order	Approved The spiri (Aster 65/16/21)	Dec 2, 3921 GGR Approval	Cornent Appeared Budget (After 12(82/21)	Total Expended to Date ploy 6, 2011)	Spent During Reporting Pariot (to Dec 3, 2021)	Total Expended to Date (Dec 3, 2021)	Available Balance (Det 3, 2021)	% of Current Budget Repended
0	90090	Contractor Support Services	\$65,631,56	.812,470.63	\$567,700.00	\$480,300.37	\$1,320.05	\$661,525.32		19%
0.0		Contractor Support Services	2541,000.B2	\$12,176.63	- \$640,267,36	\$844,857,48	\$2,320.45	\$547,188,43	88,078-89	39%
		Silving Adjustment - Latter Orscount for thrown \$37802700 correction afterness from A6730 to Aurust 25, 2016	\$0.00		ze \$0.00	\$367,27		\$347.27	(6347.37)	
0,1		PRB Advancy Pond Meeting	\$10,301,86		\$10,301.00	210,301.86		88.100,012	30.00	199%
0.2		KIDEP PRS Presentation	\$4,138.87		34,128.87	54,13k03		M,138.03	, \$4,27	100%
	60000	Pre-Design, PSet Study, RAWP & Other Scope of Work	\$2,412,337,28	\$M,892.72	\$3,606,323,88	03.100,033,63	\$43,633,48	\$2,650,566,68	(\$112,420.58)	103%
5.1		Pro-Genign What Plan	\$46,044,45		143,944.45	\$49,044,49		340,944.45	. force	100%
5.2		Implement Pre-Design Work Plan (Including Groundersia) Modeling 50025)	\$452,240.96		\$458,240.98	3458,221.39		\$456,221,20	819.57	2002
3.3		Consulting and Design including Neptune Property + Rived Technal heastlesten	\$1,191,331.76	\$87,241.98	\$1,250,673.72	\$1,254,794.90		\$1,236,704.90	231,149,02	86%
		Sell Delinistion Erstation / Permitting (2-Year Upitals of Well Sporth)	\$215,243.94		\$218,243,04	\$218,529.10		\$210,000.10	· (1-241-14)	100%
	59000	Registrary Suppose one Visper Introduce Study	\$74,109.70		\$74,799.75	\$72,893.04		\$72,533,64	81,008.81	97%
		Other Requested Testes (authorized by ones, Dev Agreement with York of Rockinson, update well search & LSRP)	\$084,970.69	\$16,719,58	81,003,600,87	\$1,055,359.90	\$53,207.09	\$1,118,566.DB	(\$114,878.A3)	
	80000 Series	Other Scope of Work Considerations (Spectra Oil Wed > Whiteed Reseastation as par NURP Permit)	\$439,705.71	\$0,000,68	\$448,336,59	\$459,700.81	10,725.00	\$460,425.50	(231,081.30)	106%
á	40000	Processifien Assistance, Construction Oversight, and Semedia Action Report Properties	3796,548.46	84,717,000	838F,642.11	\$103,743.59	613,299,59	1817,541.85	\$48,620.22	92%
6.1		Propertient Assistance/Design Assistance	\$31,132,14		331,132.14	\$32,180.00		\$32,180.00	(\$1,057.84)	103%
62		Remodal Construction Cost plus Oversight	\$737,735,44	\$88,713.65	\$526,440.09	\$771,249.16	\$13,298,50	\$754,547.66	\$41,901.43	96%
6.2	1	Remodel Action Report (RAR) Properation	\$26,060,88		\$26,000.68	90,00		10.00	\$28,0X0,88	9%
		Billing Adjustment - Sep 2014 to Oct 2018 Involces	\$0.00		\$0.00	\$30420		\$304.21	(6204.23)	
1	70000	Ramespel System total Start-Lip, Demonstration Partial and Long-Term O&M	\$403,910.32	863,194.16	8487,113.44	3680,649.28	\$27,163.96	\$817,732.31	\$39,381.23	HZ
7,1		Start-Up Testing	\$4,718.00		\$6,716.00	50.00		\$0.00	18,718.00	2%
7.2		Demensistion Period	\$15,925.60		\$15,923,60	\$0.00		80.00	\$16,022,69	9%
7.3		Long-Term D&M	\$575,190.08	\$53,194,16	\$628,349.85	1590,559.25	\$27,163,06	\$617,732.31	\$10,817.54	34%
7.4		CXM Manuals	\$6,122.00		\$6,122.00	\$0.00		\$0.00	\$5,122,50	M.
	0	CHTRACT TOTALS (excluding the Gerege Demoition Project):	38,000,030,00	\$242,877.04	15,617,313,71	15,509,965,51	8105,714.07	86,015,070.1S	81,693.04	100.0%
	11130307	Garage Demostics	\$45,130.00	0.000	\$45,130.00	\$44,212.04		\$44,212.94	2917.05	97.0%
		CONTRACT TOTALS:	41,412,744,44	\$248,677.08	61.862.443.71	\$1,514,153,46	1105,714,67	35,638,663,12	\$7.651.02	100.0%

Jersey Central Power & Light Company 2021 RAC Minimum Filing Requirements

Attachment MFR-4c

SAP Accounts Payable Check Requisition Request Form

POSTING DATE	
CHECK#	
PAYMENT DATE	
ENCASHMENT	
WIRE DATE	
DATE LTR SENT	

Today's Date:	December 28, 2021	Amount of Check:	\$577,200.00
Invoice # / Reference#:	SPSK #102620435	Document Number:	1902726402
Dated Needed By:	*Before 12/30/2021*	A/P Fax Number:	3-8024814
Vendor Name:	Schenck Price Smith & King		
Vendor Address: SAP Vendor Number: (if known)	220 Park Avenue PO Box 991 Florham Park, NJ 0 0210071810 Invoice Attached:	07932 YES NO (please circle) (X)	(ck)
	uest: (Please abbreviate, as SAP allows for ttorney Escrow Acct. for the purchase & re	,	eet/Newton II MGP*

Accounting Distribution

ost Center Order #/WBS	Resp. Ctr. Requ	esting Employee Signature & Date
3001025		Elaine Comings // 12/28/2021
	Req	uesting Employee Number C4939
		Approver Signature & Date
		Approver Employee Number
		3001025 Req

Return Check to Requesting Employee- N/A
Electronic Wire Transfer of Funds to Attorney Escrow
Account

.



Serving Our Clients and Community For Over 100 Years

Denise Ashenden

Direct Line: 973-540-7353 Email: dqa@spsk.com 220 Park Avenue PO Box 991 Florham Park, NJ 07932 Telephone: 973-539-1000 Fax: 973-540-7300

www.spsk.com

WIRE INSTRUCTIONS FOR CONNECTONE BANK

Name of Account:

SCHENCK PRICE SMITH & KING, LLP

Trust Account

Address:

220 PARK AVENUE

FLORHAM PARK, NJ 074932

Bank:

ConnectoneBank

301 Sylvan Avenue

Englewood Cliffs, NJ 07632

Account #:

102620435

ABA:

021213944

Further credit to:

Sub Account #

14000017

PLEASE CONTACT OUR ACOUNTING DEPARTMENT TO VERIFY THE AUTHENTICITY OF THE WIRE INSTRUCTIONS BEFORE WIRING FUNDS.

Denise Ashenden Director of Accounting

FLORHAM PARK, NJ

PARAMUS, NJ

SPARTA, NJ

NEW YORK, NY

Comings, Elaine M

From: Richard J. Conway Jr. <RJC@spsk.com>

Sent: Wednesday, December 15, 2021 10:52 AM

To: Lawson, Frank D; Comings, Elaine M
Cc: Méade, James A; Heidi S. Minuskin

Subject: [EXTERNAL] JCP&L- N2- Johns Auto- Escrow

Attachments: 211215 JCP L Newton 2 Johns Auto SPSK Escrow Agreement (02702819-2).docx; 211215

JCP&L n2 Johns Auto- RED of CM v N2 02443840 - 02702819.pdf

Hi Frank and Elaine

In our last call Frank said-he was considering wiring funds to SPSK for the Johns Auto transaction. As you know there is no business issue standing in the way of a settlement by purchase, only contract language and minor details. I was scheduled to have a long call with Johns Auto's counsel yesterday, and planned to modify the contract this week towards the goal of a contract next week. I anticipated no real issues, and they know that. Worst case I anticipated agreeing to their prior request to change most or all expense reimbursements into release payments, terminating the short-term lease allowance and instead and allowing a shorter post-closing occupancy (30-90 days would not be unusual, but likely on similar terms of the lease- that is likely the issue) with no work to occur until the tenant vacated. (I await the consultant summary of work that may be desired if the closing occurs with a 1 year occupancy thereafter). I suspect the real issue will be when to close- I think they will propose sometime after contract but between 5/1 and 9/1 2022. That will delay Elaine's plans for work. But it is possible they will rethink because I will beef up the post-contract risk allocation to them (in case they have a fire or discharge)- That may then induce a faster closing if they have a place to go, which maybe he now does?

Instead I had a short call with the associate; Mr. Hooker cancelled after about 15 minutes and the associate could discuss nothing substantive. So I have no report on negotiations yet; we are trying to reschedule. I think a contract is possible in 2021 but more likely will be January 2022, if at all. Can't tell about closing yet.

If the escrow is still of interest I drafted the attached. It is based on the agreement SPSK made in 2020 with JCP&L as to the CMHA funds now still held by SPSK. That in turn was based on the prior agreement governing the City funds for compensation in lieu of restoration, also still not disbursed. Jim previously reviewed: none of the pro-SPSK or anti-JCP&L terms have changed to JCP&L's detriment. I have allowed JCP&L to demand funds back if there is no settlement by 1/1/2023 or closing does not occur by 1/1/2024. We could transfer from the trust any required deposit if the contract is signed. I also provide that SPSK can apply the funds at and for the closing. The restriction on your rights to unilaterally get the money back next year supports arguments that the arrangement has meaning-JCP&L gives up control of the wired money for a particular purpose and period. I believe that is your intent.

I calculated the amount you should wire as: \$557,200. This is the sum of \$355,200.00 as the Real Estate Payment/Price, \$152,000.00 for the aggregate of the anticipated Settlement Payment(s), Legal Expense Reimbursement(s), Technical Expense Reimbursement(s), and Relocation Expense Reimbursement(s), and another ten (10%) percent, or \$50,000.00 for additional adjustments and expenses incurred in connection with finalization and performance of the Settlement Agreement- we send you the excess when the dust settles. We can discuss these amounts if they cause any issues. If this is of interest we can finalize, get this signed electronically, and you can wire the Money.

Please advise.

Regards, Rich



Richard J. Conway Jr.
Partner
Schenck, Price, Smith & King, LLP
220 Park Avenue | PO Box 991 | Florham Park, NJ 07932
T: 973-540-7328 F: 973-540-7300
Email | Bio | V-card | Website

Confidentiality Notice: this message contains uncommonour unended to the use in the authorise u_{ij} , which may be provided in decordance. If you we not in addresses, try review distribution or use of the not trus of this message is provided by your and the second provided by u_{ij} and u_{ij} are u_{ij} as u_{ij} as u_{ij} and u_{ij} are u_{ij} and u_{ij}



Serving Our Clients and Community For Over 100 Years Richard J. Conway, Jr. Admitted in NJ & NY

Direct Line: 973-540-7328 Email: rjc@spsk.com

220 Park Avenue PO Box 991

Florham Park, NJ 07932 Telephone: 973-539-1000 Fax: 973-540-7300

www.spsk.com

December 31, 2020

Elaine Comings
Jersey Central Power & Light
300 Madison Ave. - Environmental - 1st Floor
PO Box 1911
Morristown, NJ 07962-1911

RE: JCP&L Newton II/John's Auto

Dear Ms. Comings:

Enclosed please find an executed Escrow Agreement in the above-noted matter..

Thank you.

Very truly yours,

Richard J. Conway, Jr.

RJC/jmh

Enc. Cc:

Frank Lawson (via email) Jim Meade (via email)

Heidi S. Minuskin, Esq. (via email)

FLORHAM PARK, NJ

ESCROW AGREEMENT (12/15/2021)

This Escrow Agreement is being made by and among SCHENCK, PRICE, SMITH & KING, LLP, having an address at Atm: Richard J. Conway, Jr., 220 Park Avenue PO Box 991, Florham Park, New Jersey 07932 (fax: (973) 540-7300); e-mail address: rjc@spsk.com; phone: (973) 540-7328 ("Escrow Agent") and JERSEY CENTRAL POWER & LIGHT COMPANY, having an address at Atm: Frank Lawson, Supervisor- Site Remediation, 300 Madison Ave, P.O. Box 1911, Morristown, New Jersey 07962 (fax: (973) 644-4165); e-mail address: flawson@firstenergycorp.com; phone: (973) 401-8309 ("JCP&L").

RECITALS

- A. In late 2021 JCP&L and JMR VENTURES ASSOCIATES, LLC ("JMR" or "Seller") and JOHN'S AUTOMOTIVE, DIAGNOSTICS AND REPAIR, INC. ("Tenant") reached conceptual settlement and agreement Seller and Tenant to enter into an AGREEMENT OF SALE AND SETTLEMENT, as amended from time to time thereafter (collectively the "Settlement Agreement") pursuant to which Seller and Tenant will allow JCP&L to purchase certain Premises (hereafter defined), achieving access for, and allowing use of a deed notice for, remediation on Seller and Tenants' Premises, being at and about the site of a former manufactured gas plant (the "MGP Site") sometimes referred to as the Newton Coal Gas II site, Department of Environmental Protection ("DEP") Case PI Number G000005460 (the "MGP Case").
- B. Under the Settlement Agreement, subject to its terms and conditions, JCP&L is obligated to purchase from Seller the real estate identified therein, being an approximately 0.41 acre property located at 21 East Clinton Street, a/k/a Tax Map Block 9.02, Lot 4, in the City of Newton, County of Sussex, State of New Jersey (the "Premises"), allowing Tenant to use and vacate the Property as set forth therein, including if agreed, under a short term lease or use and occupancy agreement, pay Seller and Tenant for releases of liability and certain expenses, all as provided in the Sale Agreement and related documents (collectively the "JCP&L Payment Obligations"). This Escrow Agreement is being made, and funds and potentially other property deposited, by JCP&L with Escrow Agent hereunder, so as to ensure and confirm, if and as JCP&L elects to Seller and Tenant and its or their Affiliates, the availability of those funds and other property for the JCP&L Payment Obligations.
- C. The current draft of the Settlement Agreement provides for JCP&L's Payment Obligations to be a minimum of \$507,200.00 (being the sum of \$355,200.00 as the Real Estate Payment, and the sum of \$152,000.00 for the aggregate of the anticipated Settlement Payment(s), Legal Expense Reimbursement(s), Technical Expense Reimbursement(s), and Relocation Expense Reimbursement(s), all if and as provided therein). Additional adjustments and expenses incurred in connection with finalization and performance of the Settlement Agreement may increase the aggregate amounts to be paid by JCP&L by approximately another ten (10%) percent, or \$50,000.00.
- D. Escrow Agent presently serves as counsel to JCP&L and JCP&L has asked, and Escrow Agent has agreed, that Escrow Agent act for the benefit of Seller and Tenant and JCP&L pursuant to all of the terms and conditions of this Escrow Agreement.
- E. JCP&L desires to deposit the Property (hereafter defined) so as to induce Seller and Tenant to more timely enter into the Settlement Agreement and otherwise to fund the finalization and performance of the Settlement Agreement. in furtherance of the remediation at and about the MGP Site in the MGP Case consistent with DEP requirements.

THEREFORE, for the purposes set forth above and in consideration of the recitals, which hereby are agreed to be part of this Agreement, and mutual promises herein contained, the receipt and sufficiency of which are hereby acknowledged, Escrow Agent and JCP&L agree as follows:

1. Appointment.

- 1.1 Escrow Agent. JCP&L designates and appoints Escrow Agent to serve in accordance with the terms and conditions of this Escrow Agreement. Escrow Agent hereby accepts such designation and appointment.
- 1.2 Property. The term "Property" shall be defined to be the funds, in the minimum amount of \$557,200.00, established and deposited with Escrow Agent, before or after the making of this Escrow Agreement, for use for the JCP&L Payment Obligations or other purposes hereafter designated by JCP&L consistent with this Escrow Agreement, and, if delivered after the making of this Escrow Agreement then acknowledged by Escrow Agent in writing to be subject to this Escrow Agreement. All funds so delivered and acknowledged shall be held in escrow in an account or with an institution consistent with this Escrow Agreement, and together with interest or earnings thereon, if any, shall be held until delivered by Escrow Agent in accordance with the terms of this Escrow Agreement. The Property may also

include any other property (such as documents) similarly delivered into Escrow Agent's possession and acknowledged by Escrow Agent as subject hereto. JCP&L shall bear all income tax consequences associated with all interest and earnings paid or accruing on the Property: JCP&L hereby advises Escrow Agent that its federal tax identification number is 21-0485010. JCP&L promptly shall deliver to Escrow Agent such tax forms as Escrow Agent reasonably deems necessary or advisable for and by reason of the Property and this Escrow Agreement.

2. Delivery of Property.

2.1 Release of Property.

- (a) Periodically funds from the Property may be disbursed, in whole or in part, either (i) to pay for then past or future JCP&L Payment Obligations (including at or for Closing under the Settlement Agreement), including adjustments made pursuant to the Settlement Agreement and including in advance for estimated costs, without obligation of Escrow Agent to review or determine the reasonableness of, or support for, the payments, expenses or estimates for same, or (ii) JCP&L Payment Obligations to compromise, settle, or otherwise satisfy or resolve claims, actions or measures for or by reason of the Settlement Agreement, deed notice or JCP&L Payment Obligations, or (iii) to otherwise pay for, reimburse, fund or be used for services, expenses, provided, incurred, or used for other purposes associated with the Settlement Agreement and other documents and events contemplated by the Settlement Agreement, as hereafter designated by JCP&L consistent with this Escrow Agreement. The procedure established in Section 2.1(c) shall apply to any request for every release or payment by the Escrow Agent of any of the Property held subject to this Section 2.1(a).
- (b) (i) Upon and after JCP&L determination that it has satisfied its then outstanding obligations for JCP&L Payment Obligations, or otherwise does not then need to retain some, any or all Property or funds with Escrow Agent in escrow under this Escrow Agreement, including without limitation (x) the failure of Seller and Tenant to enter into the Settlement Agreement in form and substance satisfactory to JCP&L on or before January 1, 2023 or (y) the failure of the Closing under the Settlement Agreement to have occurred on or before January 1, 2024 then JCP&L shall have the right to demand the disbursement and return to it or its Affiliates of any then remaining Property or funds in the accounts of Escrow Agent. The procedure established in Section 2.1(c) shall apply to any request for a release or payment by the Escrow Agent of any of the Property held subject to this Section 2.1(b).
- (ii) Upon and after Escrow Agent's determination that JCP&L has satisfied its then outstanding obligations for JCP&L Payment Obligations, including without limitation by reason of the occurrence of the Closing for JCP&L's purchase of the Premises and the vacation of the Premises by Tenant, then Escrow Agent shall have the right to demand the disbursement and return to JCP&L or its Affiliates of any then remaining Property or funds in the accounts of Escrow Agent. The procedure established in Section 2.1(c) shall apply to any request for a release or payment by the Escrow Agent of any of the Property held subject to this Section 2.1(b).
- (c) (i) Upon and after the occurrence of such event or circumstance consistent with any or all of Section 2.1(a) or 2.1(b), JCP&L or Escrow Agent may make written demand upon the other for the release of the Property (including funds) or a portion thereof, if previously deposited with the Escrow Agent, to JCP&L, Seller and Tenant or any of its or their Affiliates, as specified in such demand. At JCP&L or Escrow Agent's determination to do so, either JCP&L or Escrow Agent may promptly so notify Seller and Tenant in a manner permitted by the Settlement Agreement, as then drafted or signed, but all are without obligation to do so.
- If the Escrow Agent itself has and receives no objection from JCP&L, and, if notice has been given to Seller and Tenant Escrow Agent also does not receive written objection to the demanded payment or delivery of such Property from the Seller and Tenant, within approximately ten (10) days after the later of Escrow Agent's receipt of such JCP&L demand or the transmittal of notice to Seller and Tenant, if such occurs, (or such other later date as may be provided in this Escrow Agreement), the Escrow Agent is hereby authorized to make the demanded payment or delivery. If the Escrow Agent receives written objection from JCP&L, or from the Seller and Tenant after notice made to Seller and Tenant hereunder (and not otherwise from Tenant or Seller or their Affiliates even if Seller and Tenant learns of the requested demand or transmittal, except if and as Escrow Agent may determine necessary or advisable) and within the aforesaid approximately ten (10) day period (or such later date as may be provided in this Escrow Agreement), or if for any other reason the Escrow Agent shall elect in good faith not to make such payment or delivery, the Escrow Agent shall continue to hold such Property pursuant to the terms and conditions of this Escrow Agreement until Escrow Agent receives either (x) a written authorization executed by JCP&L (and if Escrow Agent determines necessary or advisable also from Seller and Tenant) directing disposition of the Property in a manner consistent with this Escrow Agreement and reasonably acceptable to Escrow Agent, (y) such other assurances from JCP&L or Seller and Tenant or both as Escrow Agent in its reasonable discretion deems satisfactory that delivery is appropriate, or (z) a final, non-appealable judgment of a court of competent jurisdiction resolving the objection and determining the proper disposition of the Property, which judgment, if any, shall be complied with by the Escrow Agent forthwith. Without limitation of the

foregoing, the Escrow Agent may, but is not obligated to do so, rely on its own good faith review or determination that a demand presented to it is improper or unsupported or inconsistent with this Escrow Agreement or otherwise deficient and determine not to make the demanded payment or delivery, advising the parties of the determination and a basis for possible cure of issue(s) or deficiency(ies), if any. Alternatively, it may, without obligation to do so, suspend its payment or delivery and request additional proofs, certifications and/or clarifications, consistent with this Agreement from either or both JCP&L or Seller and Tenant, or any of its or their Affiliates, and its obligations to perform shall not recommence until ten (10) days after the response to the request from the parties. Finally, any way of clarification, if Escrow Agent determines in good faith, but without obligation to do so, that any Seller and Tenant objection is made prior to execution, or after termination, of the Settlement Agreement, or is otherwise improper, then Escrow Agent may make the JCP&L requested payment or delivery when and as it determines appropriate in its sole discretion. Notwithstanding the foregoing notice provisions and periods, in the event of the occurrence of the Closing under the Settlement Agreement, Escrow Agent may unilaterally apply the Property at and for that Closing for the benefit of JCP&L, Seller and Tenant if and as consistent therewith.

- (d) Except only if and to the extent otherwise expressly provided to the contrary in this Escrow Agreement, JCP&L shall have the sole power and authority under this Escrow Agreement to designate or determine the purposes for which JCP&L may hereafter elect to use the Property.
- Conflicting Directions. In the event that the Escrow Agent receives conflicting directions from JCP&L or any of its Affiliates, perhaps inter se or on the one hand, and Seller and Tenant or any of its Affiliates, perhaps inter se or on the other hand, (x) JCP&L's own instructions always being deemed to govern, control and suffice over any of its Affiliate's in the event of silence or conflict, even when the consent or approval of others is seemingly or expressly otherwise specified or required and (y) Seller and Tenant's own instructions always being deemed to govern, control and suffice over any of its Affiliate's in the event of silence or conflict, even when the consent or approval of others is seemingly or expressly otherwise specified or required), and (z) JCP&L's instructions always being deemed to govern, control and suffice over any of Seller and Tenant or its Affiliate's in the event of silence or conflict, even when the consent or approval of others is seemingly or expressly otherwise specified or required, all of (x) through (z) with respect to the disposition of the Property and always except as Escrow Agent may determine otherwise in good faith, without obligation to do so. In such event if Escrow Agent is unable to resolve such conflicting instructions, or otherwise if and as it elects, except as expressly provided in this Escrow Agreement to the contrary, the Escrow Agent may continue to hold same until such time as the Escrow Agent receives (a) joint written instructions properly executed by them both; or (b) such other assurances from JCP&L or Seller and Tenant or both, if and as Escrow Agent in its reasonable discretion deems satisfactory, or (c) a final, non-appealable order or judgment of a court of competent jurisdiction instructing Escrow Agent as to the delivery of the Property; or (d) confirmation of its deposit of the then disputed Property with a court of competent jurisdiction for protection of the Property or resolution of the conflict; or (e) authorization to act in accordance with any other express provision of this Escrow Agreement, including Section 2.1(b) or (d). By way of clarification, Escrow Agent may rely on JCP&L's sole determination as to whether or not any of the Property should be delivered for JCP&L's Payment Obligations or other purposes without further review or assessment of the validity or correctness of JCP&L determinations or instructions.
- 3. Fees and Expenses. Fees and expenses incurred by reason of this Escrow Agreement and handling of the Property, including by reason of any claims or disputes concerning same, and including those of Escrow Agent hereafter billed for its services by Escrow Agent to JCP&L in the ordinary course, shall be borne by JCP&L. Without limitation, JCP&L shall pay to Escrow Agent all reasonable disbursements of Escrow Agent, including reasonable attorneys' fees and expenses incurred by Escrow Agent in connection with any litigation or dispute of any nature arising under this Escrow Agreement. Exhaustion of the funds as part of the Property shall not excuse JCP&L of its obligations under this Escrow Agreement or the Settlement Agreement.

4. Rights and Responsibilities of Escrow Agent.

- 4.1 Conditional Acceptance. The acceptance by Escrow Agent of its duties under this Escrow Agreement is expressly subject to its terms and conditions, which shall govern and control with respect to Escrow Agent's rights, duties, liabilities and immunities, as well as to its actual receipt and collection of the Property subject to this Escrow Agreement.
- 4.2 Other Agreements. Except for this Escrow Agreement, Escrow Agent shall be under no duties or responsibilities to enforce any of the terms or conditions of any agreement between or among any or all of the parties hereto. Escrow Agent shall not be responsible for the validity or sufficiency of any representations or warranties made, or obligations assumed by, any other party to this Escrow Agreement, the Settlement Agreement, deed notice or any other agreement.
- 4.3 Value of Property. Escrow Agent shall not be responsible for the (i) validity, sufficiency or authenticity of any of the funds within the Property or other Property; or (ii) the value (present or future), terms, conditions,

collectibility or enforceability of any of same. Escrow Agent shall have fulfilled its duty with regards to the safeguarding of the Property which consists of funds, cash, money or equivalent if it deposits such funds in an account or the like, interest bearing or not, with any bank or other institution which is authorized to hold Attorney Escrow or Trust Accounts in New Jersey, or other institution permissible for holding the Property subject hereto, without concern for the financial health of such institution, providing that the account is generally insured by the FDIC or equivalent, if and to the extent then provided by law for same, and without concern for the amount or rate of interest paid by such depositary on such account, or the limitations of such insurance, if made in accordance with the terms governing such account.

- 4.4 Notices to Escrow Agent. Escrow Agent shall be under no duty or responsibility to make any inquiry or investigation as to the accuracy or adequacy, and shall be entitled to assume conclusively, the correctness and completeness, of any and all information given in any certificate, statement or other paper received by Escrow Agent under this Escrow Agenement. Escrow Agent shall be protected in acting upon any notice, request, certificate, approval, statement, consent or other paper reasonably believed by Escrow Agent to be genuine and to have been signed by the proper party or parties.
- 4.5 Receipt of Property. Nothing contained in this Escrow Agreement shall be deemed to obligate Escrow Agent to deliver any items of the Property, unless first actually received by Escrow Agent pursuant to this Escrow Agreement.
- 4.6 Non-Liability. Escrow Agent shall not be liable for any error of judgment, or for any act done or step taken or omitted by it in good faith, or for any mistake of fact or law, or for anything which it may do or refrain from doing in connection herewith, excepting only its own gross negligence or intentional and deliberate misconduct.
- 4.7 Advice of Counsel. Escrow Agent may consult with and obtain advice from counsel of its own choice, including attorneys of its own firm in the event of any bona fide question as to any of the provisions hereof, or its duties hereunder. The advice and opinion of such counsel shall be deemed to be full and complete authorization to the Escrow Agent to act in accordance therewith. Escrow Agent shall incur no liability whatsoever and shall be fully protected when acting in good faith in accordance with the opinion and advice of such counsel. JCP&L shall be liable hereunder and under Paragraphs 3 & 5.1 for all costs and fees incurred by Escrow Agent, or billed to JCP&L, for such counsel, actions taken in reliance thereon, and any proceeding resulting therefrom.
- 4.8 Escrow Agent's Uncertainty. (a) In the event of any disagreement between any or all of the parties to this Escrow Agreement, resulting in adverse claims or demands being made in connection with the subject matter of this Escrow Agreement or the Property, or in the event that Escrow Agent in good faith is in doubt as to what action it should take hereunder, then Escrow Agent may, at its option, refuse to comply with any claims or demands upon it, or refuse to take any other action hereunder, so long as any such disagreement, claim, demand or uncertainty continues or exists, and in any such event Escrow Agent shall not be or become liable in any way to any person for its failure to act.
- (b) Escrow Agent shall be entitled to continue to so refrain from acting until (i) the doubts or disputes shall have been fully and finally adjudicated by a court of competent jurisdiction or (ii) all such doubts and disputes shall have been adjusted and resolved by written agreement among interested persons and Escrow Agent shall have been so notified in writing signed by all such persons or (iii) Escrow Agent receives such other assurances from JCP&L or Seller and Tenant or both as Escrow Agent in its reasonable discretion deems satisfactory. Escrow Agent is expressly authorized to seek to obtain any of the foregoing at any time.

5. Indemnity.

5.1 Indemnity. To the maximum extent permitted by applicable law, JCP&L agrees to defend, indemnify and hold Escrow Agent harmless from and against any and all claims, actions, judgments, losses, liabilities, obligations, damages, charges, costs, and expenses of any nature whatsoever, including without limitation attorneys' fees and expenses incurred by Escrow Agent (including such fees and expenses incurred in any litigation by or against any of the parties to this Escrow Agreement under this Section 5.1), arising directly or indirectly from, out of or incident to this Escrow Agreement or the Property excepting only those accruing as a result of Escrow Agent's own gross negligence or intentional and deliberate misconduct.

6. Amendment; Resignation and Termination.

- 6.1 Amendment. This Escrow Agreement may be amended or terminated only by a written agreement signed by JCP&L and Escrow Agent, expressly referring to this Escrow Agreement. By way of clarification, the consent or agreement of Seller and Tenant and any of its Affiliates is not required.
- 6.2 Resignation. Escrow Agent may at any time resign hereunder by giving at least five (5) days prior written notice thereof to JCP&L and, if Escrow Agent elects, Seller and Tenant. Upon the effective date of such resignation, the Property then held by Escrow Agent hereunder shall be delivered to a joint designee of all of the other parties hereto (being JCP&L alone). Upon arranging for such delivery, all obligations of Escrow Agent hereunder shall

cease and terminate. If no such person shall have been designated by the date validly set hereunder for Escrow Agent's resignation, nevertheless, all obligations of Escrow Agent hereunder shall cease and terminate. Escrow Agent's sole responsibility thereafter shall be to arrange for the safekeeping of the Property then held by it and to deliver same to: (i) a person designated by all the parties hereto; or (ii) in accordance with the directions of a final order or judgment of a court of competent jurisdiction. By way of clarification, in the absence of Richard J. Conway, Jr., whether by reason of death, disability of full retirement, Escrow Agent may receive notices and exercise its rights hereunder through the actions or decisions of Heidi S. Minuskin or any of its then other partners.

- 6.3 Time Limit. JCP&L has no duty to use any or all of the Property at any time, or within any specific period. Unless otherwise terminated in accordance with Sections 6.1 or 6.2, the obligations and liabilities of Escrow Agent with respect to the Property under Escrow Agreement shall terminate upon the proper delivery hereunder by Escrow Agent of all of the Property.
- **6.4** Survival. Articles 3 and 5 of this Escrow Agreement shall survive the termination of this Escrow Agreement and the delivery of the Property.
- Escrow Agent as Counsel. Escrow Agent has acted and will continue to act as legal counsel to JCP&L and Affiliates in connection with the Settlement Agreement, deed notice, this Escrow Agreement, and the transactions contemplated thereby. Hereafter if and as JCP&L may request and Escrow Agent agrees, is merely acting as a stakeholder under this Escrow Agreement and is, therefore, hereby authorized to continue acting as counsel for JCP&L and its Affiliates including, without limitation, with regard to any dispute or controversy arising out of this Escrow Agreement. the Settlement Agreement, deed notice, the transactions contemplated thereby, the Property or any other matter. It is a condition of the claim or exercise of any rights under this Escrow Agreement that Seller and Tenant and its Affiliates thereby waive any claim or right to disqualify Escrow Agent as Escrow Agent or as JCP&L's or its Affiliates' counsel, and any claim for damages, by reason of Escrow Agent's dual roles and actions, inactions, or decisions made or taken by Escrow Agent in good faith in accordance with this Escrow Agreement. It is a condition of the claim or exercise of any rights under this Escrow Agreement that JCP&L and its Affiliates hereby waive any and every claim or right against Escrow Agent by reason of any duties, obligations or conflicts arising by reason of Escrow Agent's dual roles and actions, inactions, or decisions made or taken by Escrow Agent in good faith in accordance with this Escrow Agreement. JCP&L acknowledges that it has been given the opportunity to consult with counsel of its choice, other than the attorneys of Escrow Agent, as to the making of this Escrow Agreement and the terms and conditions hereunder, without limitation including in-house counsel.

8. Miscellaneous.

- 8.1 Third Party Beneficiaries. Nothing in this Escrow Agreement is intended to or shall confer upon anyone, other than the parties hereto, expressly including that this Escrow Agreement confers no rights on or to Seller and Tenant and its Affiliates, who are not parties hereto, and does not confer or result in any legal or equitable right, remedy or claim of any third-party against any of the parties hereto.
- 8.2 Notices. Any notice required to be given hereunder shall be given in writing by a party or its attorney, and may be served either by facsimile or e-mail (in each case with receipt acknowledged and either with hard copy sent by regular mail or with the burden upon the sender to prove actual delivery or receipt), in person, by receipted overnight delivery or by depositing such notice in the United States mail by registered or certified mail, (return receipt requested), with postage prepaid, properly addressed and directed to the party to receive the same at any address specified herein or in the last then draft of the Settlement Agreement (or at such other address as may hereafter be substituted by notice in writing given in accordance with the terms hereof), effective as provided therein.
- 8.3 Counterparts. This Escrow Agreement may be executed and delivered in counterparts, including electronic counterparts and images, each of which shall be deemed to be an original, but all of which counterparts collectively shall constitute one and the same instrument.
- 8.4 Governing Law. This Escrow Agreement shall be governed by and construed in accordance with the laws of the State of New Jersey. Each of the parties hereto consents to the exclusive jurisdiction of the Superior Court of the State of New Jersey and the United States District Court for the District of New Jersey over all matters arising out of this Agreement.
- 8.5 Assignment. This Escrow Agreement shall inure to the benefit of and be binding upon the parties hereto and their respective heirs, distributees, legal representatives, successors, and permitted assigns. This Escrow Agreement, and the rights and obligations herein created, may not be delegated or assigned, except as expressly permitted in this Escrow Agreement, without the express permission in writing of all the other parties hereto, including Escrow Agent.

9. <u>Definitions</u>. UNLESS OTHERWISE INDICATED HEREIN, CAPITALIZED TERMS USED IN THIS ESCROW AGREEMENT WITHOUT DEFINITION SHALL HAVE THE RESPECTIVE MEANINGS SET FORTH IN THE LAST DRAFT OF THE SETTLEMENT AGREEMENT.

NOTE: Balance of Page Intentionally Blank; Execution Page follows.

IN WITNESS WHEREOF, the parties have executed this Agreement on the date first written above.

Witness or Attest:	JERSEY CENTRAL POWER & LIGHT COMPANY
Maney C Louison Title: O C Lawson	By: January Date: 12-29 of Name: Frank Lawson Title: Supervisor- Site Remediation
Witness or Attest:	SCHENCK, PRICE, SMITH & KING, LLP
Name: Title:	By: <u>Date:</u> Name: Richard J. Conway, Jr. Title: Partner and Attorney-at-law

IN WITNESS WHEREOF, the parties have executed this Agreement on the date first written above.

Witness or Attest:	JERSEY CENTRAL POWER & LIGHT COMPANY
Name: Title:	By: Date: Name: Frank Lawson Title: Supervisor- Site Remediation
Witness or Attest:	SCHENCK, PRICE, SMITH & KING, LLP
Name: Title: Notary Phan () NTV ICROEY MY COMMISSION EXPIRES NOVEMBER 5, 2022	By: Date: 12/30/2021 Name: Richard J. Conway, Jr. Title: Partner and Attorney-at-law